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Reg. No. : .....................................  Code No. 5061 

Name : ........................................  

  Time  :   2½  Hours 
  Cool-off time : 15 Minutes 

 

Part-I 

ENGLISH 
Maximum : 80 Scores 

(For the Hearing Impaired – Special Schools) 
 

 
(Questions : 1 – 4)  Read the following lines from, ‘This is going to Hurt Just a Little Bit’ by 

Ogden Nash and answer the questions given below. 

 Because some tortures are physical and some are mental, 

 But the one that is both is dental. 

 It is hard to be self possessed 

 With your jaw digging into your chest. 

 

1. Who speaks these lines ? (Score : 1) 

2. Where is he sitting ?  (Score : 1) 

3. Which are the usual forms of torture ? (Score : 1) 

4. What is it peculiar about dental ? (Score : 1) 

General Instructions to Candidates : 
• There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2½ hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the ‘cool-off time’. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the same 

question itself. 
• Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 
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5. There is severe water scarcity in your school during summer. You have seen students 

wasting a lot of water while washing their hands and tiffin boxes. You thought of 

advising them about the need to use water carefully. Write two advices to be given to 

them.     (Scores : 2)  

 

6. In ‘Horegallu’, Sudha Murthy tells about a horegallu and how it influenced the life of 

the villagers. Suppose the Panchayath decides to remove the horegallu as part of 

widening the road. Hearing this decision the villagers gather near the horegallu and an 

elder member speaks the following words. 

 Choose the appropriate adjective / adjective clause and fill in the blanks : 

 Good afternoon, folks. The Panchayath is going to remove our horegallu. This 

horegallu (i) _______ (looks good/which can bear weight/carrying weight) is part of 

our daily life. Without it our life will be hard as (ii) _______ (lead/burden/task). 

Masterji spends the evening with passerby who (iii) _______ (used to share their 

worries with him/used to listen to our worries/used to help us find solution). He says 

that the horegallu is the most (iv) _______ (silly/trivial/essential) part of our village.   

      (Scores : 4) 

 

7. Women should choose between being a candle or a mirror, and work for their 

emancipation as well as for the generations to come. In ‘Flights of Freedom’, you have 

come across several women characters, both real and imaginary. Attempt a write up of 

any one of these women. You may use expressions like, kind, sympathetic, loving, 

patient, determined, dominating etc.  (Scores : 4) 
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8. Imagine a situation where the parcel booked in the post office by the Foreigner in the 

play ‘Post Early for Christmas’ contained a real time-bomb, as everybody feared. The 

police arrested him on a complaint filed by the Assistant when he returned to take his 

hat. A newspaper reported this incident in detail the next day. What would be the 

newspaper report ? Write the newspaper report assuming you are the reporter. (Scores : 6) 

 

9. The NSS unit of your school is planning to begin a continuing programme to educate 

the poor children in nearby slum area. As the student co-ordinator of the unit you 

thought of seeking the help and advice of Shaheen Mistri in conducting the programme. 

Prepare a letter to her enquiring about the various activities involved in this regard as 

well as seeking her support.  (Scores : 5) 

 

10. ‘Bong! Bong! Bong! “Ladies and Gentlemen, the winner and representative to the 

Golden Gloves Tournament of Champions is ………” The announcer turned to point to 

the winner and found himself alone. Arm in arm, the champions had already left the 

ring.’ This is how the story of the Amigo Brothers ends. Imagine that you witnessed the 

contest between the two boxers. Prepare a blog entry on the final outcome of the match 

that really shocked the spectators. The blog should be prepared highlighting how love 

and friendship won over distrust and hatred. (Scores : 4) 

 

11. Here is the first two sentences taken from a write up on Irfan Alam. Fill in the blanks 

choosing the appropriate phrasal verbs from the brackets and complete the sentences. 

 Irfan was _______ (brought out/brought up/brought in) in a village in Bihar. At a very 

small age he entered into stock trading business and _______ (made in/made out/made 

up) for his father’s loss in the stock market. (Scores : 2) 



5061 4  

(Questions : 12 – 15) : Read the following excerpt from the play, ‘The Hour of Truth’ and 

answer the questions that follow : 

 ‘Look here. Governor, you’ve said nothing to the papers. If you say nothing tomorrow, 

what does it amount to but sticking to your friend ? It’s the square thing to do – he’d do 

as much for you.’ 

 

12. Who says these words ?  (Score : 1) 

 

13. Who is being referred to as ‘Governor’ ? (Score : 1)      

 

14. Who is the friend referred to in this passage ? (Score : 1) 

 

15. What does the expression ‘square thing to do’ mean ? (Scores : 2) 

 

16. You have been very much impressed by the noble, intimate friendship between Antonio 

and Felix. Their friendship has deeply affected you. You too keep such intimacy with 

one or two friends in your life. Describe your best friend in a short paragraph. (Scores : 4) 

 

17. You are greatly inspired by the activities of Wangari Maathai, the founder of the Green 

Belt Movement and you decide to launch a similar programme in your school to ensure 

a green campus. You would like to inform Maathai about this new venture and invite 

her to visit your school. Write an e-mail to her. (Scores : 4) 
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18. A notice drafted by the Secretary of the School Film Club is given below. There are 
few errors in it. Identify them and rewrite the notice. 

 Film Show 

 THE KID 

 It have been decided to show the film ‘The Kid’ by Charlie Chaplin under the auspices 
of the School Film Club. The film portray the heart breaking yet funny tale of a 
orphaned child in the hands of a tramp, who eventually finds his way back home. It 
would be a delightful experience to all. All are requested to be present at the 
Auditorium at 2.00 pm on 11th January, 2017. 

 Secretary,  

 Film Club    (Scores : 4)  
 

19. A seminar was conducted in your school on the topic, ‘Corruption in Public Life’ as per 
the following programme chart. Read it carefully and prepare a report of the seminar.  

ADARSH PUBLIC SCHOOL  

KOCHI 

Venue : Seminar Hall 

Time : 10. a.m.    Date : 14/12/2016 

Programme : 

Prayer     : School Choir 

Welcome Speech  : Smt. Khadeeja Rahman (Principal) 

Presidential Address  : Sri. Rajendra Babu (Corporation Mayor) 

Inaugural Address  : Justice Somasekhara Menon (Retired High Court Judge) 

Keynote Address  : Dr. Malini Ram (Professor, Centre for Legal Studies) 

Felicitation    : Sri. Richard Paul (PTA President) 

     : Kum. Poornima Das (School Leader) 

Vote of Thanks   : Smt. Elsa Mary George (Staff Secretary) 

National Anthem   : School Choir 

All are Welcome 
 

      (Scores : 4) 



5061 6  

20. ‘Son, we’ve stopped working on all the rice. 

 It was quite inconvenient. The farmer gained nothing- 

 only fools turn to rice-farming for gain. 

 What change of attitude and life style in the farmer is explained through these lines ? 

Write a short paragraph.   (Scores : 4) 

 

21. Read the following advertisement in The Hindu dated 20/02/2017 inviting applications 

for filling up the posts of Accountants/Auditors. 

 HURRY 

 Here is the best chance for young resourceful talents to be part of a growing 

management company. 

 * Age not above 26 

 * Graduation or Post graduation in Commerce 

 * Proficiency in English 

 * Good Computer Skills 

 * Aptitude for innovative accounting ideas 

 Apply within 15 days 

 • Succeed with an every successful team 

 • Global Management Systems 

 • Bangalore 

 You wish to apply for the post. Prepare an application and a resume for the             

purpose.     (Scores : 8) 
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22. Read the following from a newspaper article : 

 “See the terrifying degree to which drug abuse has become a part of everyday life for 

hundreds of children today. Many start as young as 11 and by the age of 16 nearly one 

in ten boys is regularly taking drugs.” Such reports give us an alarming picture of the 

spreading menace of drug abuse among the younger generation. Prepare a persuasive 

speech to be delivered in your school on the’ Menace of Drug Abuse’ on Anti-drug 

day. 

OR 

 Write a short essay on the issue to be published in the school magazine. (Scores : 6) 

 

23. Here is a conversation between the teacher and the boy in the story ‘Crime and 

Punishment’.  

 Boy : Tell me a story. 

 Teacher : You haven’t done a sum. It is eight-thirty. 

 Boy : I don’t care for sums. Tell me a story. 

 Teacher : No ………… 

 Complete the report of the conversation supplying the missing words. 

 The boy asked the teacher to tell _______ a story. The teacher said that he _______ 

done a sum and it was eight thirty. He said that he did not care for sums and he 

demanded the same thing. The teacher answered negatively.  (Scores : 2)  
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24. Read the following poem : 

Mother to Son 

Langston Hughes 
 

Well son, I’ll tell you: 

Life for me ain’t been to so crystal stair. 

It’s had tacks on it, 

And splinters, 

And boards torn up, 

And places with no carpet on the floor- 

Bare. 

But all the time 

I’se been a – climbing on, 

And reaching landings, 

And turning corners, 

And somethings going in the dark 

Where there ain’t been no light. 

So, boy, don’t you set down on the steps. 

‘cause you finds it’s kinder hard. 

Don’t you fall now- 

For I’se still going, honey, 

I’se still climbing,  

And life for me ain’t been so crystal stair. 

  

(Hints : tacks = small nail with flat head, splinter = sharp pieces, ain’t = hasn’t) 

Now compare the poem with ‘Any Woman’ by Katharine Tynan. 

(Hints : theme, message, poetic devices, etc.)  (Scores : 8) 

__________ 
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Reg. No. : .....................................  Code No. 5062 

Name : ........................................   
  Time : 2½ Hours 
  Cool-off time : 15 Minutes 
 

 
Part – II 

£§¤¯¨¹  
MALAYALAM 

Maximum : 80 Scores 
(½«ª— µµª‰§»£²áªÜ¾¸) 

 
 

 ½¡¯¾Ý°Þ œ°Ò ̧«¥°¤²Ì¥¹ µ˜¥µÇ“²µÌ©²˜²‰. (ˆ¥² Ÿ̧¶‰¯Ü ª±˜¹) 
 

1. ‘µµ¢£°’ †Ò¦°¤µÔ“²Ò˜̧ ‚¥¯—̧ ? 
 («‰²Ð¨, ¶‰«°œ°, š£¤Ð°, ã¯Æ¯§°) 
 

2. ‘½‰°¾Ý°µú µµšª¹’ †Ò² ª°¨°¾²Ò˜ ̧‚µ¥¤¯— ̧? 
 (‰ã°Þ¶šª,̧ ŸÅ°Ï µ“Ê²Þ¾Ü, †¹. †Ÿ.̧ ¶›¯—°, Ÿ·¥ª ̧‹¯¹‹²§°) 
 

3. ‰“§²¹ ‰Ô§²¹ ªáÄ¨²¹ ›¯¥¯¨£²á ð§¹ ‡˜̧ ? 
 (‰¯“×̧°µœ, £¯œ¯ã¯Ÿ,̧ £¯½•°•,̧ §¯Ý°Ï ¿¶£¥°¾) 
 

4. ‘œ´Ì¹’ †Ò ¶œ¯ªÞ ¥ü°Å˜¯¥¸ ? 
 (†¹. £²‰²ÑÏ, ‚œÑ,̧ †¹.“°., ¶Ÿ˜²) 
 

5. ¤£²¶œ¯½˜°¶À½˜¹ ã—°‰©°Ô°Å˜̧ ‚¥¸ ?  
 («Ã¥¯ü¯¥»Ü, ‹²§¯¥°¤¯ £®¯¦¯—°, ‰´¬¸—µµš¼ª¯¤œÏ, ¿Ÿ°˜£²œ°) 
      (Ÿ¶̧‰¯ÜŸ̧ : 5 × 1 = 5) 

Second Year – March 2017 

œ°Ü¶Í«Äà : 

• œ°ÜÍ°û ­£¤Ì°œ ̧ ã²¦µ£ 15 £°œ°Ý ̧ ‘‰³à ˆ¯ý ̧ µµ“¹’ „Ê¯¤°¥°¾²¹.  ƒ· 
­£¤Ì ̧ ¶ü¯š»Äà¾ ̧ „Ì¥¹ †©²˜¯¶œ¯, £Ý²¨¨ª¥²£¯¤° ‚«¤ ª°œ°£¤¹ 
œ“Ì¯¶œ¯ ã¯“°ß. 

• „Ì¥Äà †©²˜²Ò˜°œ ̧£²Ø¸ ¶ü¯š»Äà ½«Î¯ã³Üâ¹ ª¯¤°¾—¹. 

• †ß¯ ¶ü¯š»Äà¾²¹ „Ì¥¹ †©²˜—¹. 

• ˆ¥² ¶ü¯š»œØÜ „Ì¥µ£©²˜¯Ï µ˜¥µÇ“²Ì² ‰©°Ç¯Þ „ã¶ü¯š»Ä¨²¹ 
¿¶˜ ¶ü¯š»œØ¥°Þ œ°Ò ̧˜µÒ µ˜¥µÇ“²¶¾Ê˜¯—.̧ 

• ¶½ã¯½‹¯£²‰à µüÛ¯œ¯‰¯Ì ‰¯Þ¾²¶§Ý¦²‰à ˆ©°µ‰¤²á ˆ¥² ƒ§‰¶̧½“¯- 
—°‰¸ „ã‰¥—ª²¹ ã¥±À¯®¯¨°Þ „ã¶¤¯‹°¾²ª¯Ï ã¯“°ß. 
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 ¶ü¥²¹ã“° ¶üÜµÌ©²˜²‰. (ˆ¥² Ÿ̧¶‰¯Ü ª±˜¹) 
 

6. ¶˜Ä   – £¯Üµ‰¼Ÿ¸ 
 

7. ‰™‰¨° Ÿ¹‹±˜¹ – ¿¦¡° £§¤¯¨¹ 
 

8. £¯×°¾Þ ¦±¤§°Ÿ¹ – µü¦°¤¯Ï µ‰. µü¦°¤¯Ï 
 

9. ý°ýÌ̧¸ †¶èÝ¸ – µµ®š¥§° 

 
10. £¯Ô°¨Ô¯È¸   – œª Ÿ¯£³®°‰ £¯›»£Äà (Ÿ¶̧‰¯ÜŸ̧ : 5 × 1 = 5) 
 
 
 ‰³ÈÌ°ÞµÔ“¯Ì˜ ̧†“²µÌ©²˜²‰. 

 
11. ¡š¥±œ¯™,̧ ¤£²¶œ¯½˜°, üö±‹•,̧ Ÿã¸̃ …¬°‰²ö¸ 
 

12. ü°Ð¯¥¯£Ï, ¡¯®²‰Ï, ¥¯×‹²¥², µ‰¯Ì²ª¯à 
 

13. £²“°¶¤Ý,̧ ã“¤—°, µ˜Û¹, ‰³“°¤¯È¹ 
 

14. ¶‰«°œ°, µµ¢£°, ª°š³¬‰Ï, œ¨Ï (Ÿ¶̧‰¯ÜŸ̧ : 4 × 1 = 4) 
 
 «¥°¶¤¯ µ˜¶Ý¯ †Ò ̧‰µÊÌ° †©²˜²‰. 
 

15. ‘£¦°¤‰²È°¤²µ“ ‰Ì¸’, ã²§°¶¾¯È°Þ µµ®š¦²µ“ ‡Ýª²¹ £°‰Å ¥üœ¤¯—.̧ 
 

16. ‹¹‹, ¤£²œ, Ÿ¥Ÿ¼˜° †Ò± œš°‰à ‰³“°¶Å¥²Ò ð§£¯—̧ ‘½˜°¶ª—± Ÿ¹‹£¹’ 
†Ò¸ ¿¦°¤µÔ“²Ò˜.̧ (Ÿ¶̧‰¯ÜŸ̧ : 2 × 1 = 2) 

 

17. ˜¯µ©µ¾¯“²Ì°¥°¾²Ò ãšÄ¨°Þ „ü°˜£¯¤ª µ˜¥µÇ“²Ì ̧ ãÈ°‰ 
ã³ÜÌ°¤¯¾²‰. 

 (˜²¦Ò ¥¹‹¶ªš°, ¢³£°«¯Ÿ½̧˜¹, ˜¯¨œ°¡Î¹, µµ®£ª˜¢³ª°Þ) 
˜œ˜² œ¯“‰¹ ŸÆ¯¥ Ÿ¯®°˜»¹  

• 

• 

• 

• 

 

(Ÿ¶̧‰¯ÜŸ̧ : 2 × 2 = 4) 
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 £³¶Ò¯ œ¯¶§¯ ª¯‰»Ì°Þ „Ì¥µ£©²˜²‰. (‡µ˜Ã°§²¹ ‚µ¦ËÌ°œ̧) 
 
18. ¶˜Ä †Ò ‰ª°˜¤²µ“ ‹²—ã¯”µ£Ð̧ ? 

 

19. ‰¯È¯¨Ï œ°§µ‰¯Ê˜ ̧‡˜̧ ¥³ãÌ°§¯—̧ ? 

 

20. ¡¯®²‰¶ª¬›¯¥° œ¨œ¯µ—Ò¸ ¶‰«°œ° £œæ°§¯¾°¤µ˜Äµœ ? 

 

21. ŸÅ°Ï µ“Ê²Þ¾µ¦ÔÝ° ¢¯¥» ¿’×̧§° µ“Ê²Þ¾¦²µ“ ¿¢°½ã¯¤µ£Ð¯¤°¥²Ò² ? 

 

22. ¶×¯ªœ²¹ ¶“¯¶È¯¤̧¾²¹ £¯˜¯ã°˜¯¾à œ§̧‰°¤ ª¯‹̧š¯œµ£Ð¯¤°¥²Ò² ?   

 

23. ‰Ø»³È¦°§³µ“ ª¥²Ò Ÿ¶Ñ«Ä¨²µ“  ½ã¶˜»‰˜µ¤Ð¸ ? 

 

24. ƒ· ×ÓÌ°Þ ‚É‹·¨° ¶£Þ¾²¥ ˜¯Ä²Ò ˆ¥² ‹·¨°¤¯¤°Ì±¥¯œ²Ê¯¤ 

‰¯¥—µ£Ð ̧?   (Ÿ¶̧‰¯ÜŸ̧ : 6 × 4 = 24) 

 

 ¿¥Ô²¦Ì°Þ ‰ª°¤¯µ˜ „Ì¥µ£©²˜²‰. (‡µ˜Ã°§²¹ œ¯µ§ËÌ°œ)̧ 

 

25. “«‰²Ð¨ ªß¢¶œ¯“²¹‰³“° Ÿ¶Ð¯¬¹ ½ã¯ã°Å”µ˜¶Ô¯©¯—̧ ?  
 

26. Ÿ˜»Ì°Þ µü¦²Ô¾¯¥µœ µ‰¯§¤¾̧² µ‰¯“²Ì˜¯¥ ̧? ‰¯¥—µ£Ð¸ ? 
 

27. µµ®š¥§°¤²µ“ £œæ ̧¶ªšœ°¾¯œ²Ê¯¤ ‰¯¥—µ£Ð ̧? 
 

28. ˜µÒ ‚¶¥¯ ª°é°¤¯¾¯Ï ½«£°¾²Ò˜¯¤° ½«±›¥œ² ¶˜¯Ò°¤µ˜¶Ô¯à ? 

 

29. “‰²¦ªß¯µ˜ œ£²µ¾¯¥²ªŸ¸̃ ² 

 ã¦ª¯œ°ß ×œ°¶ÅÔ°µÒ” – ‚Ü¾ ̧? †Ð²µ‰¯Ê¸ ? ‚«¤¹ ª°«š£¯¾²‰. 

       (Ÿ¶̧‰¯ÜŸ̧ : 4 × 5 = 20) 
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 ˆÒ¥Ô²¦Ì°Þ ‰ª°¤¯µ˜ „Ì¥µ£©²˜²‰. 

 

30. (a) †©²Ìíµú Ÿ½̧˜± ŸÃ§¸ÔÌ°µú Ÿ£‰¯§°‰ ½ãŸø°, ‘‰Ë¯“° 

‰¯É¶£¯¨ª²¹’ †Ò ã¯”¢¯‹Ì°µ§ «‰²Ð¨µ¤ £²Ïœ°ÜÌ° 
ã¥°¶«¯›°¾²‰. 

¿µßÃ°Þ 

 (b) ‘¿ù°ªÜËµú ‰¯§²‰à’ †Ò œ¯“‰Ì°Þ µ˜¨°¤²Ò Ÿ¯£³®°‰ 
ª°£Ü«œ˜§¹ ‰µÊÌ° ‚Ÿ¼¯šœ‰²¦°Ô¸ ˜Û¯¦¯¾²‰. 

 

31. (a) œÙ²µ“ ¥¯×»Ì°µú ¿˜°ÜÌ°‰à ‰¯Ì² Ÿ³À°¾²Ò ¢“Ó¯¥²µ“ 

˜»¯¶‹¯×¼§£¯¤ ×±ª°˜Ì°µú ˆ¥¹«¹ ‘¡š¥°¤²¹ ã¥°Ÿ¥Ä¨²¹’ †Ò            
ã¯”¢¯‹Ì°§³µ“ †Ÿ¸. µ‰. µã¯µÝ¾¯È ̧ µª¨°µÔ“²Ì²Òµ˜Äµœµ¤Ò¸ 
ª°«‰§œ¹ µüÛ²‰. 

¿µßÃ°Þ 

 (b) ¡®²×œ £¯›»£Äà œÙ²µ“ ×±ª°˜Ì°Þ µü§²Ì°µ¾¯Ê°¥°¾²Ò 

Ÿ¼¯›±œµÌÔÝ° „ãœ»Ÿ°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2 × 8 = 16) 
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General Instructions to Candidates : 

• There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the ‘cool-off time’. 
• Use the ‘cool-off time’ to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

œ°Ü¶Í«Äà : 
• œ°ÜÍ°û Ÿ£¤Ì°œ ̧ã²¦µ£ 15 £°œ°Ý̧ ‘‰³à ˆ¯ý ̧µµ“¹’ „Ê¯¤°¥°¾²¹.  ƒ· 

Ÿ£¤Ì ̧ ¶ü¯š»Äà¾ ̧ „Ì¥¹ †©²˜¯¶œ¯, £Ý²¨¨ª¥²£¯¤° 
‚«¤ª°œ°£¤¹ œ“Ì¯¶œ¯ ã¯“°ß. 

• „Ì¥Äà †©²˜²Ò˜°œ ̧£²Ø¸ ¶ü¯š»Äà ½«Î¯ã³Üâ¹ ª¯¤°¾—¹. 
• †ß¯ ¶ü¯š»Äà¾²¹ „Ì¥¹ †©²˜—¹. 
• ˆ¥² ¶ü¯š»œØÜ „Ì¥µ£©²˜¯Ï µ˜¥µÇ“²Ì² ‰©°Ç¯Þ 

„ã¶ü¯š»Ä¨²¹ ¿¶˜ ¶ü¯š»œØ¥°Þ œ°Ò¸ ˜µÒ µ˜¥µÇ“²¶¾Ê˜¯—.̧ 
• ‰—¾ ̧ ‰³È§²‰à, ü°½˜Äà, ½‹¯ý²‰à †Ò°ª „Ì¥¶ãÔ¦°Þ ˜µÒ 

„Ê¯¤°¥°¾—¹. 
• ¶ü¯š»Äà £§¤¯¨Ì°§²¹ œÞ‰°¤°È²Ê¸. 
• ‚ª«»£²á ð§Ì ̧­£ª¯‰»Äà µ‰¯“²¾—¹. 
• ¶½ã¯½‹¯£²‰à µüÛ¯œ¯‰¯Ì ‰¯Þ¾²¶§Ý¦²‰à ˆ©°µ‰¤²á ˆ¥² 

ƒ§‰¶̧½“¯—°‰¸ „ã‰¥—ª²¹ ã¥±À¯®¯¨°Þ „ã¶¤¯‹°¾²ª¯Ï ã¯“°ß. 

Reg. No. : .....................................  Code No. 5063 

Name : ........................................   
  Time : 2 Hours 
  Cool-off time : 15 Minutes 
 

Part – III 

PHYSICS 
Maximum : 60 Scores 

(For the Hearing Impaired – Special Schools) 
 

 

Second Year – March 2017 
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1. (a) Ferromagnetic property not depends on temperature. (True / False) (Score : 1) 

 (b) Diamagnetism is present in all substances. (True / False) (Score : 1) 

 (c) What is meant by declination ? (Score : 1)  

 

2. What is a Repeater in a communication system ? Mention its function. (Scores : 2) 

 

3. Fill up the blanks :  

 (a) ________ have the lowest energy and frequency. (Gama rays, Radiowaves 
Microwaves) (Score : 1) 

 (b) ________ are also called Heat waves. (Infrared rays, UV rays, X-rays) (Score : 1) 

 

4. (a) Define electromagnetic induction. (Scores : 2)   

 (b) Which of the following devices is an application of electromagnetic induction ? 

  (i) Electric power meter 

  (ii) Induction furnace 

  (iii) AC generator 

  (iv) Electric motor (Score : 1) 

 

5. (a) The following is a choice question : 

  State Gauss’s theorem. Using the theorem obtain an expression for electric field 
intensity due to the spherical shell. 

  (i) Inside the shell (r < R) 

  (ii) Outside the shell (r > R) (Scores : 5)  

OR 

 (b) What is an electric dipole ? Derive an expression for the electric field due to an 
electric dipole at a point in its equatorial plane at a distance ‘r’ from the centre.  

      (Scores : 5)  
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1. (a) µý¶¦¯£¯‹œ̧Ý°‰ ̧Ÿ¼¢¯ª¹ „·¬£̧¯ª°µœ ‚½«¤°Å°¥°¾²Ò°ß. («¥° / µ˜Ý)̧  
      (Ÿ¶̧‰¯Ü : 1) 
 (b) •¤¯£¯‹¸œÝ°Ÿ¹ †ß¯ ãš¯Ü˜¸™Ä¨°§²¹ „Ê¸. («¥° / µ˜Ý)̧ (Ÿ¶̧‰¯Ü : 1) 

 (c) •°‰ÿ°¶œ¬Ï †Ò¯µ§Ð¸ ? (Ÿ¶̧‰¯Ü : 1)   

 
2. ˆ¥² ‰Ù»³—°¶¾¬Ï Ÿ¹ª°›¯œÌ°§²á ¦°Ô±ÝÜ †Ð¯—̧ ? ¿˜°µú ˆ¥² 

„ã¶¤¯‹¹ †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
3. ã³¥°Ô°¾²‰ :  
 (a) ________ ‡Ýª²¹ ‰²¦Ç „·Üîª²¹ ‚ª´Ì°¤²£²á˜¸. 
  (‹¯£¯ ‰°¥—Äà, ¶¦•°¶¤¯ ˜¥¹‹Äà, µµ£¶½‰¯ ˜¥¹‹Äà) (Ÿ¶̧‰¯Ü : 1) 

 (b) ________ ®±Ý¸ ˜¥¹‹Äà †Ò²¹ ¿¦°¤µÔ“²Ò².  
  (ƒÏ½ý¯µ¦• ̧‰°¥—Äà, UV ‰°¥—Äà, X-‰°¥—Äà) (Ÿ¶̧‰¯Ü : 1) 

 
4. (a) ƒ§‰¶̧½“¯£¯‹œ̧Ý°‰¸ ƒÏ•ÀÏ †Ò¯µ§Ð ̧? (Ÿ¶̧‰¯ÜŸ̧ : 2)   

 (b) ˜¯µ© ã¦¤²Òª¤°Þ ‡˜̧ „ã‰¥—£¯—̧ ƒ§‰¶̧½“¯£¯‹¸œÝ°‰ ̧ƒÏ•ÀÏ 

˜˜¼¹ „ã¶¤¯‹°Å¸ ½ãªÜÌ°¾²Ò˜ ̧? 
  (i) ƒ§‰½̧“°‰¸ ãªÜ £±ÝÜ 

  (ii) ƒÏ•‰¸¬Ï ýÜ—Ÿ¸ 
  (iii) ‡.Ÿ°. ×œ¶¦ÝÜ 
  (iv) ƒ§‰½̧“°‰¸ ¶£¯¶È¯Ü (Ÿ¶̧‰¯Ü : 1) 

 
5. (a) ˜¯µ© µ‰¯“²Ì°¥°¾²Ò ¶ü¯š»Ì°œ¸ ¶ü¯¤¸Ÿ ̧„Ê ̧: 
  ¶‹¯Ÿæ ̧œ°¤£¹ ½ãŸ¸˜¯ª°¾²‰. ƒ· œ°¤£¹ „ã¶¤¯‹°Å ̧ˆ¥² Ÿµ̧ã¦°¾Þ 

µ¬Þ „Ê¯¾²Ò ƒ§‰¸½“°‰ ̧ ƒúÏŸ°Ý° ‰¯—¯œ²á Ÿ£ª¯‰»¹ 

¥³ã±‰¥°¾²‰. 
  (i) µ¬ß°œ ̧¿‰ª«¹  (r < R) 
  (ii) µ¬ß°œ ̧ã²¦ª«¹  (r > R) (Ÿ¶̧‰¯ÜŸ̧ : 5)  

¿µßÃ°Þ 
 (b) ƒ§‰½̧“°‰ ̧ µµ•¶ã¯à †Ò¯µ§Ð ̧ ? ƒ§‰½̧“°‰ ̧ µµ•¶ã¯¨°µú £Î» 

ª°Ñ²ª°Þ œ°Ò²¹ ƒ‰¼°¶Ý¯¦°¤Þ µµ§œ°Þ  ‘r’ £±ÝÜ ¿‰µ§¤²á ˆ¥² 

¡°Ñ²ª°µ§ ƒ§‰½̧“°‰¸ ý±Þ•¸ ‰¯—²Ò˜°œ²á Ÿ£ª¯‰»¹ ¥³ã±‰¥°¾²‰.  

      (Ÿ¶̧‰¯ÜŸ̧ : 5)  
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6. (a) Find the value of the carbon resistor shown below :  

               (Scores : 2) 
 (b) State Kirchhoff’s junction rule. (Score : 1) 
 (c) An arrangement of a Wheatstones bridge is shown in the figure. Derive the 

equation for the balanced condition of the device.    

                    (Scores : 3) 
 

7. A sinusoidal voltage is applied to a series LCR circuit is shown in the figure. What is 
the frequency of the source at which resonance occurs ?  

             (Scores : 3) 
 

8. (a) Explain total internal reflection of light. (Scores : 2) 
 (b) Complete the ray diagram to show the final image formation. Derive an 

expression for the effective focal length of the combination of lenses. 

      (Scores : 5) 
OR 
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6. (a) ˜¯µ© ‰¯—°Å°¥°¾²Ò ‰¯Ü¡É µ¦Ÿ°è¦°µú ª¯§»² ‰¯—²‰ : 

     (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 (b) µ‰Ü¶Å¯ýŸ̧ ̧×¹‹¬̧Ï œ°¤£¹ ½ãŸ¸˜¯ª°¾²‰. (Ÿ¶̧‰¯Ü : 1) 
 (c) ˆ¥² ª±Ý¶̧è¯ÉŸ ̧ ½¡°•×̧°µú ü°½˜¹ ˜¯µ© µ‰¯“²Ì°¥°¾²Ò². ƒ· 

„ã‰¥—¹ ¡¯§ÏŸ¸•¸ ‰Ê±¬œ°Þ ‚‰²Ò Ÿ£ª¯‰»¹ ¥³ã±‰¥°¾²‰. 

                     (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 

7. ¶½«—± ¥±˜°¤°§²á ˆ¥² LCR ŸÜ¾»³È°Þ ‡.Ÿ°. ¶ª¯à¶È× ̧ œ§‰̧°¤°È²á 

ü°½˜¹ ˜¯µ© µ‰¯“²Ì°¥°¾²Ò². ŸÜ¾»³È°µú µ¦µŸ¯—ú  ̧½ý±‰¼ÏŸ° †½˜ ?  

          (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
8. (a) ½ã‰¯«Ì°µú ã³ÜË¯Ð¥°‰ ½ã˜°ý§œ¹ †Ò¯µ§Ð¯µ—Ò̧ ª°«š£¯¾²‰.  
      (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 (b) ½ã˜°¡°¹¡¹ „Ê¯‰²Ò˜°µú ¶¥Š¯ü°½˜¹ ã³ÜÌ°¤¯¾²‰. µ§ÏŸ²‰¨²µ“ 

ƒýê±ª ̧¶ý¯¾Þ š³¥¹ ‰¯—²Ò˜°œ²á Ÿ£ª¯‰»¹ ¥³ã±‰¥°¾²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 5) 
     ¿µßÃ°Þ  
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(b)

   

  Complete the ray diagram and arrive at the expression for deviation of light. Also 

draw the i-d curve. (Scores : 5)   

 

9. (a) State the exponential law of radioactive decay. (Score : 1) 

 (b) What do you mean by Q value of a nuclear reaction ? (Score : 1) 

 (c) The commonly used moderator in a nuclear reactor is 

  (i) Cadmium (ii) Hydrogen 

  (iii) Uranium (iv) Graphite (Score : 1) 

  

10. (a) What do you mean by Lorentz magnetic force ? Write its expression. (Scores : 2)   

 (b) Write any one property of Lorentz force. (Score : 1) 

 (c) Write down the expression for cyclotron frequency explaining the meaning of the 

symbols used. (Scores : 2) 

 

11. (a) Draw Lyman Series in energy level diagram. (Scores : 2) 

 (b) Write the formula of frequency to represent Lyman Series. (Score : 1) 

 (c) List out one limitation of Bohr’s atom model. (Score : 1) 
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(b)

   
  ¶¥Š¯ü°½˜¹ ã³ÜÌ°¤¯¾° ½ã‰¯«Ì°µú •±ª°¶¤¬Ï ‰¯—¯œ²á Ÿ£-

ª¯‰»Ì°Þ †Ì°¶Å¥²‰. ¿¶˜¯µ“¯Ô¹ i-d ‰Üâ²¹ ª¥¤¾̧²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 5)   

 

9. (a) ¶¦•°¶¤¯ ‚‰Ý̧±ª ̧ •±¶¾ Ÿ¹¡œ¸›°¾²Ò †‰Ÿ̧µ̧ã¯—Ï¬»Þ œ°¤£¹ 

½ãŸ¸˜¯ª°¾²‰. (Ÿ¶̧‰¯Ü : 1) 

 (b) ˆ¥² œ»³‰ÿ°¤Ü ¦°¤¯Àµú  Q ª¯§»³ †Ò¯Þ †Ð¯— ̧ ? (Ÿ¶̧‰¯Ü : 1) 

 (c) ˆ¥² œ»³‰ÿ°¤Ü ¦°¤¯ê¦°Þ Ÿ¯›¯¥—¤¯¤° „ã¶¤¯‹°¾²Ò ¶£¯•¶¦ÝÜ ‚—̧ 

  (i) ‰¯•£̧°¤¹ (ii) µµ®½•×Ï 

  (iii) ¤²¶¦œ°¤¹ (iv) ½‹¯µµýÝ¸ (Ÿ¶̧‰¯Ü : 1) 

  

10. (a) ¶§¯¦ÏŸ ̧ £¯‹œ̧Ý°‰ ̧ ¶ý¯©Ÿ̧ ̧ †Ò¯Þ †Ð¯—̧ ? ¿˜°µú Ÿ³½˜ª¯‰»¹ 

†©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2)   

 (b) ¶§¯¦ÏŸ ̧¶ý¯©Ÿ̧°µú ‡µ˜Ã°§²¹ ¥Ê¸ ½ã¶˜»‰˜‰à †©²˜²‰. (Ÿ¶̧‰¯Ü : 1) 

 (c) µµŸ¶‰ÿ̄ ½“É ½ý±‰¼ÏŸ°¤²µ“ Ÿ£ª¯‰»¹ †©²˜° „ã¶¤¯‹°Å°¥°¾²Ò 

Ÿ°¹¡ÞŸ¸ †Ð¯µ—Ò ̧ª°«š£¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

11. (a) µµ§£É ¶½«—° †œÜ×° µ§ªÞ •¤½‹Ì°Þ ª¥Å² ‰¯—°¾²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (b) µµ§£É Ÿ±¥±Ÿ°µœ ½ã˜°œ°›±‰¥°¾²Ò ½ý±‰¼ÏŸ° Ÿ£ª¯‰»¹ †©²˜²‰. 

      (Ÿ¶̧‰¯Ü : 1) 

 (c) ¶¡¯ÜŸ ̧‚Ý¹ ¶£¯•§°µú ˆ¥² œ»³œ˜ †©²˜²‰. (Ÿ¶̧‰¯Ü : 1) 
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12. Calculate the de Broglie wavelength associated with an electron accelerated through a 

potential difference of 100 Volts.  (Scores : 3) 

 

13. (a) What is the meaning of an equipotential surface ? Draw equipotential surface due 

to a single point charge. (Scores : 2) 

 (b) The energy stored in a capacitor of capacitance C, with charge Q is 

  (i) ½ QC (ii) ½ QC2 

  (iii) ½ 
Q2

C  (iv) ½ Q2C (Score : 1) 

 

14. (a) What is a wave front ? (Score : 1) 

 (b) What type of wave front will emerge from a  

  (i) point source, 

  (ii) distant light source ? (Scores : 2) 

 (c) What is the Brewster’s angle for air to glass transition ?  

  (Refractive index of glass = 1.5) (Scores : 2) 

 

15. (a) Match the following : 

  (i) Transistor – Photodetector 

  (ii) Zener diode – Used in Satellites and in Space Vehicles 

  (iii) Solar Cells – Voltage regulator 

     – Switch (Scores : 3) 
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12. 100 ¶ª¯àÈ ̧ µã¯ÈÏ¬»Þ ª»˜°¤¯œÌ°Þ ‚‰Ÿ̧°§¶¦Ý ̧ µüÛµÔÈ ˆ¥² 

ƒ§‰¶̧½“¯—°µú ˜¥¹‹ µµšÜŒ»¹ ‰—¾¯¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3)  

 

13. (a) ƒ‰¼°µã¯ÈÏ¬»Þ ½ã˜§¹ †Ò¯µ§Ð¯—̧ ? ˆ¥² ü¯Üî²µ‰¯Ê²á     

ƒ‰¼°µã¯ÈÏ¬»Þ ½ã˜§¹ ª¥¤¸¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (b) C ‰Ô¯Ÿ°ÝÏŸ²¹ Q ü¯Üî²¹ „á ˆ¥² ‰Ô¯Ÿ°Ý¦°Þ ¿“Ä°¤°È²á 

„·Üî¹  

  (i) ½ QC (ii) ½ QC2 

  (iii) ½ 
Q2

C  (iv) ½ Q2C (Ÿ¶̧‰¯Ü : 1) 

 

14. (a) ¶ªª¸ ½ýÊ¸ †Ò¯µ§Ð ̧ ? (Ÿ¶̧‰¯Ü : 1) 

 (b) ‡˜² ˜¥Ì°§²á ¶ªª¸ ½ýÊ¯— ̧ ˜¯µ© ã¦¤²Òª¤°Þ œ°Ò²¹ 

„Ê¯‰²Ò˜ ̧?  

  (i) ˆ¥² ¶ã¯¤°ú ¸ ¶½Ÿ¯˜æ¸ 

  (ii) ¿‰µ§¤²á ˆ¥² ½ã‰¯« ¶½Ÿ¯˜æ ̧ (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (c) ½ã‰¯«¹ ª¯¤²ª°Þ œ°Ò²¹ ‹ÿ̄ æ°¶§¾ ̧ ½ã¶ª«°¾²¶Ø¯©²á ½¡³¶è©Ÿ̧ ̧

¶‰¯É †½˜ ?  

  (‹ÿ̄ æ°µú ¦°½ý¯ê±ª¸ ƒÏ•‰¸Ÿ¸  = 1.5) (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

15. (a) ¶ü¥²¹ã“° ¶üÜ¾²‰ : 

  (i) ½“¯ÏŸ°èÜ – ¶ý¯¶È¯•°ÝêÜ 

  (ii) µŸœ¯Ü •¶¤¯•¸ – „ã½‹®Ä¨°§²¹ Ÿ¸¶ãŸ ̧µª®°¾°¨°§²¹ 

„ã¶¤¯‹°¾²Ò² 

  (iii) ¶Ÿ¯¨¯Ü µŸÞŸ¸ – ¶ª¯à¶È× ̧µ¦‹²¶§ÝÜ 

     – Ÿ¼°Å¸ (Ÿ¶̧‰¯ÜŸ̧ : 3) 
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 (b) Name the device in which we get a.c. output without any external input signal. 

       (Score : 1) 

 (c) Identify the logic gate shown below and complete the truth table of the above 

gate. 

   
 

Input Output  

A B Y  

0 0   

0 1   

1 0   

1 1  (Scores : 2) 

 

_____________ 
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 (b) ƒÏã²È°ß¯µ˜ ‡.Ÿ°. ˆ·Èã̧²È¸ ‰°È²Ò „ã‰¥—Ì°µú ¶ãµ¥©²˜²‰. 

        (Ÿ¶̧‰¯Ü : 1) 

 (c) ü°½˜Ì°Þ ‰¯—²Ò ¶§¯×°‰ ̧ ¶‹Ý ̧ ˜°¥°Å¦°¤²‰¤²¹ ¶‹Ý°µú ˜¯µ© 

µ‰¯“²Ì°¥°¾²Ò ½“³Ì ̧¶“¡°à ã³ÜÌ±‰¥°¾²‰¤²¹ µüÛ²‰. 

   
 

Input Output  

A B Y  

0 0   

0 1   

1 0   

1 1  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

_____________ 
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1. Solids can be classified as crystalline and amorphous. 

 (a) Classify the following solids into crystalline solids and amorphous solid. 

  Sodium chloride, glass, rubber, quartz (Scores : 2) 

 (b) Explain any one of the defects shown by crystalline solids.  (Scores : 2) 

 

2. Osmotic pressure is a colligative property. 

 (a) What do you mean by colligative property ? (Score : 1) 

 (b) Write any two colligative properties other than osmotic pressure. (Score : 1) 

 (c) Mention the advantages of using osmotic pressure method over other methods in 
the determination of molar mass of proteins. (Scores : 2) 

 

3. (a) Which of the following is a weak electrolyte ? 

  (i) NaCl (ii) KCl 

  (iii) KBr (iv) CH3COOH (Score : 1) 

 (b) Construct a Galvanic cell by using the following : 

 

       (Scores : 3) 
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1. Š¥ ãš¯Ü˜™̧Äµ¨ ½‰°èµµ§Ï †Ò²¹ ¿¶£¯ÜýŸ¸ †Ò²¹ ˜¥¹ ˜°¥°¾¯¹. 

 (a) ˜¯µ© µ‰¯“²Ì°¥°¾²Ò Š¥ ãš¯Ü˜̧™Äµ¨ ½‰°èµµ§Ï †Ò²¹ ¿¶£¯ÜýŸ̧ 

†Ò²¹ ˜¥¹ ˜°¥°¾²‰ : 

  ¶Ÿ¯•°¤¹ ¶‰ÿ̄ µµ¦•,̧ ‹ÿ̄ æ,̧ ¦ÖÜ, ‰¼¯Ü“Ÿ̧¸ (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (b) ½‰°èµµ§Ï Š¥ ãš¯Ü˜̧™Äà ‰¯—°¾²Ò ‡µ˜Ã°§²¹ ˆ¥² •°ýê ̧

ª°«š£¯¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

2. ˆ¯Ÿ¸¶£¯È°‰¸ £ÜÍ¹ ˆ¥² ¶‰¯¨°¶‹Ý±ª¸ ‹²—£¯—̧. 

 (a) ¶‰¯¨°¶‹Ý¸ ‹²—¹ †Ò¯Þ †Ð¯—̧ ? (Ÿ¶̧‰¯Ü : 1) 

 (b) ˆ¯Ÿ¸¶£¯È°‰¸ £ÜÍ¹ ˆ©°µ‰ ‡µ˜Ã°§²¹ £Ý² ¥Ê¸ ¶‰¯¨°¶‹Ý±ª ̧‹²—Äà 

†©²˜²‰. (Ÿ¶̧‰¯Ü : 1) 

 (c) £Ý²á £¯ÜÁÄà „ã¶¤¯‹°¾²Ò˜°¶œ¾¯à ˆ¯Ÿ¸¶£¯È°‰ ̧ £ÜÍ £¯ÜÁ¹ 

„ã¶¤¯‹°Å ̧ ¶½ã¯È±œ²‰¨²µ“ µ£¯¨¯Ü £¯æ¸ œ°ÜË¤°¾²Ò˜²µ‰¯Ê²á 

½ã¶¤¯×œÄà †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

3. (a) ˜¯µ© µ‰¯“²Ì°¥°¾²Òª¤°Þ «ø° ‰²¦Ç ƒ§‰µ̧½“¯µµ§Ý ̧‡˜¯—̧  ? 

  (i) NaCl (ii) KCl 

  (iii) KBr (iv) CH3COOH (Ÿ¶̧‰¯Ü : 1) 

 (b) ˜¯µ© ˜Ò°¥°¾²Òª „ã¶¤¯‹°Å¸ ˆ¥² ‹¯Þª¯œ°‰ ̧µŸÞ œ°ÜÙ°¾²‰ : 

 

       (Ÿ¶̧‰¯ÜŸ̧ : 3) 
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4. Order and molecularity of a chemical reaction help in understanding its mechanism. 

 (a) The unit of rate constant of a first order reaction is  

  (i) mol L–1 S–1 (ii) S–1 

  (iii) mol–1 S–1 (iv) mol–1 L S–1 (Score : 1) 

 (b) Differentiate between order and molecularity of a reaction. (Scores : 2) 

 (c) Write an example for a bimolecular reaction. (Score : 1) 

 

5. (a) An example for a ‘jel’ is 

  (i) Milk (ii) Butter 

  (iii) Fog (iv) Hair cream (Score : 1) 

 (b) Various properties are exhibited by colloidal solutions. Explain any one of them.  

       (Scores : 2) 

 

6. Sulphide ores are concentrated by froth floatation process. 

 (a) Identify from the following ores the one that can be concentrated by froth 
floatation. 

  (i) Calamine 

  (ii) Haematite 

  (iii) Zincite 

  (iv) Zinc blende   (Score : 1) 

 (b) Explain froth floatation process.   (Scores : 2) 
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4. ˆ¥² ¥¯Ÿ ½ãªÜÌœÌ°µú ˆ¯Ü•¦²¹ ¶£¯¨°‰»²§¯¥°Ý°¤²¹ ¿˜°µú µ£¾¯œ°Ÿ¹ 

£œæ°§¯¾¯Ï Ÿ®¯¤°¾²Ò². 

 (a) ˆ¥² ýȩ̀ ˆ¯Ü•Ü ½ãªÜÌœÌ°µú ¶¦Ý¸ ¶‰¯Éèú  ̧‚— ¸ 

  (i) mol L–1 S–1 (ii) S–1 

  (iii) mol–1 S–1 (iv) mol–1 L S–1 (Ÿ¶̧‰¯Ü : 1) 

 (b) ˆ¥² ½ãªÜÌœÌ°µú ˆ¯Ü•¦²¹ ¶£¯¨°‰»²§¯¥°Ý°¤²¹ ˜Ù°§²á ª»˜»¯Ÿ¹ 

†©²˜²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (c) ˆ¥² µµ¡¶£¯¨°‰»²§¯Ü ½ãªÜÌœÌ°œ ̧„š¯®¥—¹ †©²˜²‰. (Ÿ¶̧‰¯Ü : 1) 

 

5. (a) µ×ß°œ ̧ˆ¥² „š¯®¥—£¯—̧  

  (i) ã¯Þ (ii) ¡ÈÜ 

  (iii) ¶ý¯‹¸ (iv) µ®¤Ü ½‰±¹ (Ÿ¶̧‰¯Ü : 1) 

 (b) µ‰¯¶¨¯¤°•Þ §¯¤œ°‰à ã§ ‹²—Ä¨²¹ ‰¯—°¾²Ò². ¿ª¤°Þ ‡µ˜Ã°§²¹ 

ˆ¥² ‹²—¹ ª°«š±‰¥°¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

6. Ÿàµµý•¸ ¿¤°¥²‰µ¨ ¶½ý¯Ì ̧¶ýÿ̄ ¶È¬Ï ½ã½‰°¤£³§¹ Ÿ¯½Ñ±‰¥°¾²Ò². 

 (a) ˜¯µ© µ‰¯“²Ì°¥°¾²Òª¤°Þ ¶½ý¯Ì¸ ¶ýÿ̄ ¶È¬Ï£³§¹ Ÿ¯½Ñ±‰¥°¾¯Ï 

‰©°¤²Ò ¿¤°¥¸ ‡µ˜Ò ̧‰Ê²ã°“°¾²‰. 

  (i) ‰§¯£°Ï 

  (ii) ¶®£µµÝÝ¸ 

  (iii) Ÿ°µµÃÝ¸ 

  (iv) Ÿ°Ã̧ ¡ÿú  ¸   (Ÿ¶̧‰¯Ü : 1) 

 (b) ¶½ý¯Ì¸ ¶ýÿ̄ ¶È¬Ï ½ã½‰°¤ ª°«š±‰¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 
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7. (a) Identify the element which does not belong to Group 16 of the Periodic Table. 

  (i) Oxygen (ii) Sulphur 

  (iii) Nitrogen (iv) Polonium (Score : 1) 

 (b) Prepare a short write up on sulphuric acid highlighting its structure, manufacture 
and chemical properties.   (Scores : 4) 

OR 

  Prepare a short write up on chlorine highlighting its preparation, chemical 
properties and uses.   (Scores : 4) 

 

8. Transition elements are ‘d’-block elements. 

 (a) Write the general electronic configuration of transition elements. (Score : 1) 

 (b) Write any three characteristic properties of transition elements. (Scores : 3) 

 

9. (a) Write the IUPAC names of the following complexes : 

  (i) [Co(NH3)5Br]SO4 (ii) [Co(NH3)5SO4]Br (Scores : 2) 

 (b) Explain the type of isomerism shown by the above mentioned complexes. (Scores : 2) 

 

10. (a) Identify chloroform from the following compounds : 

  (i) CCl4 (ii) CHCl3 

  (iii) COCl2 (iv) 
 

(Score : 1) 
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7. (a) ‚ªÜÌœ ãÈ°‰¤°µ§ 16-¯¹ ½‹³Ô°Þ „àµÔ“¯Ì £³§‰¹ ‰µÊÌ²‰. 

  (i) ˆ¯‰¸Ÿ°×Ï (ii) ŸàýÜ 

  (iii) µµœ½“×Ï (iv) µã¯¶¨¯—°¤¹ (Ÿ¶̧‰¯Ü : 1) 

 (b) Ÿàý»³¦°‰ ̧ ‚Ÿ°•°µœ ‰²¦°Å ̧ ¿˜°µú Œ“œ, œ°ÜÙ¯—¹, ¥¯Ÿ‹²—-
Äà †Ò°ª¤¾̧ ̧„·ÒÞ œ§‰̧° ˆ¥² §Œ² ª°ª¥—¹ ˜Û¯¦¯¾²‰.  

       (Ÿ¶̧‰¯ÜŸ̧ : 4) 

¿µßÃ°Þ 

  ¶‰ÿ̄ ¦°µœ¾²¦°Å ̧ ¿˜°µú œ°ÜÙ¯—¹, ¥¯Ÿ ‹²—Äà, „ã¶¤¯‹Äà 

†Ò°ª¤¾̧ ̧„·ÒÞ œ§‰̧° ˆ¥² §Œ² ª°ª¥—¹ ˜Û¯¦¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

8. Ÿ¹½‰£— £³§‰Äà ‘d’-¶¡ÿ̄ ¾¸ £³§‰Ä¨¯—̧. 

 (a) Ÿ¹½‰£— £³§‰Ä¨²µ“ µã¯˜²ª¯¤ ƒ§‰¶̧½“¯É ª°œ»¯Ÿ¹ †©²˜²‰. 

       (Ÿ¶̧‰¯Ü : 1) 

 (b) Ÿ¹½‰£— £³§‰Ä¨²µ“ ‡µ˜Ã°§²¹ £³Ò ̧Ÿª°¶«¬ ‹²—Äà †©²˜²‰. 

       (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

9. (a) ˜¯µ© µ‰¯“²Ì°¥°¾²Ò Ÿ¹¤²øÄ¨²µ“ IUPAC œ¯£Äà †©²˜²‰ : 

  (i) [Co(NH3)5Br]SO4 (ii) [Co(NH3)5SO4]Br (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (b) £²‰¨°Þ µ‰¯“²Ì°¥°¾²Ò ¶‰¯¹ãÿ‰¸Ÿ²‰à ‰¯—°¾²Ò µ†¶Ÿ¯µ£¦°Ÿ¹ 

ª°«š£¯¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

10. (a) ˜¯µ© µ‰¯“²Ì°¥°¾²Ò Ÿ¹¤²øÄ¨°Þ œ°Ò²¹ ¶‰ÿ̄ ¶¦¯¶ý¯¹ ‰µÊÌ²‰ : 

  (i) CCl4 (ii) CHCl3 

  (iii) COCl2 (iv) 
 

(Ÿ¶̧‰¯Ü : 1) 
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 (b) Haloarenes undergo nucleophilic substitution reaction and electrophilic 
substitution reactions. 

  Write one example each for electrophilic and nucleophilic substitution reactions 
of haloarenes. (Write down the chemical equation) (Scores : 3) 

 

11. (a) The chemical formula of Grignard reagent is  

  (i) RMgX (ii) ROH 

  (iii) RMgOH (iv) ROR' (Score : 1) 

 (b) Boiling points of alcohols and phenols are higher than those of corresponding 
hydrocarbons. Why ?   (Score : 1) 

 (c) Write any one chemical reaction each of an alcohol and phenol. (Scores : 2) 

 

12. (a) Identify the functional group present in carboxylic acid : 

  (i) – CHO (ii) 
(

∋
 C = O 

  (iii)  (iv)  (Score : 1) 

 (b) Explain the following : 

  (i) Esterification 

  (ii) Cannizzaro reaction 

  (iii) Gattermann-Koch reaction 

  (iv) Tollen’s test   (Scores : 4) 
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 (b) ®¯¶§¯¿¥±œ²‰à œ»³‰ÿ°¶¤¯ý°§°‰ ̧ Ÿ¡¸è°Ý»³¬Ï ½ãªÜÌœÄà¾²¹ 

ƒ§‰¶̧½“¯ý°§°‰ ̧Ÿ¡¸è°Ý»³¬Ï ½ãªÜÌœÄà¾²¹ ª°¶›¤£¯‰²Ò². 

  ®¯¶§¯¿¥±µú ƒ§‰¶̧½“¯ý°§°‰ ̧ Ÿ¡¸è°Ý»³¬Ï ½ãªÜÌœÌ°œ²¹ 

œ»³‰ÿ°¶¤¯ý°§°‰ ̧ Ÿ¡ȩ̀°Ý»³¬Ï ½ãªÜÌœÌ°œ²¹ ˆ¯¶¥¯ „š¯®¥—¹ 

ª±˜¹ †©²˜²‰. (¥¯Ÿ Ÿ£ª¯‰»Ä¨²¹ †©²˜—¹) (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

11. (a) ½‹°ù¯Ü• ̧¦°¶¤×°µú ¥¯ŸŸ³½˜£¯—̧   

  (i) RMgX (ii) ROH 

  (iii) RMgOH (iv) ROR' (Ÿ¶̧‰¯Ü : 1) 

 (b) ‚Þ¾¶®¯¨²‰¨²¶“¤²¹ ý±¶œ¯¨²‰¨²¶“¤²¹ ˜°¨œ°§ ˜Ì»²§»£¯¤ 

µµ®¶½•¯ ‰¯Ü¡—²‰¶¨¾¯à ‰³“²˜§¯—̧. †Ð²µ‰¯Ê¸ ? (Ÿ¶̧‰¯Ü : 1) 

 (c) ‚Þ¾¶®¯¨°µú¤²¹ ý±¶œ¯¨°µú¤²¹ ‡µ˜Ã°§²¹ ˆ¯¶¥¯ ¥¯Ÿ½ãªÜÌœ¹ 

ª±˜¹ †©²˜²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

12. (a) ‰¯Ü¶¡¯‰Ÿ̧°§°‰ ̧‚Ÿ°•°µ§ ý¹‹¬̧—Þ ½‹³Ô̧ ‰µÊÌ²‰ : 

  (i) – CHO (ii) 
(

∋
 C = O 

  (iii)  (iv)  (Ÿ¶̧‰¯Ü : 1) 

 (b) ˜¯µ© µ‰¯“²Ì°¥°¾²Òª ª°«š£¯¾²‰ : 

  (i) †è¦°ý°¶¾¬Ï 

  (ii) ‰¯Ò°æ¯¶¥¯ ½ãªÜÌœ¹ 

  (iii) ‹¯ÝÜ£¯Ï-¶‰¯¬¸ ½ãªÜÌœ¹ 

  (iv) ¶“¯¨ÏŸ ̧µ“è¸   (Ÿ¶̧‰¯ÜŸ̧ : 4) 
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13. Write a note on amines highlighting the preparation and chemical reactions of amines. 
       (Scores : 3) 

 

14. Match the following : 

Monosaccharide – Cellulose 

Disaccharide – Glucose 

Polysaccharide – Sucrose (Scores : 3) 

 

15. Classify the following into elastomers, fibres and thermoplastics : 

 Buna-S, Nylon 6, 6, Polyethene, Polyvinylchloride, Neoprene, Terylene (Scores : 3) 

 

16. Tranquilizers and analgesics are neurologically active drugs. 

 (a) Distinguish between tranquilizers and analgesics. (Scores : 2) 

 (b) Write one example each for tranquilizers and analgesics. (Score : 1) 

___________ 
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13. ¿£±µœ ‰²¦°Å ̧ ¿˜°µú œ°ÜÙ¯—Ì°œ²¹ ¥¯Ÿ ½ãªÜÌœÄà¾²¹ „·ÒÞ 

œ§‰̧° ˆ¥² ‰²¦°Ô¸ ˜Û¯¦¯¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 

14. ¶ü¥²¹ã“° ¶üÜ¾²‰ : 

¶£¯¶—¯Ÿ¯¾µµ¦•¸ – µŸß²¶§¯Ÿ¸ 

µµ•Ÿ¯¾µµ¦•¸ – ‹ÿ³¶¾¯Ÿ¸ 

¶ã¯¨°Ÿ¯¾µµ¦•¸ – Ÿ²¶½‰¯Ÿ¸ (Ÿ¶̧‰¯ÜŸ̧ : 3)
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1. (a) sin–1x + cos–1x; x ∈ [–1, 1] is 

  (i) 

E

A  (iv) A

π
12E

A  (Score : 1) 

 (b) Prove that tan–1 A



1

2E A + tan–1 A



2

11 E A = tan–1 A



3

4E A  (Scores : 2) 

 

2. (a) f : R → R defined by f(x) = x2 is  

  (i) one-one, onto (ii) one-one, into 

  (iii) many one, onto (iv) many one, into  (Score : 1) 

 (b) If f(x) = A

4x + 3
6x – 4E

A, x ≠ A

2
3E

A

, show that fof(x) = x. 

  What is the inverse of f ? (Scores : 4) 

 

3. Given A = A









1 5 3

6 0 2
3 –1 5

E A and B = A









0 2 –1

5 –3 –2
0 0 2

E A. 

 (a) Find A′ and B′. (Score : 1) 

 (b) Prove that (A + B)′ = A′ + B′. (Scores : 3) 

 (c) Verify that (A + A′) is a symmetric matrix. (Scores : 2) 

π
2  (ii)  

  (iii) 

π
4

π
8
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1. (a) sin–1x + cos–1x; x ∈ [–1, 1] µú ª°§ 

  (i) A

π
2E

A  (ii) A

π
4 E

 

  (iii) A

π
8E

A  (iv) A

π
12E

A  (Ÿ¶̧‰¯Ü : 1) 

 (b) tan–1 



1

2  +  tan–1 



2

11  = tan–1 



3

4  †Ò² µ˜¨°¤°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

2. (a) f : R → R ; f(x) = x2 †Ò˜̧ 

  (i) one-one, onto (ii) one-one, into 

  (iii) many one, onto (iv) many one, into  (Ÿ¶̧‰¯Ü : 1) 

 (b) f(x) = 
4x + 3
6x – 4 ; x ≠ 

2
3
 ‚—̧. fof(x) = x †Ò² µ˜¨°¤°¾²‰.  

  f µú ƒÏ¶ª©¸Ÿ¸ †Ð¯—̧ ? (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

3. A = 








1 5 3

6 0 2
3 –1 5

 , B = 








0 2 –1

5 –3 –2
0 0 2

 ‚—̧. 

 (a) A′, B′ ƒª ‰¯—²‰. (Ÿ¶̧‰¯Ü : 1) 

 (b) (A + B)′ = A′ + B′ †Ò² µ˜¨°¤°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 (c) (A + A′) ˆ¥² Ÿ°£½“°‰ ̧µ£½“°‰Ÿ̧ ̧†Ò² µ˜¨°¤°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 
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4. (a) f(x) = 

E A (Score : 1) 

 (b) If A = A



1 3

4 10 E A, then show that |2A| = 4|A|.  (Scores : 2) 

 (c) Prove that A









1 a a2

1 b b2

1 c c2
E A= (a – b) (b – c) (c – a)  (Scores : 3) 

 

7. (a) Evaluate  A⌡
⌠
 

 
.
.E



ax + 1;  if x ≤ 3
2x + 3;  if x > 3  is continuous at x = 3. Find the value of a. (Scores : 2) 

 (b) Write the derivative of ax. (Score : 1) 

 (c) If x = 4t and y = 
4
t
, find  

dy
dx

. (Scores : 2) 

 

5. Given  A =  

 (a) Find A2.  (Score : 1) 

 (b) Find A2 
– 2A + 3I. (Scores : 3) 

 

6. (a) Find 





2 3

1 0





1 0

2 2

 
(log x)2

x  dx. (Scores : 2) 

 (b) Evaluate  ⌡
⌠
 

 
.
. sin 4x cos 2x dx. (Scores : 3) 

    OR 

 (a) Evaluate  ⌡
⌠

0

1

 
.
. 

1
4 + x2 dx. (Scores : 2) 

 (b) Evaluate  ⌡
⌠

0

1

 
.
. x(1 – x)10 dx. (Scores : 3) 
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4. (a) f(x) = 


ax + 1;  x ≤ 3
2x + 3;  x > 3   

   x = 3 ¤°Þ ‰Ê°œ»³Ÿ¸ ‚¤¯Þ a ¤²µ“ ª°§ ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (b) ax µú µ•¦°¶ªÝ±ª ̧†©²˜²‰. (Ÿ¶̧‰¯Ü : 1) 

 (c) x = 4t; y = 
4
t
 ‚¤¯Þ  

dy
dx

 ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

5. A = 



2 3

1 0  ‚—̧. 

 (a) A2 ‰¯—²‰. (Ÿ¶̧‰¯Ü : 1) 

 (b) A2 
– 2A + 3I ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

6. (a) 



1 0

2 2  ‰¯—²‰. (Ÿ¶̧‰¯Ü : 1) 

 (b) A = 



1 3

4 10  ‚¤¯Þ |2A| = 4|A| †Ò² µ˜¨°¤°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (c) 








1 a a2

1 b b2

1 c c2
= (a – b) (b – c) (c – a)  †Ò² µ˜¨°¤°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

7. (a) ⌡
⌠
 

 
.
. 
(log x)2

x  dx ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (b) ⌡
⌠
 

 
.
. sin 4x cos 2x dx ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

    ¿µßÃ°Þ 

 (a) ⌡
⌠

0

1

 
.
. 

1
4 + x2 dx ‰—¾¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (b) ⌡
⌠

0

1

 
.
. x(1 – x)10 dx ‰—¾¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 
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8. Find the area of the region bounded by the two parabolas y = x2 and y2 = x. (Scores : 4) 

 

9. Solve : 

 2x + 5y = 1 

 3x + 2y = 7   (Scores : 4) 

 

10. Consider the equation x 
dy
dx + 2y = x2; (x ≠ 0). 

 (a) Express this equation in the form 
dy
dx + Py = Q and write P and Q. (Score : 1) 

 (b) Find its integrating factor. (Score : 1) 

 (c) Solve the equation. (Scores : 2) 

  

11. (a) If 
→
a  = î  + ĵ  – 2k̂, then  find |

→
a |. (Score : 1) 

 (b) Find the unit vector in the direction of the vector  
→
a  = î  + ĵ  – 2k̂. (Scores : 2) 

 (c) Find a vector in the direction of  
→
a  = î  + ĵ  – 2k̂, which has magnitude 5 units. 

      (Scores : 2) 

 

12. Consider the vectors 
→
a  = î  – 2 ĵ  + 3k̂ and 

→
b = 3 î  + 2 ĵ  – 3k̂ 

 (a) Find 
→
a  ⋅ 

→
b. (Scores : 2) 

 (b) Find the angle between 
→
a  and 

→
b. (Scores : 2) 

              OR 

 (a) Find 
→
a  × 

→
b, if 

→
a  = î  – 7 ĵ  and 

→
b = 3 î  + 2 ĵ  + 2k̂.    (Scores : 2) 

 (b) Find the area of the triangle ABC, if 
→

AB = î  – 7 ĵ  and 
→
BC = 3 î  + 2 ĵ  + 2k̂.  (Scores : 2) 
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8. y = x2; y2 = x †Ò± ã¥¯µ¡¯¨‰à¾°“¤°§²á ¢¯‹Ì°µú ã¥Ô¨ª¸ ‰¯—²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

9. œ°ÜÎ¯¥—¹ µüÛ²‰ : 

 2x + 5y = 1 

 3x + 2y = 7   (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

10. x 
dy
dx + 2y = x

2
; (x ≠ 0) †Ò Ÿ£ª¯‰»¹ ã¥°‹—°¾²‰. 

 (a) ƒ· Ÿ£ª¯‰»¹ 
dy
dx + Py = Q †Ò ¥³ãÌ°µ§©²˜° P, Q †Ò°ª †©²˜²‰. 

        (Ÿ¶̧‰¯Ü : 1) 

 (b) Ÿ£ª¯‰»Ì°µú ƒú¶½‹Ý°¹‹ ̧ý¯êÜ ‰¯—²‰. (Ÿ¶̧‰¯Ü : 1) 

 (c) Ÿ£ª¯‰»¹ œ°ÜÎ¯¥—¹ µüÛ²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

  

11. (a) 
→
a  = î  + ĵ  – 2k̂ ‚¤¯Þ |

→
a | ‰¯—²‰. (Ÿ¶̧‰¯Ü : 1) 

 (b) 
→
a  = î  + ĵ  – 2k̂ µú ¿¶˜ š°«¤°§²á ¤³—°Ý¸ µªêÜ ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (c) 
→
a  = î  + ĵ  – 2k̂ µú š°«¤°§²á˜²¹ £¯‹œ̧°Ý»³• ̧5 ¤³—°Ý²¹ ‚¤ µªêÜ           

‰¯—²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

12. 
→
a  = î  – 2 ĵ  + 3k̂; 

→
bE  = 3 î  + 2 ĵ  – 3k̂ †Ò± µªê¦²‰à ã¥°‹—°¾²‰. 

 (a) 
→
aE  ⋅ 

→
bE  ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (b) 
→
a , 

→
b ƒª¤¾̧°“¤°§²á ¶‰¯—¨ª ̧‰—¾¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

                 ¿µßÃ°Þ 

 (a) 
→
a  = î  – 7 ĵ  ; 

→
b = 3 î  + 2 ĵ  + 2k̂ ‚¤¯Þ 

→
a  × 

→
b ‰¯—²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (b) 
→

AB = î  – 7 ĵ  ; 
→
BC = 3 î  + 2ĵ  + 2k̂ ‚¤¯Þ ½˜°¶‰¯—¹ ABC ¤²µ“ ã¥Ô¨ª¸ 

‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 
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13. (a) The maximum value of f(x) = (2x – 1)2 + 5 is 

  (i) 2  (ii) 
1
2 

  (iii) 5  (iv) – 1
2 (Score : 1) 

 (b) Find two numbers whose sum is 24 and whose product is as large as possible. 

      (Scores : 3) 

 

14. (a) If l, m, n are the direction cosines of a line, then 

  (i) l + m + n = 1 (ii) l + m + n = 3 

  (iii) l2 + m2 + n2 = 1 (iv) l2 + m2 + n2 = 3 (Score : 1) 

 (b) Find the direction cosines of the line passing through the points (1, 2, 3) and       

(1, 0, 4 ) . (Scores : 2) 

 (c) Find the vector equation of the line passing through the points (1, 2, 3) and           

(1, 0, 4).  (Scores : 2) 

 

15. (a) The vector perpendicular to the plane 6x – 3y + 2z = 4 is ______.  (Score : 1) 

 (b) Find the distance of the point (2, 5, –3) from the plane 6x – 3y + 2z = 4. (Scores : 3) 

OR 

 (a) The intercepts cut-off by the plane x + y + z = 3 

  (i) 1, 1, 1 (ii) 3, 3, 3 

  (iii) 2, 2, 2 (iv) 
1
3
,  1

3
,  1

3 (Score : 1) 

 (b) Find the angle between the planes 2x+ 2y – 3z = 5 and 2x – 3y + 5z = 3. (Scores : 3) 
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13. (a) f(x) = (2x – 1)2 + 5 µú ‡Ýª²¹ ‰³“°¤ ª°§ 

  (i) 2  (ii) 
1
2 

  (iii) 5  (iv) – 1
2 (Ÿ¶̧‰¯Ü : 1) 

 (b) ¥Ê² Ÿ¹Š»‰¨²µ“ ˜²‰ 24. ¿ª¤²µ“ ‹²—œý§¹ ã¥£¯ª›° ª¥²Ò ¥Ê² 

Ÿ¹Š»‰à ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

14. (a) ˆ¥² ª¥¤²µ“ •¤¦ÀÏ µ‰¯µµŸœ²‰à l, m, n ‚¤¯Þ 

  (i) l + m + n = 1 (ii) l + m + n = 3 

  (iii) l2 + m2 + n2 = 1 (iv) l2 + m2 + n2 = 3 (Ÿ¶̧‰¯Ü : 1) 

 (b) (1, 2, 3) ; (1, 0, 4) †Ò± ¡°Ñ²¾¨°§³µ“ ‰“Ò² ¶ã¯‰²Ò ª¥¤²µ“ •¤¦ÀÏ 

µ‰¯µµŸœ²‰à ‰—¾¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (c) (1, 2, 3) ; (1, 0, 4) †Ò± ¡°Ñ²¾¨°§³µ“ ‰“Ò² ¶ã¯‰²Ò ª¥¤²µ“ µªêÜ 

Ÿ£ª¯‰»¹ ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

15. (a) 6x – 3y + 2z = 4 †Ò ˜§Ì°œ² §¹¡£¯¤ µªêÜ______.  (Ÿ¶̧‰¯Ü : 1) 

 (b) (2, 5, –3) †Ò ¡°Ñ²ª°Þ œ°Ò²¹ 6x – 3y + 2z = 4 †Ò ˜§Ì°¶§¾²á 

š³¥¹ ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

¿µßÃ°Þ 

 (a) x + y + z = 3 †Ò ˜§¹ ¿ÀÄ¨°Þ „Ê¯¾²Ò ƒúÜµŸã̧Ý²‰à 

  (i) 1, 1, 1 (ii) 3, 3, 3 

  (iii) 2, 2, 2 (iv) 
1
3
,  1

3
,  1

3 (Ÿ¶̧‰¯Ü : 1) 

 (b) 2x+ 2y – 3z = 5 ;  2x – 3y + 5z = 3 †Ò± ˜§Äà¾°“¤°§²á ¶‰¯É ‰¯—²‰.  

        (Ÿ¶̧‰¯ÜŸ̧ : 3) 
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16. The random variable X has the following probability distribution : 

X 1 2 3 4 5 6 7 

P(X) k 2k 3k 3k 2k k k 

 (a) Find the value of k. (Score : 1) 

 (b) Find P(X = 5) (Score : 1) 

 (c) Find P(X ≤ 5) (Scores : 2) 

 (d) Find P(3 ≤ X ≤ 6) (Scores : 2) 

 

17. Solve the LPP graphically :  

  Maximise : Z = 4x + y 

  Subject to the constraints : 

     x + y ≤ 50 

     3x + y ≤ 90 

     x ≥ 0, y ≥ 0 (Scores : 6) 

_____________ 
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16. X †Ò ¦¯Ï•¹ ¶ª¥°¤¡°¨°µú ¶½ã¯¡¡°§°Ý° •°Ÿ½̧“°¡³¬œ¯—̧ ü²ªµ“ 

µ‰¯“²Ì°¥°¾²Ò˜¸ : 

X 1 2 3 4 5 6 7 

P(X) k 2k 3k 3k 2k k k 

 (a) k-¤²µ“ ª°§ ‰¯—²‰. (Ÿ¶̧‰¯Ü : 1) 

 (b) P(X = 5)  ‰¯—²‰. (Ÿ¶̧‰¯Ü : 1) 

 (c) P(X ≤ 5)  ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 (d) P(3 ≤ X ≤ 6) ‰¯—²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

17. ½‹¯ý°¾Þ ¥±˜°¤°Þ LPP œ°ÜÎ¯¥—¹ µüÛ²‰ :  

  Maximise : Z = 4x + y 

  Subject to the constraints : 

     x + y ≤ 50 

     3x + y ≤ 90 

     x ≥ 0, y ≥ 0 (Ÿ¶̧‰¯ÜŸ̧ : 6) 

_____________ 
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General Instructions to Candidates : 
• There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the ‘cool-off time’. 
• Use the ‘cool-off time’ to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

œ°Ü¶Í«Äà : 
• œ°ÜÍ°û Ÿ£¤Ì°œ ̧ã²¦µ£ 15 £°œ°Ý̧ ‘‰³à ˆ¯ý ̧µµ“¹’ „Ê¯¤°¥°¾²¹.  ƒ· 

Ÿ£¤Ì ̧ ¶ü¯š»Äà¾ ̧ „Ì¥¹ †©²˜¯¶œ¯, £Ý²¨¨ª¥²£¯¤° 
‚«¤ª°œ°£¤¹ œ“Ì¯¶œ¯ ã¯“°ß. 

• „Ì¥Äà †©²˜²Ò˜°œ ̧£²Ø¸ ¶ü¯š»Äà ½«Î¯ã³Üâ¹ ª¯¤°¾—¹. 

• †ß¯ ¶ü¯š»Äà¾²¹ „Ì¥¹ †©²˜—¹. 

• ˆ¥² ¶ü¯š»œØÜ „Ì¥µ£©²˜¯Ï µ˜¥µÇ“²Ì² ‰©°Ç¯Þ 
„ã¶ü¯š»Ä¨²¹ ¿¶˜ ¶ü¯š»œØ¥°Þ œ°Ò¸ ˜µÒ µ˜¥µÇ“²¶¾Ê˜¯—.̧ 

• ‰—¾ ̧ ‰³È§²‰à, ü°½˜Äà, ½‹¯ý²‰à †Ò°ª „Ì¥¶ãÔ¦°Þ ˜µÒ 
„Ê¯¤°¥°¾—¹. 

• ¶ü¯š»Äà £§¤¯¨Ì°§²¹ œÞ‰°¤°È²Ê¸. 

• ‚ª«»£²á ð§Ì ̧­£ª¯‰»Äà µ‰¯“²¾—¹. 

• ¶½ã¯½‹¯£²‰à µüÛ¯œ¯‰¯Ì ‰¯Þ¾²¶§Ý¦²‰à ˆ©°µ‰¤²á ˆ¥² 
ƒ§‰¶̧½“¯—°‰¸ „ã‰¥—ª²¹ ã¥±À¯®¯¨°Þ „ã¶¤¯‹°¾²ª¯Ï ã¯“°ß. 
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Name : ........................................   
  Time : 2 Hours 
  Cool-off time : 15 Minutes 
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COMPUTER SCIENCE 
Maximum : 60 Scores 
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1. A pointer is a ______ data type 

 (a) user defined 

 (b) basic 

 (c) derived  

 (d) none   (Score : 1) 

 

2. Compare static and dynamic memory allocation.  (Scores : 2) 

 

3. An array of strings is defined char stud[10][25]. What does this signify ?  

                OR 

 Give the syntax for creating a dynamic array named student.  (Scores : 2) 

 

4. Calling member functions of an object from another function is _______. (Score : 1) 

 

5. What is reusability ? How can you achieve it ?  (Scores : 3) 

 

6. Queue follows the ______ principle.  

 (a) LIFO 

 (b) FIFO 

 (c) LILO 

 (d) None of these (Score : 1) 
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1. ˆ¥² pointer ˆ¥² ______ data type ‚—.̧ 

 (a) user defined 

 (b) basic 

 (c) derived  

 (d) none   (Ÿ¶̧‰¯Ü : 1) 

 

2. Static-„¹ dynamic memory allocation-œ²¹ ˜¯¥˜£»¹ µüÛ²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

3. ˆ¥² array of strings-µœ ªÜË°Å°¥°¾²Ò˜̧  stud[10][25] †Ò¯—̧. ƒ˜̧ 

†Ð°µœ¤¯—̧ Ÿ³ü°Ô°¾²Ò˜¸ ?  

¿µßÃ°Þ 

 Student †Ò ˆ¥² dynamic array œ°ÜÙ°¾²Ò˜°µú syntax œ§‰̧²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

4. ˆ¥² object-µ§ member functions-µœ £µÝ¯¥² function-Þ œ°Ò ̧ ª°¨°¾²Ò˜°µœ 

________ †Ò² ã¦¤²¹. (Ÿ¶̧‰¯Ü : 1) 

 

5. Reusability †Ò¯Þ †Ð ̧? ƒ˜ ̧†Äµœ µµ‰ª¥°¾¯¹ ?   (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

6. Queue ã¯§°¾²Ò ˜˜¼µ£Ð¯—̧ ? 

 (a) LIFO 

 (b) FIFO 

 (c) LILO 

 (d) ƒªµ¤¯Ò²£ß (Ÿ¶̧‰¯Ü : 1) 



5066 4  

7. In a linked list memory is allocated  

 (a) static  

 (b) dynamic 

 (c) both  

 (d) none   (Score : 1) 

 

8. Write an algorithm to implement PUSH operation in stack.  (Scores : 3) 

 

9. Default port number of SMTP is ________ (Score : 1) 

 

10. Differentiate between static and dynamic web pages.  (Scores : 3) 

 

11. Write HTML code to show the various text formatting tags.  (Scores : 2) 

 

12. Write HTML code for creating lists.   

   OR 

 Create a table in a web page   

Sl. No. Vehicle Type Accidents Thefts Violation of law 

1 Two wheelers 200 100 150 

2 Cars 1 50 300 

3 Bus 400 0 100 

 Add appropriate borders, caption and colour.  (Scores : 6)  
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7. ˆ¥² linked list-Þ µ£Ù¦° œ±¾°ª¤¾̧²Ò˜ ̧  

 (a) static  

 (b) dynamic 

 (c) both  

 (d) none   (Ÿ¶̧‰¯Ü : 1) 

 

8. Stack-µ§ PUSH ½ãªÜÌœÌ°µú algorithm †©²˜²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

9. SMTP-¤²µ“ Ÿ¼˜¶ª¤²á port number  ________ ‚—̧. (Ÿ¶̧‰¯Ü : 1) 

 

10. Static-„¹ dynamic web pages-„¹ ˜Ù°Þ ¶ªÜ˜°¥°¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

11. ª°ª°› text formatting tags ‰¯—°Å² µ‰¯Ê²á HTML code †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

12. §°è ̧œ°ÜÙ°¾¯œ²á HTML code †©²˜²‰.   

   ¿µßÃ°Þ 

 ˆ¥² web page-Þ ƒ· table œ°ÜÙ°¾²‰.   

Sl. No. Vehicle Type Accidents Thefts Violation of law 

1 Two wheelers 200 100 150 

2 Cars 1 50 300 

3 Bus 400 0 100 

 „ü°˜£¯¤ border, caption, œ°¦¹ †Ò°ª œ§‰̧²‰. (Ÿ¶̧‰¯ÜŸ̧ : 6)   
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13. The line function function_name( ) in a JavaScript function is callled  

 (a) body  

 (b) tag 

 (c) header  

 (d) (a) & (c)  (Score : 1) 

 

14. Which is a string data type in JavaScript ? 

 (a) “India” 

 (b) true 

 (c) false 

 (d) India   (Score : 1) 

 

15. Write a JavaScript function to find the square of a number.  (Scores : 3) 

 

16. VMware is a ________.  (Score : 1) 

 

17. What is CMS ? Give its features.  (Scores : 2) 

 

18. Smallest unit of stored data in a DBMS is  

 (a) record 

 (b) file 

 (c) field 

 (d) tuple   (Score : 1) 
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13. Function function_name( ) †Ò ª¥° JavaScript-Þ ª°¨°¾µÔ“²Ò˜̧  

 (a) body  

 (b) tag 

 (c) header  

 (d) (a) & (c)  (Ÿ¶̧‰¯Ü : 1) 

 

14. JavaScript-µ§ string data type ‡˜̧ ? 

 (a) “India” 

 (b) true 

 (c) false 

 (d) India   (Ÿ¶̧‰¯Ü : 1) 

 

15. ˆ¥² Ÿ¹Š»¤²µ“ square ‰¯—¯œ²á JavaScript function †©²˜²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

16. VMware †Ò¯Þ ________.  (Ÿ¶̧‰¯Ü : 1) 

 

17. CMS †Ò¯Þ †Ð ̧? ¿˜°µú ª°¶«¬—Äà †µÐß¯¹ ?  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

18. DBMS-µ§ data-¤²µ“ ‡Ýª²¹ µü¦°¤ Œ“‰¹ ‡˜¯— ̧?  

 (a) record 

 (b) file 

 (c) field 

 (d) tuple   (Ÿ¶̧‰¯Ü : 1) 



5066 8  

19. Explain about the various levels of abstraction in DBMS.  (Scores : 3) 

 

20. Consider a relation Customer with attributes Name, Account Number, Account type, 

Balance. It has 25 entries and two types of account types-current and savings. What is 

its degree and cardinality ? Give in the domain for account type.  (Scores : 3) 

 

21. DROP is a _______ command.  (Score : 1) 

 

22. Create a table Invoice with attributes Inv_No (Integer, Unique, not null, 

autoincremented), date(date type), Item (String of length 20), Description(String of 

length 50), Unit_price (decimal), Quantity(integer), Total_amt (decimal), Insert into it 5 

records. Display all items with quantity above 5 units billed on a particular date.  

     (Scores : 6) 

 

23. Value of a variable not being set in PHP is _________. (Score : 1) 

 

24. Explain about conditional statements in PHP.   

    OR 

 Explain about relational operators in PHP.  (Scores : 3) 

 

25. The operating system used in cluster computers is _______ (Score : 1) 

 

26. Describe two applications of Computational Intelligence.  (Scores : 2) 
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19. DBMS-µ§ ª°ª°› levels of abstraction ª°ª¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

20. Customer †Ò relation, attributes (¶ã¥,̧ ¿¾·Ê ̧ œØÜ, ¿¾·Ê ̧ µµ“Ô,̧ 

¡¯§ÏŸ̧). ƒ˜°Þ 25 entries „Ȩ̂. ¥Ê²˜¥¹ ¿¾·Ȩ̂ µµ“Ô̧ (¶Ÿª°¹‹̧Ÿ̧, ‰¦ú )̧ 

„Ê ̧ ? ƒ˜°µú degree, cardinality †Ð¯— ¸ ? ¿¾·Ê ̧ µµ“Ô°µú  domain 

œ§‰̧²‰.    (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

21. DROP ˆ¥² _______ command ‚—̧. (Ÿ¶̧‰¯Ü : 1) 

 

22. Invoice †Ò ¶“¡°à œ°ÜÙ°¾²‰. Attributes Inv_No (Integer, Unique, not null, 

autoincremented), date(date type), Item(String, œ±¨¹ 20), Description(String œ±¨¹ 50), 

Unit_price(decimal), Quantity(integer), Total_amt(decimal). ¿˜°Þ 5 record-‰à 

insert µüÛ—¹. ƒ˜°Þ 5 unit-œ ̧£²‰¨°Þ quantity-¤²á items ½ãšÜ«°Ô°¾²‰. 

     (Ÿ¶̧‰¯ÜŸ̧ : 6) 

 

23. PHP-µ§ ˆ¥² variable-œ¸ value œ§‰̧°¤°È°µßÃ°Þ „ã¶¤¯‹°¾²Ò˜ ̧_________.  

     (Ÿ¶̧‰¯Ü : 1) 

 

24. PHP-µ§ conditional statements ‡µ˜¯µ¾µ¤Ò ̧ª°«š±‰¥°¾²‰.   

                               ¿µßÃ°Þ 

 PHP-µ§ relational operators-µœ ‰²¦°Å¸ ª°«š±‰¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

25. Cluster computers-Þ „ã¶¤¯‹°¾²Ò operating system _______. (Ÿ¶̧‰¯Ü : 1) 

 

26. Computational Intelligence-µú ¥Ê¸ ½ã¶¤¯‹¹ ª°«š±‰¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 
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27. Creative cloud is offered by ________. (Score : 1) 

 

28. Electronic sharing among government agencies is called ______ (Score : 1) 

 

29. What is IPR ?  (Scores : 2) 

 

30. Which is a cyber crime ?  

 (a) Phishing 

 (b) DoS 

 (c) hacking  

 (d) all    (Score : 1) 
___________ 
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27. Creative cloud œ§‰̧²Ò˜̧ ________. (Ÿ¶̧‰¯Ü : 1) 

 

28. ‹ªµïú ̧ ‡×ÏŸ±Ÿ̧ ˜Ù°§²á electronic sharing-µœ ______ †Ò² ª°¨°¾²Ò². 

     (Ÿ¶̧‰¯Ü : 1) 

 
29. IPR †Ò¯Þ †Ð¸ ?  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 
30. ‡˜¯—̧ cyber crime ?  

 (a) Phishing 
 (b) DoS 
 (c) hacking  
 (d) all    (Ÿ¶̧‰¯Ü : 1) 

___________ 
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General Instructions to Candidates : 

• There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2½  hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the ‘cool-off time’. 
• Use the ‘cool-off time’ to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

œ°Ü¶Í«Äà : 
• œ°ÜÍ°û Ÿ£¤Ì°œ ̧ã²¦µ£ 15 £°œ°Ý̧ ‘‰³à ˆ¯ý ̧µµ“¹’ „Ê¯¤°¥°¾²¹.  ƒ· 

Ÿ£¤Ì ̧ ¶ü¯š»Äà¾ ̧ „Ì¥¹ †©²˜¯¶œ¯, £Ý²¨¨ª¥²£¯¤° 
‚«¤ª°œ°£¤¹ œ“Ì¯¶œ¯ ã¯“°ß. 

• „Ì¥Äà †©²˜²Ò˜°œ ̧£²Ø¸ ¶ü¯š»Äà ½«Î¯ã³Üâ¹ ª¯¤°¾—¹. 

• †ß¯ ¶ü¯š»Äà¾²¹ „Ì¥¹ †©²˜—¹. 

• ˆ¥² ¶ü¯š»œØÜ „Ì¥µ£©²˜¯Ï µ˜¥µÇ“²Ì² ‰©°Ç¯Þ 
„ã¶ü¯š»Ä¨²¹ ¿¶˜ ¶ü¯š»œØ¥°Þ œ°Ò¸ ˜µÒ µ˜¥µÇ“²¶¾Ê˜¯—.̧ 

• ‰—¾ ̧ ‰³È§²‰à, ü°½˜Äà, ½‹¯ý²‰à †Ò°ª „Ì¥¶ãÔ¦°Þ ˜µÒ 
„Ê¯¤°¥°¾—¹. 

• ¶ü¯š»Äà £§¤¯¨Ì°§²¹ œÞ‰°¤°È²Ê¸. 

• ¶½ã¯½‹¯£²‰à µüÛ¯œ¯‰¯Ì ‰¯Þ¾²¶§Ý¦²‰à ˆ©°µ‰¤²á ˆ¥² 
ƒ§‰¶̧½“¯—°‰¸ „ã‰¥—ª²¹ ã¥±À¯®¯¨°Þ „ã¶¤¯‹°¾²ª¯Ï ã¯“°ß. 

Reg. No. : .....................................  Code No. 5067 

Name : ........................................   
  Time : 2½ Hours 
  Cool-off time : 15 Minutes 
 

Part – III 

HISTORY 
Maximum : 80 Scores 
(Map to Accompany) 

(For the Hearing Impaired – Special Schools) 
 

 

Second Year – March 2017 
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1. State the following statements are true or false : 

 (a) Brahmi is deciphered by John Marshall. 

 (b) Harappa is the first discovered Indus site. 

 (c) Allahabad Pillar Inscription (Prayag Prasasti) is composed by Harisena. 

 (d) The first gold coins were issued by Guptas. 

 (e) Mahajanapadas are eighteen in number. (Scores : 5) 

 

2. Point out different views regarding the decline of Harappan civilization. (Scores : 4) 

 

3. Did Mauryas maintain a good administrative system ? Examine. (Scores : 4) 

 

4. Identify the occupations of each Varna according to Dharma-Sastras. (Scores : 2) 

 

5. What you know about the authors of Mahabharata ? (Scores : 2) 

 

6. On the outline map provided, mark the following places related to Buddhism. 

 (a) Sanchi 

 (b) Amaravati 

 (c) Lumbini 

 (d) Bodhgaya (Scores : 4) 

 

7. What are the important messages given by Mahavira ? (Scores : 4) 
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1. ˜¯µ©Ô¦¤²Ò ½ãŸ¸̃ ¯ªœ‰à «¥°¶¤¯ µ˜¶Ý¯ †Ò ̧‰µÊÌ²‰ : 

 (a) ½¡¯®£̧° ª¯¤°µÅ“²Ì˜̧ ¶×¯É £¯Ü¬§¯—̧. 

 (b) µµŸœ›̧ª œ‹¥Ä¨°Þ ‚š»£¯¤° ‰µÊÌ°¤°È²á˜ ̧®¯¥Ô¤¯—̧. 

 (c) ¿§®¡¯š ̧Ÿ¸˜¹¢ §°Š°˜¹ (½ã¤¯‹ ̧ ½ã«Ÿ¸˜°) ˜Û¯¦¯¾°¤˜ ̧®¥°¶Ÿœ-
œ¯—̧. 

 (d) ‚š»£¯¤° Ÿ¼ÜË œ¯—¤Äà ƒ¦¾°¤˜ ̧‹²ã¸̃ Ó¯¥¯—̧. 

 (e) £®¯×œã™Äà ã˜°µœÈË£²Ê.̧ (Ÿ¶̧‰¯ÜŸ̧ : 5) 

 

2. ®¯¥ÔÏ Ÿ¹Ÿ‰̧¯¥Ì°µú ã˜œµÌ¾²¦°Å²á ª»˜»Ÿ¸˜ ¿¢°½ã¯¤Äà 

ü³Ê°¾¯—°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

3. £·¥»Ó¯Ü¾¸ ˆ¥² œß ¢¥— Ÿ¹ª°›¯œ¹ „Ê¯¤°¥²¶Ò¯ ? ã¥°¶«¯›°¾²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

4. ›ÜÙ «¯Ÿ½̧˜ ½‹ñÄ¨²Ÿ¥°Å ̧ ˆ¯¶¥¯ ªÜËÌ°§²¹ µãÈª¥²µ“ µ˜¯©°§²‰à 

‰µÊÌ²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

5. £®¯¢¯¥˜¹ ¥ü¤°˜¯¾µ¨¾²¦°Å¸ œ°Äàµ¾Ð¦°¤¯¹ ? (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

6. ˜Ò°¥°¾²Ò ¢³ã“Ì°µú ¥³ã¶¥Š¤°Þ ˜¯µ©Ô¦¤²Ò ¡²Î£˜ ¶‰½ÑÄà 

¿“¤¯¨µÔ“²Ì²‰. 

 (a) Ÿ¯Æ° 

 (b) ¿£¥¯ª˜° 

 (c) §²¹¡°œ° 

 (d) ¶¡¯›‹¤ (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

7. £®¯ª±¥Ï œ§¸‰°¤°È²á ½ã›¯œ Ÿ¶Ñ«Äà ‡µ˜¯µ¾¤¯—̧ ? (Ÿ¶̧‰¯ÜŸ̧ : 4) 
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8. Prepare an essay about the writings of travellers visited India during the medieval 
period. 

 Areas to be covered 

 • Al-Beruni 

 • Ibn Battuta 

 • Bernier 

 • Barbosa 

 • Tavernier 

OR 

 List out chief exponents of Bhakti movement and describe their ideas and activities. 

     (Scores : 8) 

9. Link ‘A’ column with ‘B’ :  

A B 

Amaranayaka Forest dwellers 

Kisan Panchayath Headmen 

Zamindar Peasants 

Jangli Military Commanders 

Muqaddam Landed Proprietors 

      (Scores : 5) 

 

10. Give a description of Mughal Court. (Scores : 4) 

 

11. How will you connect the name Mackenzie with historical city, Hampi ? (Scores : 3) 

 

12. What you mean by the ‘Fifth Report’ ? (Scores : 3) 

 

13. Identify at least four leaders of 1857 rebellion with their centres. (Scores : 4) 
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8. £›»‰¯§ŒÈÌ°Þ ƒÐ» ŸÑÜ«°Å ŸÆ¯¥°‰¨²µ“ †©²Ì²‰µ¨¾²¦°Å ̧ ˆ¥² 
½ã¡œ›̧¹ ˜Û¯¦¯¾²‰. 

 ã¥°‹—°¶¾Ê ª»ø°‰à : 

 • ¿Þ-¡°¦³œ° 

 • ƒ¡Ï̧ ¡Ì³Ì 

 • ¡Ü—°¤Ü 

 • ¡Ü¶¡¯Ÿ 

 • “¯ªÜ—°¤Ü 
¿µßÃ°Þ 

 ¢ø° ½ãð¯œÌ°µú ½ã›¯œ ªø¯¾µ¨¾²¦°Å ̧ ˆ¥² ãÈ°‰ ˜Û¯¦¯¾²Ò-
¶˜¯µ“¯Ô¹ ¿ª¥²µ“ ‚«¤Ä¨²¹ ½ãªÜÌœÄ¨²¹ ª°«š±‰¥°¾²‰. 

     (Ÿ¶̧‰¯ÜŸ̧ : 8) 
9. ‘†’ ¶‰¯¨¹ ‘¡°’¤²£¯¤° ¡œ›̧°Ô°¾²‰ :  

† ¡° 

¿£¥œ¯¤‰ ‰¯È°Þ ªŸ°¾²ÒªÜ 

‰°Ÿ¯Ï ãÆ¯¤Ì¸ ˜§ªÓ¯Ü 

µŸ£±Ñ¯Ü ‰Ü¬‰Ü 

×¹‹ÿ° £°§°Ý¦° ‰£¯ÊÜ£¯Ü 

£²Šš¹ ¢³Ÿ¼Ì ̧„áªÜ 

      (Ÿ¶̧‰¯ÜŸ̧ : 5) 

 
10. £²‹à ¥¯×¯›¯œ°µ¤¾²¦°Å ̧ˆ¥² ª°ª¥—¹ œ§¸‰²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 
11. ü¥°½˜ œ‹¥£¯¤ ®¹ã°¤²£¯¤° µ£¾ÏŸ° †Ò ¶ãÜ †Äµœ¤¯—̧ ¡œ›̧-

µÔ“²Ì²‰ ?  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 
12. ‘ý°ýÌ̧¸ ¦°¶Ô¯ÜÈ¸’ †Ò˜²µ‰¯Ê ̧œ°Äà †Ð¯—²¶Í«°¾²Ò˜¸ ? (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 
13. 1857 ‰§¯ãÌ°µ§ ‡µ˜Ã°§²¹ œ¯§ ̧ ¶œ˜¯¾¨²¹ ¿ª¥²µ“ ¶‰½ÑÄ¨²¹ 

‰µÊÌ²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 4) 
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14. Arrange the following events in chronological order : 

 (a) Salt Satyagraha 

 (b) Quit India Movement 

 (c) Champaran 

 (d) Non-Cooperation Movement 

 (e) Assassination of Gandhiji (Scores : 5) 

 

15. Explain the importance of Lahore session of Indian National Congress-1929. (Scores : 3) 

 

16. Discuss the circumstances led to the Partition of India. (Scores : 4) 

 

17. Prepare an essay on the early resistance movements in Kerala against colonialism. 
Points to be included : Pazhassi, Veluthampi, Paliath Achan, Kurichya, Mappila 
outbreaks. 

OR 

 Write an article on the Inland and Overseas trade in Kerala during the medieval period. 

      (Scores : 8) 

 

18. Write a note on different types of Megalithic monuments. (Scores : 3) 

 

19. Choose the correct answer from the given alternatives : 

 (a) The first book completely printed in Malayalam. 

  (Indulekha, Samkshepavedartham, Sabdatharavali, Sarada) 

 (b) Rajyasamacharam is a  

  (Novel, Drama, Newspaper, Sacred book) 

 (c) The first English School started by 

  (Swathithirunal, Lakshmibai, Vishakham Thirunal, Sreemoolam Thirunal) 

 (d) Guruvayur Satyagraha was held in 

  (1942-43, 1931-32, 1916-17, 1950-51) 

 (e) Which place was under the direct British rule ? 

  (Malabar, Mahi, Travancore, Kochi) (Scores : 5) 

____________ 
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14. ˜¯µ©Ô¦¤²Ò Ÿ¹¢ªÄà ‰¯§½‰£Ì°Þ †©²˜²‰ : 

 (a) „Ô¸ Ÿ˜»¯½‹®¹ 
 (b) ‰¼°Ý ̧ƒÐ» Ÿ£¥¹ 
 (c) üØ¯¥Ï 
 (d) œ°æ®‰¥— ½ãð¯œ¹ 
 (e) ‹¯œ›̧°×°¤²µ“ ª›¹ (Ÿ¶̧‰¯ÜŸ̧ : 5) 
 
15. 1929-µ§ ƒÐ»Ï œ¯¬—Þ ¶‰¯É½‹æ°µú §¯¶®¯Ü Ÿ¶Ù¨œÌ°µú ½ã¯›¯œ»¹ 

ª°ª¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
16. ƒÐ»¯ ª°¢×œÌ°¶§¾ ̧œ¤°Å Ÿ¯®ü¥»Äà üÜÅ µüÛ²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 
17. µ‰¯¶¨¯—°¤§°ŸÌ°µœ˜°¥¯¤° ¶‰¥¨Ì°Þ œ“Ò ‚š»‰¯§ µü¦²Ì² 

œ°§ã̧²‰µ¨¾²¦°Å ̧ˆ¥² ½ã¡œ›̧¹ ˜Û¯¦¯¾²‰. 
 „àµÔ“²¶ÌÊ²Ò ªŸ¸˜²˜‰à : 

 ã©ä°, ¶ª§²ÌØ°, ã¯§°¤Ì ̧¿íÏ, ‰²¦°ü», £¯Ô°¨ ‰§¯ãÄà 
¿µßÃ°Þ 

 £›» ‰¯§ŒÈÌ°Þ ¶‰¥¨Ì°Þ œ°§œ°Ò°¥²Ò ‚¢»Ð¥ª²¹ µµª¶š«°‰ª²£¯¤ 

‰Åª“µÌ¾²¦°Å ̧ˆ¥² „ãœ»¯Ÿ¹ ˜Û¯¦¯¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 8) 
 
18. £®¯«°§¯Ÿ£̧¯¥‰Ä¨°µ§ ª»˜»Ÿ¸̃  ƒœÄµ¨¾²¦°Å¸ ˆ¥² ‰²¦°Ô ̧˜Û¯¦¯¾²‰. 
      (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
19. ˜¯µ© µ‰¯“²Ì°¥°¾²Òª¤°Þ œ°Ò²¹ «¥°¤²Ì¥¹ µ˜¥µÇ“²µÌ©²˜²‰ : 
 (a) ã³ÜË£¯¤²¹ £§¤¯¨Ì°Þ ¿Å“°Å ‚š» ‰´˜°. 
  (ƒÑ²¶§Š, Ÿ¹¶Àã ¶ªš¯Ü˜™̧¹, «ì˜¯¥¯ª§°, «¯¥š) 
 (b) ¥¯×»Ÿ£¯ü¯¥¹ ˆ¥² ______ ‚—̧. 
  (¶œ¯ªÞ, œ¯“‰¹, ªÜÌ£¯œã½˜¹, ª°«²Î ½‹ñ¹) 
 (c) ‚š» ƒ¹‹ÿ±¬¸ Ÿ‰̧³à ð¯ã°Å˜̧  
  (Ÿ¼¯˜°˜°¥²œ¯à, §À¸£±¢¯¤°, ª°«¯Š¹ ˜°¥²œ¯à, ½«±£³§¹ ˜°¥²œ¯à) 
 (d) ‹²¥²ª¯¤³Ü Ÿ˜»¯½‹®¹ œ“Ò˜¸ 
  (1942-43, 1931-32, 1916-17, 1950-51) 
 (e) ¶œ¥°È²á ½¡°È±¬ ̧¢¥—Ì°Ï ‰±©°§²Ê¯¤°¥²Ò ð§¹ ‡˜¯—̧ ? 
  (£§¡¯Ü, £¯®°, ˜°¥²ª°˜¯¹‰³Ü, µ‰¯Å°) (Ÿ¶̧‰¯ÜŸ̧ : 5) 

____________ 
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1. Name the mechanism used in capitalist economy to solve the central problem.   
 (a) Planning 
 (b) Price mechanism  
 (c) Rationing 
 (d) Price control    (Score : 1) 
 
2. Define GDP deflator. Suppose a country produces only wheat during 2014, it had 

produced 1000 kg of wheat and the price was ` 10 per kg. In 2015 the same country – 
produced 1100 kg of wheat at price ` 12 per kg. Find GDP deflator in percentage terms.  

       (Scores : 4) 
 
3. Two cases of the change in demand are mentioned below :  
 (i) Demand increases due to decrease in price.  
 (ii) Demand increases due to increase income.  
 Mention the terms in Case I and Case II.    (Scores : 2) 
 

4. Which is not the function of a Central Bank ?  
 (a) Issue of currency  
 (b) Banker to Government   
 (c) Giving loans to public 
 (d) Banker’s Bank   (Score : 1) 
 
5. From the table identify the different levels of output which makes different phases of 

the operation of laws of returns to scale.   
Variable 

Input 
Output Stages of 

production 
1 10  
2 20  
3 30  
4 30  
5 28  
6 26  

       (Scores : 3) 
 

6. Categorise the following taxes into direct and indirect tax :  
 (a) Income Tax 
 (b) Sales Tax 
 (c) Corporate Tax 
 (d) Service Tax 
 (e) Wealth Tax    (Scores : 5) 
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1. £²˜§¯¨°Ì ª»ªð¤°Þ Ÿ¯ØÌ°‰ ½ã«œ̧Äµ¨ ã¥°®¥°¾²Ò˜ ̧ ‡˜ ̧

Ÿ¹ª°›¯œÌ°§³µ“¤¯—̧ ?   
 (a) ‚Ÿ³½˜—¹ 
 (b) µµ½ãŸ¸ µ£¾¯œ°Ÿ¹ 
 (c) ¶¦¬œ°¹‹¸ 
 (d) ª°§ œ°¤½Ð—¹   (Ÿ¶̧‰¯Ü : 1) 
 
2. ×°•°ã° •°¶ýÿÝÜ œ°Üâü°¾²‰. ¶‹¯˜Ø²£¯½˜¹ „§¸Ô¯š°Ô°¾²Ò ¥¯×»Ì¸           

2014 Þ ¤³—°Ý°œ̧ 10 ¥³ã œ°¥¾°Þ ‚¢»Ð¶¥¯§̧Ô¯šœ¹ 1000 kg. ¶‹¯˜Ø¯¤°¥²Ò². 
‚ ¥¯×»¹ 2015Þ ¤³—°Ý°œ ̧12 ¥³ã œ°¥¾°Þ 1100 kg. ¶‹¯˜Ø ̧„§Ô̧¯š°Ô°Å². 
×°•°ã° •°¶ýÿÝÜ «˜£¯œ¯“°ð¯œÌ°Þ ‰—¾¯¾²‰.  

       (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 
3. ¶ü¯šœ ª»˜»¯ŸÌ°µú ¥Ê¸ Ÿ¯›»˜‰à ˜¯µ© µ‰¯“²Ì°¥°¾²Ò² :  
 (i) ª°§ ‰²¦¤²Ò˜²£³§¹ ¶ü¯šœ¹ ‰³“²Ò².  
 (ii) ª¥²£¯œ¹ ‰³“²Ò˜²£³§¹ ¶ü¯šœ¹ ‰³“²Ò².  
 ¶£Þ ã¦Ç°¥°¾²Òª¤²µ“ «¥°¤¯¤ ãšÄà †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
4. ˜¯µ© µ‰¯“²Ì°¥°¾²Òª¤°Þ ¶‰½Ñ ¡¯Ã°µú ›ÜÙ£ß¯Ì˜ ̧‡˜̧ ?  
 (a) ¶œ¯È°¦¾Þ 
 (b) ‹ªµïú°µú ¡¯Ã ̧  
 (c) µã¯˜² ×œÄà¾¸ ª¯¤¸ã œ§‰̧Þ 
 (d) ¡¯Ã²‰¨²µ“ ¡¯Ã¸   (Ÿ¶̧‰¯Ü : 1) 
 
5. ˜¯µ© ˜Ò°¥°¾²Ò ª°¶¢š‰¯œ²ã¯˜ ãÈ°‰¤°Þ œ°Ò²¹ ª°¶¢š‰¯œ²ã¯˜ 

œ°¤£Ì°µú ª°ª°› ŒÈÄà ‰¯—°¾²Ò „§¸ÔÒ ¿¨ª²‰à ‰µÊÌ²‰.  
Variable 

Input 
Output Stages of 

production 
1 10  
2 20  
3 30  
4 30  
5 28  
6 26  

       (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 

6. ˜¯µ© µ‰¯“²Ì°¥°¾²Ò œ°‰²˜° ƒœÄµ¨ ½ã˜»À, ã¶¥¯À œ°‰²˜°‰µ¨Ò² 
˜¥¹ ˜°¥°¾²‰ : 

 (a) ª¥²£¯œ œ°‰²˜° 
 (b) ª¯—°×» œ°‰²˜° 
 (c) ¶‰¯ÜÔ¶¦Ý ̧œ°‰²˜° 
 (d) ¶Ÿªœ œ°‰²˜° 
 (e) µªÞÌ¸ œ°‰²˜°   (Ÿ¶̧‰¯ÜŸ̧ : 5) 
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7. From the production possibility frontier drawn below, find out the point that shows 
unattainable combination of output.  

 
 (a) Point A  (b) Point E 
 (c) Point B  (d) Point F (Score : 1) 
 
8. Define exchange rate. If 300 Indian Rupees are exchanged for 5 American dollars, what 

is the exchange rate between Dollar and Rupee ?  (Scores : 4) 
 
9. The problem of how to produce is related to  
 (a) Distribution  (b) Production  
 (c) Technology  (d) Consumption  (Score : 1) 
 
10. Under Monopoly, a firm maximises profit at that level of output for which the               

MR = MC and MC is rising. Diagrammatically show the short run equilibrium of a firm 
under monopoly using average and marginal cost curves.  (Scores : 8) 

 
11. Which of the following statement is correct ? 
 (a) Primary deficit = Fiscal deficit + Interest Payments  
 (b) Primary deficit = Fiscal deficit – Interest Payments 
 (c) Primary deficit = Total receipts – Total expenditure 
 (d) Primary deficit = Revenue receipts – expenditure  (Score : 1) 
 
12. The following table gives information about price and expenditure. Prepare demand 

schedule and demand curve :   
Price (in `) Expenditure  

2 60  
3 60  
4 60  
5 60 (Scores : 4) 
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7. ˜¯µ© µ‰¯“²Ì°¥°¾²Ò production possibility frontier-Þ œ°Ò²¹ output-µú 

unattainable combination point ‰Ê²ã°“°¾²‰. 

 
 (a) Point A  (b) Point E 
 (c) Point B  (d) Point F (Ÿ¶̧‰¯Ü : 1) 
 
8. ª°œ°£¤ œ°¥¾ ̧œ°Üâü°¾²‰. 5 ¿¶£¥°¾Ï ¶•¯¨Ü §¢°¾²Ò˜°œ¸ 300 ƒÐ»Ï 

¥³ã ‚ª«»µ£Ã°Þ, ¶•¯¨¦²¹ ƒÐ»Ï ¥³ã¤²¹ ˜Ù°§²á ª°œ°£¤ œ°¥¾¸ 
‰Ê²ã°“°¾²‰.     (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 
9. †Äµœ „§¸Ô¯š°Ô°¾—¹ †Ò ½ã«œ̧¹ †Ð°µœ Ÿ³ü°Ô°¾²Ò² ?  
 (a) ª°˜¥—¹  (b) „§Ô̧¯šœ¹ 
 (c) Ÿ¯¶Ã˜°‰ª°š» (d) „ã¶¢¯‹¹ (Ÿ¶̧‰¯Ü : 1) 
 
10. ½®Ÿ¼ ‰¯§¤¨ª°Þ ‰²Ì‰ ‰¶Ø¯¨ ª»ªð¤°µ§ ˆ¥² „§Ô̧¯šœ ¤³—°Ý ̧

ã¥£¯ª›° §¯¢¹ ¶œ“²Ò˜̧ Ÿ±£¯Ð µü§ª ̧ ª½‰ª²¹ Ÿ±£¯Ð ª¥²£¯œ ª½‰ª²¹ 
˜²ß»£¯‰²Ò˜²¹ Ÿ±£¯Ð µü§ª ̧ª½‰¹ „¤¥²Ò ¿ªð¤°§²£¯—̧. ü°½˜Ì°µú 
Ÿ®¯¤¶Ì¯µ“ ½®Ÿ¼‰¯§¤¨ª°Þ ã¥£¯ª›° §¯¢¹ ¶œ“²Ò ¸̃ ª°«š£¯¾²‰. 

        (Ÿ¶̧‰¯ÜŸ̧ : 8) 
 
11. ˜¯µ©Ô¦¤²Òª¤°Þ «¥°¤¯¤ ª¯‰»¶£˜ ̧ ? 
 (a) ½ã¯™£°‰ ‰Ù° = ›œ‰Ù° + ã§°«¤“ª¸ 
 (b) ½ã¯™£°‰ ‰Ù° = ›œ‰Ù° – ã§°«¤“ª¸ 
 (c) ½ã¯™£°‰ ‰Ù° = µ£¯Ì¹ ª¥ª¸ – µ£¯Ì¹ µü§ª¸ 
 (d) ½ã¯™£°‰ ‰Ù° = ¦ªœ»³ ª¥²£¯œ¹ – µü§ª¸ (Ÿ¶̧‰¯Ü : 1) 
 
12. ˜¯µ© µ‰¯“²Ì°¥°¾²Ò ª°§¤²¶“¤²¹ µü§ª°µú¤²¹ ãÈ°‰¤°Þ œ°Ò²¹ ¶ü¯šœ 

ãÈ°‰¤²¹ ¶ü¯šœ ª½‰ª²¹ ˜Û¯¦¯¾²‰  :   
Price (in `) Expenditure  

2 60  
3 60  
4 60  
5 60 (Ÿ¶̧‰¯ÜŸ̧ : 4) 
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13. Who is called the Father of Modern Macro Economics ?  
 (a) J.M. Keynes 
 (b) Adam Smith 
 (c) J.B. Say 
 (d) Ricardo     (Score : 1) 
 
14. Study the following information and identify three types of price elasticity.  
 (a) Total expenditure increases with increase in price. 
 (b) Total expenditure decreases with increase in price. 
 (c) Total expenditure remains same with increase in price.  (Scores : 3) 
 
15. On the basis of the given information, answer the following questions :   

Income 
(Y) 

Consumption 
(C) 

Investment 
(I) 

0 10 10 
10 15 10 
20 20 10 
30 25 10 
40 30 10 
50 35 10 
60 40 10 
70 45 10 

 (a) Derive aggregate demand for various level of income.  
 (b) Derive APC and MPC.  
 (c) What is the equilibrium level of income ?  
 (d) Graphically show the aggregate demand curve.  (Scores : 8) 
 
16. From the given information identify the market structure :  

Price Output 
5 10 
5 20 
5 30 

 (a) Monopoly  
 (b) Perfect competition  
 (c) Monopolistic competition  
 (d) Oligopoly     (Score : 1) 
 
17. Differentiate between depreciation and devaluation of currency.  (Scores : 2) 
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13. œ³˜œ ð³§ Ÿ¯ØÌ°‰«¯Ÿ½̧˜Ì°µú ã°˜¯ª ̧†Ò¦°¤µÔ“²Ò˜¯¥¸ ?  

 (a) µ×.†¹. µ‰¤°ÏŸ¸ (b) ‚•¹ Ÿ£̧°Ì ̧
 (c) µ×.¡°. ¶Ÿ (d) ¦°¾¯Ü¶•¯  (Ÿ¶̧‰¯Ü : 1) 
 
14. ˜¯µ©Ô¦¤²Ò ª°«š¯¹«Ä¨²µ“ ¿“°ð¯œÌ°Þ £³Ò²˜¥¹ ª°§ ƒ§¯Ÿ¸˜°‰˜ 

‰µÊÌ²‰  
 (a) ª°§ „¤¥²¶Ø¯à µ£¯Ìµü§ª¸ „¤¥²Ò². 
 (b) ª°§ „¤¥²¶Ø¯à µ£¯Ìµü§ª¸ ‰²¦¤²Ò². 
 (c) ª°§ „¤¥²¶Ø¯à µ£¯Ìµü§ª¸ ð°¥£¯‰²Ò².  (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
15. ˜Ò°¥°¾²Ò ª°ª¥Ä¨°Þ œ°Ò²¹ ˜¯µ©Ô¦¤²Ò ¶ü¯š»Äà¾¸ „Ì¥¹ †©²˜²‰ :   

Income 
(Y) 

Consumption 
(C) 

Investment 
(I) 

0 10 10 
10 15 10 
20 20 10 
30 25 10 
40 30 10 
50 35 10 
60 40 10 
70 45 10 

 (a) ª°ª°› ª¥²£¯œ œ°§ª¯¥Ì°Þ µ£¯Ì ¶ü¯šœ¹ ‰µÊÌ²‰.  
 (b) «¥¯«¥° „ã¶¢¯‹¯¢°œ°¶ª«¹, Ÿ±£¯Ð „ã¶¢¯‹¯¢°œ°¶ª«¹ †Ò°ª 

‰µÊÌ²‰.  
 (c) ŸÐ²§°˜ ª¥²£¯œ¹ ‡˜¯— ̧?  
 (d) µ£¯Ì ¶ü¯šœÌ°µú ü°½˜¹ ª¥¤¾̧²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 8) 
 
16. ˜¯µ© ˜Ò°¥°¾²Ò ª°ª¥Ä¨°Þ œ°Ò²¹ ‰¶Ø¯¨ ª»ªð ‰µÊÌ²‰ :  

Price Output 
5 10 
5 20 
5 30 

 (a) ‰²Ì‰ 
 (b) ã³ÜË£˜̧Ÿ¥ ‰¶Ø¯¨¹  
 (c) ‰²Ì‰£˜̧Ÿ¥ ‰¶Ø¯¨¹  
 (d) ˆ¨°¶‹¯µã¯¨°   (Ÿ¶̧‰¯Ü : 1) 
 
17. ‰¦ÏŸ°¤²µ“ £³§»¶«¯¬—ª²¹ ¿ª£³§»œª²¹ (devaluation) ˜Ù°§²á ª»˜»¯Ÿ-

µ£Ð ̧?      (Ÿ¶̧‰¯ÜŸ̧ : 2) 
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18. Suppose the demand and supply curves of sugar is given by  
 qD = 800 – p 
 qS = 500 + 2p 
 (a) Find the equilibrium price and quantity.  
 (b) Now suppose that the cost of production of sugar has increased, so that the new 

supply curve is;  
  qS = 200 + 2p 
  How does the equilibrium price and quantity change ?  (Scores : 5) 
 
19. Which is not the leakage in a four sector economy ?  
 (a) Savings  (b) Taxes 
 (c) Investment  (d) Imports  (Score : 1) 
 
20. The following table shows the ‘TR’ and ‘TC’ schedules of a competitive firm : 

Qty. Sold TR TC 
0 30 15 
1 40 17 
2 50 20 
3 60 22 
4 70 25 
5 80 33 
6 90 50 
7 100 62 

 Calculate  
 (a) The profit at each output level 
 (b) Find the profit maximisation level of output.  (Scores : 5) 
 
21. Total expenditure of a government budget is ` 50,000 crores and total receipts is           ` 

40,000 crores. How much is the budget deficit ? (Scores : 2) 
 
22. From the diagram given below, if a firm increases its output from Q1 to Q2, the firm :  

 
 (a) Increases its profit (b) Decreases its profit 
 (c) Increases its cost (d) Decreases its cost (Score : 1) 
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18. ãÆŸ¯¥¤²µ“ ¶ü¯šœ, ½ãš¯œ Ÿ£ª¯‰»Äà ˜Ò°¥°¾²Ò² : 
 qD = 800 – p 
 qS = 500 + 2p 
 (a) Ÿ£˜²§°˜ ª°§¤²¹ „§̧ÔÒ ¿¨ª²¹ ‰µÊÌ²‰.  
 (b) ãÆŸ¯¥¤²µ“ „§̧Ô¯šœ µü§ª̧ ªÜÎ°Å² †Ò°¥°¾µÈ, ˜Þý§£¯¤²á 

ª°˜¥— Ÿ£ª¯‰»¹   
  qS = 200 + 2p 
  Ÿ£˜²§°˜ ª°§¤°§²¹ „§̧ÔÒ ¿¨ª°§²¹ †Ð̧ £¯Ý£¯—̧ ƒ˜²Ê¯¾²Ò˜̧ ?   
       (Ÿ¶̧‰¯ÜŸ̧ : 5) 
 

19. œ¯§² ¶£Š§‰¨²á ˆ¥² ŸØş̌ ª»ªð¤°µ§ §±¶¾×̧ ¿ß¯Ì˜̧ ‡˜¯—̧ ?  
 (a) ŸØ¯š»¹  (b) œ°‰²˜°‰à 
 (c) œ°¶Àã¹  (d) ƒ¦¾²£˜° (Ÿ¶̧‰¯Ü : 1) 
 

20. ã³ÜË ‰¶Ø¯¨Ì°µ§ „§̧Ô¯šœ ¤³—°Ý°µú  TR, TC ãÈ°‰ ü²ªµ“ ¶üÜÌ°¥°¾²Ò² : 
Qty. Sold TR TC 

0 30 15 
1 40 17 
2 50 20 
3 60 22 
4 70 25 
5 80 33 
6 90 50 
7 100 62 

 (a) ˆ¯¶¥¯ „§̧ÔÒ œ°§ª¯¥Ì°¶§¤²¹ §¯¢¹ ‰µÊÌ²‰. 
 (b) §¯¢¹ ã¥£¯ª›°¤¯‰²Ò „§̧ÔÒ œ°§ª¯¥¹ ‰µÊÌ²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 5) 
 

21. ˆ¥² ‹ªµïú   ̧¡×Ý°Þ µ£¯Ì¹ µü§ª̧  50,000 ¶‰¯“° ¥³ã¤²¹ µ£¯Ì¹ ª¥²£¯œ¹ 
40,000 ¶‰¯“° ¥³ã¤²¹ ‚µ—Ã°Þ ¡×Ý̧ ‰Ù° †½˜ ? (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

22. ˜¯µ© µ‰¯“²Ì°¥°¾²Ò ü°½˜Ì°Þ, ˆ¥² „§̧Ô¯šœ ¤³—°Ý̧ ¿˜°µú „§̧Ô¯šœ¹ Q1 Þ 

œ°Ò²¹ Q2 ª°¶§¾̧ ªÜÎ°Ô°¾²‰¤¯µ—Ã°Þ :  

 
 (a) §¯¢¹ ªÜÎ°¾²Ò² (b) §¯¢¹ ‰²¦¤²Ò² 
 (c) µü§ª̧ ªÜÎ°¾²Ò² (d) µü§ª̧ ‰²¦¤²Ò² (Ÿ¶̧‰¯Ü : 1) 
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23. Define National Income. From the following available information, calculate National 
Income of the economy.   

      (` in Crores) 
(1) Wages and Salaries 165 
(2) Employer’s contribution to Provident Fund 05 
(3) Profit 15 
(4) Interest 20 
(5) Indirect Taxes 30 
(6) Subsidies  05 
(7) Rent 05 
(8) Net factor income from abroad 05 
(9) Consumption of fixed capital  05  (Scores : 5)  

 
24. Price ceiling is the regulation which holds the market price.  
 (a) Above the equilibrium price 
 (b) Below the equilibrium price 
 (c) Equal to the equilibrium price 
 (d) Around the equilibrium price   (Score : 1) 
 
25. RBI publishes four alternative measures of money supply. Briefly define them and 

classify them into ‘narrow money’ and ‘broad money’.  (Scores : 5) 
 
26. Draw a diagram showing Total Fixed Cost (TFC), Total Variable Cost (TVC), and 

Total Cost (TC) curves for a firm.    (Scores : 4) 
 
27. Which is not the quantitative instruments of money supply ?  
 (a) Bank rate  
 (b) Open market operation  
 (c) Margin requirements 
 (d) Variable reserve ratio   (Score : 1) 

___________ 
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23. ¶š«±¤ ª¥²£¯œ¹ œ°Üâü°¾²‰. §¢»£¯¤ ª°ª¥Ä¨°Þ œ°Ò²¹ ¶š«±¤ ª¥²£¯œ¹ 
‰—¾¯¾²‰.   

      (` in Crores) 
(1) ¶ª˜œª²¹ «Ø¨ª²¹  165 
(2) µ˜¯©°Þ š¯˜¯ª°µú Ÿ¹¢¯ªœ µ½ã¯ª°•ú ̧ ýȨ̂ 05 
(3) §¯¢¹ 15 
(4) ã§°« 20 
(5) ã¶¥¯À œ°‰²˜° 30 
(6) Ÿ¡̧Ÿ°•° 05 
(7) ª¯“‰ 05 
(8) ª°¶š«Ì²œ°Ò²á ¿Ý ª¥²£¯œ¹ 05 
(9) ¶˜¤̧£¯œ¹ 05 (Ÿ¶̧‰¯ÜŸ̧ : 5)  

 
24. ‰¶Ø¯¨ ª°§µ¤ ã¥°›° ª°§ ‡˜² ˜¥Ì°§¯—̧ œ°¤½Ð°¾²Ò˜̧  ? 
 (a) ŸÐ²§°˜ ª°§¤̧¾̧ £²‰¨°Þ 
 (b) ŸÐ²§°˜ ª°§¤̧¾̧ ˜¯µ© 
 (c) ŸÐ²§°˜ ª°§¤̧¾̧ ˜²ß»£¯¤° 

 (d) ŸÐ²§°˜ ª°§¤̧¾̧ ¿“²Ì̧   (Ÿ¶̧‰¯Ü : 1) 
 
25. RBI, ã—Ì°µú ½ãš¯œµÌ œ¯§̧ ª»˜»Ÿ̧˜ ˜¥Ì°Þ ˜¥¹ ˜°¥°Å°È²Ȩ̂. 

½®Ÿ¼£¯¤ ¿ªµ¤ œ°Üâü°¾²‰¤²¹ ‘ŸÃ²ü°˜ ã—¹’, ‘ª°«¯§ ã—¹’ †Ò°Äµœ 

˜¥¹ ˜°¥°¾²‰¤²¹ µüÛ²‰.    (Ÿ¶̧‰¯ÜŸ̧ : 5) 
 
26. ˆ¥² ü°½˜Ì°Þ  TFC, TVC, TC †Ò°ª ª¥¤̧¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 
27. ã—Ì°µú ½ãš¯œÌ°µú ¿¨ª² œ°¤½Ð— (quantitative instrument) ¿ß¯Ì˜̧ 

‡˜̧  ?  
 (a) ¡¯Ã̧ œ°¥¾̧  
 (b) ª°ã—°¤°Þ ƒ“µã“Þ  
 (c) £¯Ü×°Ï œ°õ¤°¾Þ 
 (d) ‰¥²˜Þ ›œ ¿œ²ã¯˜¹   (Ÿ¶̧‰¯Ü : 1) 

___________ 
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General Instructions to Candidates : 
• There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2½  hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the ‘cool-off time’. 
• Use the ‘cool-off time’ to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
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1. Who wrote the book Sociological Imagination ? 

 (a) Max Weber (b) C. Wright Mills 

 (c) S.C. Dube (d) M.N. Srinivas (Score : 1) 

  

2. Colonialism gave birth to it’s own enemy called – 

 (a) Regionalism (b) Communalism 

 (c) Communism (d) Nationalism (Score : 1) 

 

3. Bring out the major features of social movements. Example – ideologies, aims, etc. 

       (Scores : 4) 

 

4. Give a brief note on Dalit Movements in India. Examples – Chamars, Mahar, etc.  

       (Scores : 4) 

 

5. F.M. Channels are popular in  _______ areas.  

 (a) Urban  (b) Rural 

 (c) Tribal  (d) None of these (Score : 1) 

 

6. ________ is a State controlled TV channel. 

 (a) Udaya TV (b) Sun TV 

 (c) Star TV  (d) Doordarshan (Score : 1) 

 

7. Illustrate the importance of Print Media.   (Scores : 3) 

 

8. Briefly examine the role of trade unions in the functioning of an industry with suitable 

examples.   (Scores : 6) 
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1. ‘¶Ÿ¯¶¬»¯¨×°¾Þ ƒ£¯×°¶œ¬Ï’ †Ò ã²Ÿ¸˜‰¹ †©²˜°¤˜¯¥ ̧ ? 

 (a) £¯‰Ÿ̧¸ µª¡Ü (b) Ÿ°. µµ¦Ý¸ £°ÞŸ¸ 

 (c) †Ÿ.̧Ÿ°. š²µ¡ (d) †¹. †Ï. ½«±œ°ª¯Ÿ¸ (Ÿ¶̧‰¯Ü : 1) 

  

2. µ‰¯¶¨¯—°¤§°Ÿ¹ ˜µú «½˜²ª¯¤ ________ œ ̧×Ó¹ œ§‰̧°. 

 (a) ¦±×°¤œ§°Ÿ¹ (b) ‰Ù»³—§°Ÿ¹ 

 (c) ‰Ù»³—°Ÿ¹ (d) œ¯¬—§°Ÿ¹ (Ÿ¶̧‰¯Ü : 1) 

 

3. Ÿ¯£³®» £²¶ÒÝÌ°µú £²Š» Œ“‰Äà ‡µ˜ß¯¹ ? „š¯®¥—¹ – ‚«¤Äà, 

§À»Äà £²˜§¯¤ª.   (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

4. š¨°˜̧ £²¶ÒÝÄµ¨¾²¦°Å ̧ˆ¥² §Œ² ª°ª¥—¹ œÞ‰²‰. „š¯®¥—¹ ü£¯Ü, £®Ü 

£²¶ÒÝÄà.    (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

5. †ý.̧ †¹. ü¯œ§²‰à   _______ ‡¥°¤¤°§¯—̧ ½ã¯£²Š»£²á˜.̧ 

 (a) ãÈ—¹  (b) ½‹¯£¹ 

 (c) ‚š°ª¯Ÿ° ¶£Š§ (d) ƒµ˜¯Ò²£ß (Ÿ¶̧‰¯Ü : 1) 

 

6. Ÿ¹ð¯œ œ°¤½Ð—Ì°§²á TV ü¯œÞ ________ 

 (a) „š¤ TV (b) ŸÉ TV 

 (c) è¯Ü TV (d) š³ÜšÜ«Ï (Ÿ¶̧‰¯Ü : 1) 

 

7. ¿Å“° £¯›»£Ä¨²µ“ ½ã¯›¯œ»¹ „š¯®¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

8. ª»¯ªŸ¯¤ ð¯ãœÄ¨²µ“ œ“Ì°Ô°œ¸ µ˜¯©°§¯¨° Ÿ¹Œ“œ‰¨²µ“ ãÃ̧ 

„š¯®¥—Ÿ®°˜¹ ª»ø£¯¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 6)     
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9. Match the following : 

 (a) Zamindari System – Labouring class 

 (b) High yielding seeds – Dominant caste 

 (c) Migrant Workers – Related to land 

 (d) Untouchables – Green Revolution 

 (e) M.N. Srinivas – Foot loose workers  

       (Scores : 1+1+1+1+1 = 5) 

 

10. Explain the functions of Panchayat Raj institutions and how it is helpful to Social 

transformation.   (Scores : 6) 

 

11. Analyse different kinds of Social change according to the view of M.N. Srinivas.  

 Hints – Sanskritisation, Westernisation.   (Scores : 5) 

 

12. Discuss the process of urbanisation and industrialisation in independent India. (Scores : 5)   

 

13. Briefly explain the different dimensions of globalisation. Example : Economic, 

Cultural, etc.    (Scores : 5) 

 

14. Critically analyse the theories of population. 

 (a) Malthusian theory  

 (b) Demographic transition theory   (Scores : 4+4 = 8) 

 

15. Discuss the changes happened in the caste system of India. 

 (a) Varna System 

 (b) Features of Caste System 

 (c) Caste in the present society   (Scores : 2+2+2 = 6) 
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9. ¶ü¥²¹ã“° ¶üÜ¾²‰ : 

 (a) ×£°Ñ¯¥° Ÿ½Øš¯¤¹ – µ˜¯©°§¯¨° ªÜÁ¹ 

 (b) ¿˜»²§¸Ô¯šœ ¶«¬°¤²á ª°Ì²‰à – „¤ÜÒ ×¯˜° 

 (c) ‰²“°¶¤Ý µ˜¯©°§¯¨°‰à – ¢³£°¤²£¯¤° ¡œ›̧µÔÈ ¸̃ 

 (d) µ˜¯È²‰³“¯ÌªÜ – ®¥°˜ ª°ãÿª¹ 

 (e) †¹.†Ï. ½«±œ°ª¯Ÿ¸ – ý³È ̧§³Ÿ¸ µ˜¯©°§¯¨°‰à  

       (Ÿ¶̧‰¯ÜŸ̧ : 1+1+1+1+1 = 5) 

 

10. ãÆ¯¤Ì ̧ ¥¯× ̧ ð¯ãœÄ¨²µ“ ½ãªÜÌœÄà ª°«š±‰¥°Å ̧ ¿ª Ÿ¯£³®» 

£¯ÝÄà¾ ̧†½˜¶Ì¯¨¹ ½ã¶¤¯×œµÔÈ² †Ò ̧ª»ø£¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 6) 

 

11. †¹. †Ï. ½«±œ°ª¯Ÿ°µú ¿¢°½ã¯¤Ì°§²á Ÿ¯£³®» £¯ÝÄà ‡µ˜ß¯¹ ? 

 Ÿ³üœ‰à – Ÿ¯ÏŸ½̧‰°µÝ¶Ÿ¬Ï, ã¯õ¯˜»ª§¾̧¥—¹ (Ÿ¶̧‰¯ÜŸ̧ : 5) 

 

12. Ÿ¼˜½Ð ƒÐ»¤°µ§ œ‹¥ª§¾̧¥— ½ã½‰°¤¤²¹ ª»¯ªŸ¯¤ª§¾̧¥—ª²¹ üÜÅ 

µüÛ²‰ ?     (Ÿ¶̧‰¯ÜŸ̧ : 5)   

 

13. ‚¶‹¯¨ª§¾̧¥—Ì°µú ª°ª°› £²ŠÄà ª°«š±‰¥°¾²‰. „š¯®¥—¹ 

Ÿ¯ØÌ°‰¹, Ÿ¯¹Ÿ‰̧¯¥°‰¹, £²˜§¯¤ª.  (Ÿ¶̧‰¯ÜŸ̧ : 5) 

 

14. ×œŸ¹Š» Ÿ°Î¯ÐÄà ª°£Ü«œ¯÷‰£¯¤° ª°«‰§œ¹ µüÛ²‰. 

 (a) £¯àÌ²Ÿ°¤Ï Ÿ°Î¯Ð¹  

 (b) •¶£¯½‹¯ý°‰¸ ½“¯ÏŸ°¬Ï Ÿ°Î¯Ð¹  (Ÿ¶̧‰¯ÜŸ̧ : 4+4 = 8) 

 

15. ƒÐ»¤°µ§ ×¯˜° Ÿ½Øš¯¤Ä¨°Þ ªÒ £¯Ý¹ üÜÅ µüÛ²‰. 

 (a) ªÜË Ÿ½Øš¯¤¹ 

 (b) ×¯˜° Ÿ½Øš¯¤Ì°µú ª°ª°› £²ŠÄà 

 (c) ×¯˜° ƒÒµÌ Ÿ£³®Ì°Þ   (Ÿ¶̧‰¯ÜŸ̧ : 2+2+2 = 6) 
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16. Capitalism brings about a lot of changes in our society. Analyse the following : 

 (a) Liberalisation 

 (b) Consumerism   (Scores : 3+2 = 5) 

 

17. Explain the characteristics of social stratification. (Any four) (Scores : 4) 

  

18. Analyse untouchability as a system of exploitation. (Scores : 4)  

     

19. Prepare a brief note on Cultural diversity of India :  

 (a) Regionalism 

 (b) Communalism 

 (c) Secularism   (Scores : 2+2+2 = 6)     

__________ 
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16. £²˜§¯¨°Ì¹ œÙ²µ“ Ÿ£³®Ì°Þ ›¯¥¯¨¹ £¯ÝÄà µ‰¯Ê²ªÒ². ˜¯µ© 

ã¦¤²Òª ª°«‰§œ¹ µüÛ²‰. 

 (a) „š¯¥ª§¾̧¥—¹ 

 (b) „ã¶¢¯‹¹   (Ÿ¶̧‰¯ÜŸ̧ : 3+2 = 5) 

 

17. Ÿ¯£³®» ¶½«—°‰¥—Ì°µú ½ã¶˜»‰˜‰à †µÐß¯¹ ? (‡µ˜Ã°§²¹ œ¯µ§Ë¹) 

       (Ÿ¶̧‰¯ÜŸ̧ : 4) 

  

18. µ˜¯È²‰³“¯¤£̧ ˆ¥² ü³¬— ª»ªð (Ÿ½Øš¯¤¹) †Ò œ°§¤°Þ ª°«‰§œ¹ 

µüÛ²‰.     (Ÿ¶̧‰¯ÜŸ̧ : 4)  

 

19. ƒÐ»¤°µ§ Ÿ¯¹Ÿ‰̧¯¥°‰ µµª¥²Î»µÌ¾²¦°Å ̧ˆ¥² §Œ² ª°ª¥—¹ œ§‰̧²‰ :  

 (a) ¦±×°¤œ§°Ÿ¹ 

 (b) ‰Ù»³—§°Ÿ¹ 

 (c) µŸ‰»²§¦°Ÿ¹   (Ÿ¶̧‰¯ÜŸ̧ : 2+2+2 = 6)     

__________ 
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General Instructions to Candidates : 
• There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2½ hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the ‘cool-off time’. 
• Use the ‘cool-off time’ to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

œ°Ü¶Í«Äà : 
• œ°ÜÍ°û Ÿ£¤Ì°œ ̧ã²¦µ£ 15 £°œ°Ý̧ ‘‰³à ˆ¯ý ̧µµ“¹’ „Ê¯¤°¥°¾²¹.  ƒ· 

Ÿ£¤Ì ̧ ¶ü¯š»Äà¾ ̧ „Ì¥¹ †©²˜¯¶œ¯, £Ý²¨¨ª¥²£¯¤° 
‚«¤ª°œ°£¤¹ œ“Ì¯¶œ¯ ã¯“°ß. 

• „Ì¥Äà †©²˜²Ò˜°œ ̧£²Ø¸ ¶ü¯š»Äà ½«Î¯ã³Üâ¹ ª¯¤°¾—¹. 

• †ß¯ ¶ü¯š»Äà¾²¹ „Ì¥¹ †©²˜—¹. 

• ˆ¥² ¶ü¯š»œØÜ „Ì¥µ£©²˜¯Ï µ˜¥µÇ“²Ì² ‰©°Ç¯Þ 
„ã¶ü¯š»Ä¨²¹ ¿¶˜ ¶ü¯š»œØ¥°Þ œ°Ò¸ ˜µÒ µ˜¥µÇ“²¶¾Ê˜¯—.̧ 

• ‰—¾ ̧ ‰³È§²‰à, ü°½˜Äà, ½‹¯ý²‰à †Ò°ª „Ì¥¶ãÔ¦°Þ ˜µÒ 
„Ê¯¤°¥°¾—¹. 

• ¶ü¯š»Äà £§¤¯¨Ì°§²¹ œÞ‰°¤°È²Ê¸. 

• ¶½ã¯½‹¯£²‰à µüÛ¯œ¯‰¯Ì ‰¯Þ¾²¶§Ý¦²‰à ˆ©°µ‰¤²á ˆ¥² 
ƒ§‰¶̧½“¯—°‰¸ „ã‰¥—ª²¹ ã¥±À¯®¯¨°Þ „ã¶¤¯‹°¾²ª¯Ï ã¯“°ß. 
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1. Narrate any three challenges that independent India has to face immediately after 
independence.  (Scores : 3) 

 

2. Write the name of the first state formed on linguistic basis in India. (Score : 1) 
 

3. Write the major recommendations of the State Reorganisation Commission. (Scores : 2) 
 

4. Match the following :  

A B 

(i) Acharya Narendra Dev (a) Bharatiya Jana Sangh 

(ii) B.R. Ambedkar (b) Communist Party of India 

(iii) A.K. Gopalan (c) Praja Socialist Party 

(iv) Shyama Prasad Mukherjee (d) Scheduled Caste Federation 

     (Scores : 4) 

 

5. Evaluate the significance of Second Five Year Plan and discuss its impact in modern 
era.    (Scores : 4) 

 

6. The First Five Year Plan gave top priority to _____. 

 (a) Industry 

 (b) Commerce 

 (c) Agriculture 

 (d) Co-operative Sector (Score : 1) 
 

7. What were the three major objectives of Nehru’s Foreign Policy ? Write the strategy 
adopted by him to achieve these objectives. Evaluate the relevance of this strategy in 
contemporary international situation. (Scores : 6) 

 

8. Write a brief note on Presidential election of 1969 and its impact on Congress Party. 

     (Scores : 4) 
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1. Ÿ¼˜½Ð»¹ ‰°È°¤ „“µœ ƒÐ» ¶œ¥°¶“Ê°ªÒ µªß²ª°¨°‰¨°Þ £³µÒË¹ 

ª°«š±‰¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
2. ƒÐ»¤°Þ ¢¯¬ ¿“°ð¯œÌ°Þ ¥³ã±‰¥°Å ‚š» Ÿ¹ð¯œÌ°µú ¶ã¥̧ 

†©²˜²‰.   (Ÿ¶̧‰¯Ü : 1) 
 
3. Ÿ¹ð¯œ ã²œºŸ¹Œ“œ¯ ‰Ù±¬µú ½ã›¯œ «²ã¯Ü«‰à †©²˜²‰. 

     (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
4. ¶ü¥²¹ã“° ¶üÜ¾²‰ :  

† ¡° 

(i) ‚ü¯¥» œ¶¥½Ñ ¶šª¸ (a) ¢¯¥˜±¤ ×œ Ÿ¹Œ¸ 
(ii) ¡°.‚Ü. ¿¹¶¡š‰̧Ü (b) ‰Ù»³—°è ̧ã¯ÜÈ° ˆ¯ý ̧ƒÐ» 

(iii) †.µ‰. ¶‹¯ã¯§Ï (c) ½ã×¯ ¶Ÿ¯¬»§°ȩ̀ ã¯ÜÈ° 
(iv) «»¯£ ½ãŸ¯š ̧£²ŠÜ×° (d) µ¬•»³à•¸ ‰¯ȩ̀ µý•¶¦¬Ï 

     (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 
5. ¥Ê¯¹ ãÆª˜Ÿ̧¥ ãÎ˜°¤²µ“ ½ã¯›¯œ»¹ ª°§¤°¥²Ì²‰¤²¹ ‚›²œ°‰ 

‰¯§ŒÈµÌ ƒ˜ ̧†Äµœ Ÿ¼¯›±œ°Å² †Ò˜²¹ üÜÅ µüÛ²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 
6. ˆÒ¯¹ ãÆª˜̧Ÿ¥ ãÎ˜° £²Š» ã¥°‹—œ œ§‰̧°¤˜̧ _____ œ ̧‚—̧. 
 (a) ª»ªŸ¯¤¹ 
 (b) ª¯—°×»¹ 
 (c) ‰´¬° 
 (d) Ÿ®‰¥— ¶£Š§ (Ÿ¶̧‰¯Ü : 1) 
 
7. µœ®¦̧²ª°µú ª°¶š«‰¯¥» œ¤Ì°µú ½ã›¯œ £³Ò ̧§À»Äà ‡µ˜¯µ¾ ? ƒ· 

§À»Äà ¶œ“²Ò˜°œ¸ Ÿ¼±‰¥°Å ˜½Ð¹ †µÐÒ ̧†©²˜²‰. Ÿ£‰¯§°‰ ¿ÐÜ-

¶š«±¤ Ÿ¯®ü¥»Ì°Þ ƒ· ˜½ÐÌ°µú ½ãŸø° ª°§¤°¥²Ì²‰. (Ÿ¶̧‰¯ÜŸ̧ : 6) 
 
8. 1969 Þ œ“Ò ½ãŸ°•ú  ̧ µ˜¥µÇ“²Ô°µœ ‰²¦°Å¸ µü¦°¤ ‰²¦°Ô ̧ ˜Û¯¦¯¾²-

‰¤²¹ ƒ· µ˜¥µÇ“²Ô ̧ ¶‰¯É½‹æ ̧ ã¯ÜÈ°¤°§²Ê¯¾°¤ ã¥°—˜ ý§¹ 

†µÐÒ²¹ †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
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9. Identify the President of Congress Party at the time of the death of Prime Minister 
Jawaharlal Nehru. 

 (a) V.V. Giri 

 (b) K. Kamaraj 

 (c) Nijalingappa 

 (d) Karpoori Thakur (Score : 1) 
 

10. Which Article of the Indian Constitution deals with National Emergency ? Discuss its 
effects on civil liberties of citizens and examine its relevance in contemporary Indian 
Society.   (Scores : 4) 

 

11. Discuss the reasons which lead to the Chipko Movement. Was this movement success ? 
Evaluate its impact. (Scores : 4) 

 

12. What you mean by Secessionist Movements ? Write the names of two States in the 
North-East they demanded secession from Indian Union. (Scores : 4) 

 

13. During the period between 1989 to 1992 India witnessed five developments that have 
long lasting impact on our politics. Discuss these developments and examine whether 
these impacts are still existing in Indian Society. (Scores : 5) 

 

14. Write the main objectives of NAM. (Scores : 4) 
 

15. Discuss the consequences of the disintegration of the Soviet Union in World Politics. 

     (Scores : 4) 
 

16. Match the following : 

A B 

(i) Operation Infinite Reach (a) War against Al Qaeda and Taliban 

(ii) Operation Enduring Freedom (b) Coalition of the Willing 

(iii) Operation Desert Storm (c) Missile Attack in Sudan 

(iv) Operation Iraqi Freedom (d) First Gulf War 

     (Scores : 4) 
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9. ½ã›¯œ £½Ð° ×ª®Ü§¯Þ µœ®¦̧² £¥°¾²Ò Ÿ£¤Ì ̧¶‰¯É½‹æ ̧ã¯ÜÈ°¤²µ“ 
¿›»ÀÏ ‚µ¥Ò ̧˜°¥°Å¦°¤²‰. 

 (a) ª°.ª°. ‹°¥° 
 (b) µ‰. ‰¯£¥¯×¸ 
 (c) œ°×§°¹‹Ô 
 (d) ‰Üã³¥° ˜¯¾³Ü (Ÿ¶̧‰¯Ü : 1) 
 
10. ƒÐ»Ï ¢¥— Œ“œ¤°Þ ¶š«±¤ ¿“°¤Ð°¥¯ªðµ¤¾²¦°Å ̧ ½ã˜°ã¯š°¾²Ò 

ª‰²Ô ̧ ‡˜¯— ̧ ? ¶š«°¤ ¿“°¤Ð°¥¯ªð ã·¥ Ÿ¼¯˜½Ð»µÌ †Äµœ 
¡¯›°¾²Ò² †Ò²¹ ‚›²œ°‰ ƒÐ»Ï Ÿ£³®Ì°Þ ƒ˜°µú ½ãŸø° 
ã¥°¶«¯›°¾²‰¤²¹ µüÛ²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 
11. ü°Ô¸¶‰¯ ½ãð¯œÌ°µú ‰¯¥—Äà üÜÅ µüÛ²‰. ½ãð¯œ¹ ˆ¥² 

ª°×¤£¯¤°¥²¶Ò¯ ? ƒ˜°µú ã¥°—˜ ý§Äà ª°§¤°¥²Ì²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 
12. ª°È²¶ã¯‰Þ ½ãð¯œÄà †Ò˜²µ‰¯Ê ̧ †Ð¯— ̧ „¶Í«°¾²Ò ¸̃ ? ƒÐ»Ï 

¤³—°¤œ°Þ œ°Ò²¹ ª°È²¶ã¯‰—¹ †Ò ‚ª«»¹ „Ò¤°Å ¥Ê² ª“¾² 
‰°©¾Ï Ÿ¹ð¯œÄ¨²µ“ ¶ã¥ ̧†©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 
13. 1989 £²˜Þ 1992 ªµ¥¤²á ‰¯§ŒÈÌ°Þ ƒÐ»Ï ¥¯½û±¤¹ š±ÜŒ‰¯§ 

½ã˜»¯Œ¯˜Äà „Ê¯¾²Ò ¿Æ ̧ Ÿ¹¢ª ª°‰¯ŸÄà¾¸ Ÿ¯À»¹ ª®°Å². 
ƒ· Ÿ¹¢ª ª°‰¯ŸÄà üÜÅ µüÛ²‰¤²¹ ¿ª¤²µ“ ½ã˜»¯Œ¯˜Äà ƒ¶Ô¯©²¹ 
ƒÐ»Ï Ÿ£³®Ì°Þ „¶Ê¯ †Ò² ã¥°¶«¯›°¾²‰¤²¹ µüÛ²‰. (Ÿ¶̧‰¯ÜŸ̧ : 5) 

 
14. ¶ü¥°¶ü¥¯ ½ãð¯œÌ°µú ½ã›¯œ §À»Äà †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 
15. ‚¶‹¯¨ ¥¯½û±¤Ì°Þ ¶Ÿ¯ª°¤Ý¸ ¤³—°¤µú «°™°§±‰¥—¹ „¨ª¯¾°¤ 

¿œÐ¥ ý§Äà üÜÅ µüÛ²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 

16. ¶ü¥²¹ã“° ¶üÜ¾²‰ : 

† ¡° 

(i) ˆ¯Ô¶¦¬Ï ƒÏý°œ°Ý¸ ¦±Å¸ (a) ¿Þ-Š¼¤¸˜¤¾̧²¹ ˜¯§°¡¯œ²¹ 
†˜°µ¥¤²á ¤²Î¹ 

(ii) ˆ¯Ô¶¦¬Ï †Ï•»³¦°¹‹̧ ½ý±•¹ (b) ¶‰¯§±¬Ï ˆ¯ý ̧š ª°ß°¹‹¸ 

(iii) ˆ¯Ô¶¦¬Ï µ•ŸÜÈ¸ ¶è¯¹ (c) Ÿ²•¯µœ˜°µ¥¤²á £°µµŸÞ 
‚½‰£—¹ 

(iv) ˆ¯Ô¶¦¬Ï ƒ¦¯¾° ½ý±•¹ (d) ˆÒ¯¹ ‹àý¸ ¤²Î¹ 

     (Ÿ¶̧‰¯ÜŸ̧ : 4) 
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17. Narrate the objectives and structure of Association of South-East Asian Nations 
(ASEAN) and bring out the significance of India’s increased co-operation with 
ASEAN.   (Scores : 5) 

 

18. Briefly narrate India’s relations with Bangladesh. (Scores : 4) 

 

19. How many states signed the UN Charter at the time of its formation ? 

 (a) 51 

 (b) 52 

 (c) 55 

 (d) 60   (Score : 1) 

 

20. Give your opinion on India’s demand for a permanent seat in UN Security               
Council.   (Scores : 4) 

 

21. Write a brief note on human rights and its classification. (Scores : 3) 

 

22. Bring out the significance of Earth Summit of 1992 in the light of environmental 
problems facing the modern society.  (Scores : 3) 

 

23. New economic reforms started in India in the year : 

 (a) 1989 

 (b) 1991 

 (c) 1995 

 (d) 2000   (Score : 1) 

 

24. Write the main features of globalisation and examine the resistance it facing in          
India.   (Scores : 4) 

 

____________ 
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17. µ˜¾¸ ‰°©¾¸ ‡¬»Ï ¥¯×»Ä¨²µ“ Ÿ¹Œ“œ¤¯¤ ¿Ÿ°¤¯Ï (ASEAN)µú 
§À»Ä¨²¹ Œ“œ¤²¹ ª°ª¥°¾²‰¤²¹ ¿Ÿ°¤¯Ï ¥¯×»Ä¨²£¯¤²á ƒÐ»¤²µ“ 

ªÜÎ°Å Ÿ®‰¥—Ì°µú ½ã¯›¯œ»¹ ª»ø£¯¾²‰¤²¹ µüÛ²‰. (Ÿ¶̧‰¯ÜŸ̧ : 5) 

 

18. ƒÐ»¤²¹ ¡¹‹ÿ̄ ¶š«²£¯¤²á ¡œ›̧¹ ü²¥²¾° ª°ª¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

19. ¥³ã±‰¥— Ÿ£¤Ì¸ µ†‰»¥¯½û Ÿ¢ „“Ø“°¤°Þ †½˜ ¥¯×»Äà ˆÔ̧ µªÅ² ? 

 (a) 51 

 (b) 52 

 (c) 55 

 (d) 60   (Ÿ¶̧‰¯Ü : 1) 

 

20. µ†‰»¥¯¬½̧“ Ÿ¢ Ÿ²¥À¯ Ÿ£°˜°¤°µ§ ð°¥ ¿¹‹˜¼¹ †Ò ƒÐ»¤²µ“ 

‚ª«»¶Ì¯“²á œ°Ä¨²µ“ ¿¢°½ã¯¤¹ †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

21. £œ²¬»¯ª‰¯«Äµ¨¤²¹ ¿˜°µú ˜¥¹ ˜°¥°¾§°µœ¤²¹ ‰²¦°Å¸ ˆ¥² ‰²¦°Ô ̧

˜Û¯¦¯¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

22. ‚›²œ°‰ Ÿ£³®¹ ¶œ¥°“²Ò ã¯¥°ð°˜°‰ ½ã«œ̧Ä¨²µ“ µª¨°ÅÌ°Þ 1992-Þ 

œ“Ò ¢·£ „Å¶‰¯“°¤²µ“ ½ã¯›¯œ»¹ µª¨°ª¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

23. ƒÐ»¤°Þ œª Ÿ¯ØÌ°‰ ã¥°¬¸‰¯¥Äà ‚¥¹¢°Å ªÜ¬¹ : 

 (a) 1989 

 (b) 1991 

 (c) 1995 

 (d) 2000   (Ÿ¶̧‰¯Ü : 1) 

 

24. ‚¶‹¯¨ª§¾̧¥—Ì°µú ½ã›¯œ Ÿª°¶«¬˜‰à †©²˜²‰¤²¹ ƒª ƒÐ»¤°Þ 

¶œ¥°“²Ò ½ã˜°¶¥¯›¹ ã¥°¶«¯›°¾²‰¤²¹ µüÛ²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 

____________ 
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1. Free flow of capital across nations is an example of _______.  

 (a) Privatisation   (b) Globalisation 

 (c) Liberalisation   (d) None of these   (Score : 1) 

 

2. The head office of SEBI is situated at : 

 (a) Delhi (b) Chennai (c) Calcutta (d) Mumbai (Score : 1) 

 

3. The last step in controlling is : 

 (a) Setting standards  (b) Analysing deviation 

 (c) Take corrective action  (d) Measurement of performance 

         (Score : 1) 
 

4. Find the odd one out : 

 (a) Television  (b) Engines (c) Lubricants (d) Tools (Score : 1) 

 

5. Supervisor of a company represents : 

 (a) Middle management level (b) Top management level 

 (c) Operational management level (d) None of these   (Score : 1) 

 

6. Name any two non-financial incentives.  (Score : 1) 

 

7. Mention two on the job training methods. (Score : 1) 

 

8. ________ is a traditional technique of control process. 

 (a) Statistical reports  (b) Ratio analysis 

 (c) PERT   (d) CPM    (Score : 1) 

 

9. Maximum amount of compensation that can be claimed by a consumer in State 
Commission is ________.  

 (a) 20 lakhs   (b) 50 lakhs  (c) 100 lakhs  (d) 10 lakhs  (Score : 1) 
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1. ª°ª°› ¥¯½ûÄ¨°¶§¾¸ £³§›œ¹ œ°¥Ð¥¹ ˆ©²‰²Ò˜̧ _______ µú „š¯®¥—£¯—̧. 

 (a) Privatisation   (b) Globalisation 

 (c) Liberalisation   (d) None of these   (Ÿ¶̧‰¯Ü : 1) 

 

2. SEBI-¤²µ“ ‚ð¯œ¹ ð°˜° µüÛ²Ò˜ ̧: 

 (a) Delhi (b) Chennai (c) Calcutta (d) Mumbai (Ÿ¶̧‰¯Ü : 1) 

 

3. œ°¤½Ð— ½ã½‰°¤¤°µ§ ¿ªŸ¯œ ŒÈ£¯—̧ 

 (a) Setting standards  (b) Analysing deviation 

 (c) Take corrective action  (d) Measurement of performance 

         (Ÿ¶̧‰¯Ü : 1) 
 

4. ª»˜»Ÿ¸˜£¯¤˜ ̧µ˜¥µÇ“²¾²‰ : 

 (a) Television  (b) Engines (c) Lubricants (d) Tools (Ÿ¶̧‰¯Ü : 1) 

 

5. ˆ¥² ‰Øœ°¤°µ§ Ÿ³ÔÜµµªŸÜ ½ã˜°œ°›±‰¥°¾²Ò˜ ̧: 

 (a) Middle management level (b) Top management level 

 (c) Operational management level (d) None of these   (Ÿ¶̧‰¯Ü : 1) 

 

6. ‡µ˜Ã°§²¹ ¥Ê² Ÿ¯ØÌ°‰ ƒ˜¥ ‚œ²‰³§»Äà ¶¥ŠµÔ“²Ì²‰.  (Ÿ¶̧‰¯Ü : 1) 

 

7. µ˜¯©°§°¶œ¯µ“¯Ô¹ ã¥°«±§œ¹ œ§¸‰²Ò ¥Ê² ¥±˜°‰à Ÿ³ü°Ô°¾²‰. (Ÿ¶̧‰¯Ü : 1) 

 

8. œ°¤½Ð— ½ã½‰°¤¤°Þ „ã¶¤¯‹°¾²Ò ˆ¥² ã¥Ø¥¯‹˜ £¯ÜÁ£¯—̧ ________. 

 (a) Statistical reports  (b) Ratio analysis 

 (c) PERT   (d) CPM    (Ÿ¶̧‰¯Ü : 1) 

 

9. ˆ¥² „ã¶¢¯ø¯ª°œ¸ Ÿ¹ð¯œ ‰Ù±¬œ°§³µ“ ‚ª«»µÔ“¯ª²Ò „¤ÜÒ 

œûã¥°®¯¥ ˜²‰ ________ ‚—̧. 

 (a) 20 lakhs   (b) 50 lakhs  (c) 100 lakhs  (d) 10 lakhs  (Ÿ¶̧‰¯Ü : 1) 
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10. To make enough revenues to cover costs is a part of ________ objective of 
management. 

 (a) Personal   (b) Organisational 

 (c) Social   (d) None of these   (Score : 1) 

 

11. _______ is a limitation of planning. 

 (a) Rigidity (b) Continuous (c) Pervasive (d) Futuristic (Score : 1) 

 

12. ________ is not an external source of recruitment. 

 (a) Advertisement   (b) Employment exchange  

 (c) Campus recruitment  (d) Promotion   (Score : 1) 

 

13. The right of an individual to command his subordinates is called : 

 (a) Responsibility   (b) Authority 

 (c) Accountability   (d) Liability   (Score : 1) 

 

14. Identify the management principle which states that there should be only one boss for 
every individual employee. 

 (a) Unity of direction  (b) Unity of command   

 (c) Scalar chain    (d) Equity   (Score : 1) 

 

15. Identify the communication network from the following diagram. 

 

         (Score : 1) 
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10. µü§ª²‰à ¶œ¥°“²Ò˜°œ²¶ªÊ° ‚ª«»£¯¤ ª¥²£¯œ¹ „Ê¯¾²‰ †Ò˜̧ 

£¯¶œ×µ̧£ú°µú ________ §À»£¯—¸. 

 (a) Personal   (b) Organisational 

 (c) Social   (d) None of these   (Ÿ¶̧‰¯Ü : 1) 

 

11. ‚Ÿ³½˜—Ì°µú ˆ¥² ¿ã¯‰˜¤¯— ̧_______.  

 (a) Rigidity (b) Continuous (c) Pervasive (d) Futuristic  

         (Ÿ¶̧‰¯Ü : 1) 

 

12. „¶š»¯‹¯Ü˜̧™°‰µ¨ ‰µÊÌ¯œ²á ¡¯®»¶½Ÿ¯˜æß ________. 

 (a) Advertisement   (b) Employment exchange  

 (c) Campus recruitment  (d) Promotion   (Ÿ¶̧‰¯Ü : 1) 

 

13. ‰±©×̧±ªœ¾¯¶¥¯“ ̧‚ò¯ã°¾¯Ï ˆ¥² ª»ø°¾²á ¿ª‰¯«£¯—̧ : 

 (a) Responsibility   (b) Authority 

 (c) Accountability   (d) Liability   (Ÿ¶̧‰¯Ü : 1) 

 

14. ˆ¥² µ˜¯©°§¯¨°¾ ̧ ˆ¥² ¶£§²¶š»¯‹ðÏ £¯½˜¶£ ã¯“²á³ †Ò² Ÿ³ü°Ô°¾²Ò 

£¯¶œ×µ̧£ú ¸ ˜˜¼¹ µ˜¥µÇ“²¾²‰. 

 (a) Unity of direction  (b) Unity of command   

 (c) Scalar chain    (d) Equity   (Ÿ¶̧‰¯Ü : 1) 

 

15. ˜¯µ© µ‰¯“²Ì°¥°¾²Ò ü°½˜¹ ‡˜̧ ‚«¤ ª°œ°£¤ «´¹Œ§¤²£¯¤° ¡œ̧›µÔÈ-

˜¯µ—Ò¸ ‰µÊÌ²‰. 

                        (Ÿ¶̧‰¯Ü : 1) 
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16. Investment in current assets is called : 

 (a) Working capital  (b) Fixed capital 

 (c) Share capital    (d) Debentures    (Score : 1) 

 

17. The market deals in long term funds is called : 

 (a) Money market   (b) Capital market 

 (c) Commodity market   (d) None of these    (Score : 1) 

 

18. The process of converting the message into communication symbols is called as 

________.  

 (a) Encoding  (b) Decoding (c) Feedback (d) Media (Score : 1) 

 

19. The organizational structure comprises of separate business units is called : 

 (a) Functional structure   (b) Departmental structure 

 (c) Divisional structure    (d) None of these   (Score : 1) 

 

20. ________is a statement of expected results expressed in numerical terms. 

 (a) Policy  (b) Programme (c) Budget   (d) None of these 

         (Score : 1)  

 

21. Name any four principles of management given by Henry Fayol.   (Scores : 2) 

 

22. Mention the first six steps in planning process.    (Scores : 3) 

 

23. Explain any three functions of co-ordination.    (Scores : 3) 
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16. ½®Ÿ¼‰¯§ ‚Ÿ¸˜°‰¨°¶ÓÞ „á œ°¶Àã£¯—̧ : 

 (a) Working capital  (b) Fixed capital 

 (c) Share capital    (d) Debentures    (Ÿ¶̧‰¯Ü : 1) 

 

17. š±ÜŒ‰¯§ ýÊ²‰à µµ‰‰¯¥»¹ µüÛ²Ò ª°ã—°¤¯— ̧: 

 (a) Money market   (b) Capital market 

 (c) Commodity market   (d) None of these    (Ÿ¶̧‰¯Ü : 1) 

 

18. Ÿ¶Ñ«Äµ¨ ‚«¤ª°œ°£¤ ¿“¤¯¨Ä¨¯¤° £¯Ý²Ò ½ã½‰°¤¤¯— ̧________.  

 (a) Encoding  (b) Decoding (c) Feedback (d) Media (Ÿ¶̧‰¯Ü : 1) 

 

19. ª»˜»Ÿ¸˜Ä¨¯¤ ¡°Ÿ°œæ¸ ¤³—°Ý²‰à „àµÔ“²Ò Ÿ¹Œ“œ¯ üÈ¾³“¯—̧  : 

 (a) Functional structure   (b) Departmental structure 

 (c) Divisional structure    (d) None of these   (Ÿ¶̧‰¯Ü : 1) 

 

20. ½ã˜±À°¾²Ò ý§¹ Ÿ¹Š»¯ ¥³ãÌ°Þ ½ã˜°ã¯š°¾²Ò ˆ¥² ¶èÝ̧µ£ú¯—̧ ________ 

 (a) Policy  (b) Programme (c) Budget   (d) None of these 

         (Ÿ¶̧‰¯Ü : 1)  

 

21. µ®Ï¦°  ý¶¤¯¨°µú œ¯§² £¯¶œ×µ̧£ú ¸ ˜˜¼Äà ¶¥ŠµÔ“²Ì²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

22. ‚Ÿ³½˜— ½ã½‰°¤¤°µ§ ‚š»µÌ ‚¦² ŒÈÄà ª»ø£¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

23. ‡¶‰¯ãœÌ°µú £³Ò² ›ÜÙÄà ª°ª¥°¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 3) 



5071 8 

24. Mention the advantages of informal organization.   (Scores : 3) 

 

25. Training helps both the organization and the individuals. Explain any three benefits of 
training to the organization.      (Scores : 3) 

 

26. Name any three money market instruments.     (Scores : 3) 

 

27. List out any six rights enjoyed by the consumers under Consumer Protection Act, 1986. 

         (Scores : 3) 

 

28. Explain any three points of differences between the contributions of Henry Fayol and 
F.W. Taylor.        (Scores : 3) 

 

29. List out four modern techniques of managerial control.   (Scores : 2) 
 

30. Mention any three limitations of internal source of recruitment.  (Scores : 3) 

 

31. Match the following : 

(1) Life expectancy  (a) Technological environment 

(2) On-line ticket booking (b) Legal environment 

(3) Consumer Protection Act, 1986 (c) Social environment 

         (Scores : 3) 

 

32. List out any six sales promotion techniques.    (Scores : 3) 

 

33. Mention the steps in the process of setting up a business.   (Scores : 3) 
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24. ¿œ·¶š»¯‹°‰ Ÿ¹Œ¯“œÌ°µú ‹²—Äà ¶¥ŠµÔ“²Ì²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

25. ã¥°«±§œ¹ Ÿ¹Œ“œ¤¾̧²¹ ª»ø°‰à¾²¹ Ÿ®¯¤‰£¯—̧. ã¥°«±§œ¹£³§¹ 

Ÿ¹Œ“œ¤¾̧ ̧§¢°¾²Ò £³Ò² ‹²—Äà ª°«š±‰¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

26. ‡µ˜Ã°§²¹ £³Ò² ã— ª°ã—° ½ã£¯—Ä¨²µ“ ¶ãµ¥©²˜²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

27. 1986 µ§ „ã¶¢¯ø´ Ÿ¹¥À— œ°¤££œ²Ÿ¥°Å ̧„ã¶¢¯ø¯¾à ¿œ²¢ª°¾²Ò 

‚¦² ¿ª‰¯«Äà ª»ø£¯¾²‰.     (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

28. µ®Ï¦° ý¶¤¯¨°µú¤²¹ †ý.̧ •¡ÿ»². µ“¤¸§¦°µú¤²¹ Ÿ¹¢¯ªœ‰à ˜Ù°§²á 

£³Ò² ª»˜»¯ŸÄà ª°«š±‰¥°¾²‰.     (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

29. œ°¤½Ð—Ì°œ ̧„ã¶¤¯‹°¾²Ò œ¯§² œ³˜œ £¯ÜÁÄà ¶¥ŠµÔ“²Ì²‰. 

         (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 

30. ‚Ð¥°‰ ¶½Ÿ¯˜æ²‰¨°§³µ“ „¶š»¯‹¯Ü˜̧™°‰µ¨ µ˜¥µÇ“²¾²Ò˜°µú £³Ò² 

¿ã¯‰˜‰à ¶¥ŠµÔ“²Ì²‰.     (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

31. ¶ü¥²¹ã“° ¶üÜ¾²‰ : 

(1) Life expectancy  (a) Technological environment 

(2) On-line ticket booking (b) Legal environment 

(3) Consumer Protection Act, 1986 (c) Social environment 

         (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

32. ‡µ˜Ã°§²¹ ‚¦ ̧ª°ã—œ ¶½ã¯˜Ÿ̧¯®œ ˜½ÐÄà ¶¥ŠµÔ“²Ì²‰. 

         (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

33. ˆ¥² ¡°Ÿ°œæ¸ ã“²Ì²¤ÜÌ²Ò ½ã½‰°¤¤°µ§ ª°ª°› œ“ã“°‰à ¶¥ŠµÔ“²Ì²‰. 

         (Ÿ¶̧‰¯ÜŸ̧ : 3) 
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34. (a) It is generally observed that managers face several barriers in communication 

process. Point out the organizational barriers to effective communication. 

         (Scores : 4) 

 (b) Explain the various measures to be adopted to overcome the barriers to 

communication.      (Scores : 3) 

 

35. (a) Capital structure is the relative proportion of various types of funds of a firm. 

Explain the important factors influencing the choice of capital structure. (Scores : 8) 

OR 

 (b) Fixed capital is that part of capital invested in long term assets. Explain the 

various factors affecting the fixed capital requirements of a firm. (Scores : 8) 

 

36. (a) Choosing the right brand name is not an easy decision. 

  Explain the points to be considered while choosing a brand name. (Scores : 8) 

OR 

 (b) Advertising as a medium of communication has so many merits as well as 

limitations. Explain the merits and limitations of advertising.  (Scores : 8) 

__________ 
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34. (a) ‚«¤ ª°œ°£¤¹ œ“Ì²Ò˜°œ°“¤°Þ £¯¶œ×Ü£¯Ü ›¯¥¯¨¹ ˜“æÄà 

¶œ¥°“¯¦²Ê.̧ ƒÌ¥Ì°§²á ˜“æÄà ª»ø£¯¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 (b) ‚«¤ ª°œ°£¤Ì°œ°“¤°Þ „Ê¯‰²Ò ˜“æÄà ƒß¯˜¯‰²Ò˜°œ²á 

£¯ÜÁÄà ª°«š£¯¾²‰.     (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

35. (a) ˆ¥² ð¯ãœÌ°µ§ ª»˜»Ÿ¸˜Ä¨¯¤ ýÊ²‰¨²µ“ ¿œ²ã¯˜µÌ¤¯— ̧

£³§›œ Œ“œ †Ò² ã¦¤²Ò˜.̧ £³§›œ Œ“œ µ˜¥µÇ“²¾²¶Ø¯à 

Ÿ¼¯›±œ°¾²Ò Œ“‰Äà ‡µ˜ß¯µ£Ò¸ ª°«š±‰¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 8) 

¿µßÃ°Þ 

 (b) š±ÜŒ‰¯§ ‚Ÿ¸̃ °‰¨°Þ œ°¶Àã°Å°¥°¾²Ò £³§›œµÌ ð°¥ £³§›œ¹ 

†Ò² ã¦¤²Ò². ˆ¥² ‰Øœ°¤²µ“ ð°¥ £³§›œµÌ ¡¯›°¾²Ò 

ª»˜»Ÿ¸˜ Œ“‰Äà ª°«š±‰¥°¾²‰.    (Ÿ¶̧‰¯ÜŸ̧ : 8) 

 

36. (a) ˆ¥² ½¡¯Ï• ̧œ¯£¹ µ˜¥µÇ“²¾²Ò˜ ̧‰”°œ£¯¤ ˜±¥²£¯œ£¯—̧.  

  ˆ¥² ½¡¯Ï•¸ œ¯£¹ µ˜¥µÇ“²¾²¶Ø¯à ½«Î°¶¾Ê ‰¯¥»Äà 

ª°ª¥°¾²‰.       (Ÿ¶̧‰¯ÜŸ̧ : 8) 

¿µßÃ°Þ 

 (b) ˆ¥² ‚«¤ª°œ°£¤ £¯ÜÁ¹ †Ò œ°§¤°Þ ã¥Ÿ»Ì°œ ̧›¯¥¯¨¹ ‹²—Ä¨²¹ 

¶š¯¬Ä¨²£²Ê.̧ ã¥Ÿ»Ì°µú ‹²—ª²¹ ¶š¯¬ª²¹ ª°«š±‰¥°¾²‰. 

          (Ÿ¶̧‰¯ÜŸ̧ : 8) 

__________ 
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PART – A 

      ACCOUNTING (Maximum Scores : 40) 
 

1. _______ is the amount received as per the “WILL” of a deceased person. 

 (a) Life Membership fee (b) Legacy 

 (c) Donation  (d) Subscription (Score : 1) 

 

2. If any partner has given loan to the firm, he shall be entitled to get an interest on the 
amount of loan at the rate of _______ percent per annum. 

 (a) 12% (b) 10% 

 (c) 6%    (d) 5% (Score : 1) 

 

3. _______ is the value of the reputation of a firm. 

 (a) Capital (b) Asset 

 (c) Goodwill  (d) Super Profit (Score : 1) 

 

4. On dissolution of a firm, the partners, capital accounts are closed through _______ 
account. 

 (a) Loan Account (b) Realization Account 

 (c) Revaluation Account  (d) Bank Account (Score : 1) 

 

5. From the following details, ascertain the amount of subscription to be shown in the 
Income and Expenditure Account for the year ending 31-03-2016. 

 (i) Subscriptions received during the year  `  50,000 

 (ii) Subscriptions outstanding on 01-04-2015  `  10,000 

 (iii) Subscriptions outstanding on 31-03-2016  `  7,000 

 (iv) Subscriptions received in advance as on 01-04-2015 `  5,000 

 (v) Subscriptions received in advance as on 31-03-2016 `  6,000 (Scores : 3) 
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PART – A 

      ACCOUNTING (Maximum Scores : 40) 
 

1. ˆ¥¯¨²µ“ £¥—ã½˜£œ²Ÿ¥°Å¸ §¢°¾²Ò ˜²‰¤¯— ̧_______. 

 (a) µµ§ý ̧µ£ØÜ¬±Ô ̧ý±Ÿ¸ (b) µ§‹Ÿ° 

 (c) µ•¯¶—¬Ï (d) Ÿ¡Ÿ̧½̧‰°ã¬̧Ï (Ÿ¶̧‰¯Ü : 1) 

 

2. ‡µ˜Ã°§²¹ ˆ¥² ãÃ¯¨° ãÃ¯¨°Ì ð¯ãœÌ°œ ̧ ª¯¤¸ã œ§¸‰°¤°È²µÊÃ°Þ 

¿¤¯à¾¸ ¿¤¯à œ§‰̧°¤ ª¯¤¸ã ˜²‰¤¸¾ ̧ ½ã˜°ªÜ¬¹ _______ «˜£¯œ¹ 

ã§°«¤¾̧ ̧¿Ü®˜ „Ê¯¤°¥°¾²¹. 

 (a) 12% (b) 10% 

 (c) 6%    (d) 5% (Ÿ¶̧‰¯Ü : 1) 

 

3. ˆ¥² ð¯ãœÌ°µú ½ã«Ÿ¸̃ °¤²µ“ £³§»£¯— ̧_______. 

 (a) £³§›œ¹ (b) ‚Ÿ¸˜° 

 (c) ‹²•¸ª°Þ (d) Ÿ³ÔÜ ¶½ã¯ý°Ý¸ (Ÿ¶̧‰¯Ü : 1) 

 

4. ˆ¥² ãÃ¯¨°Ì ð¯ãœ¹ ã°¥°Å²ª°“²¶Ø¯à _______ ¿¾·Ê ̧ ª©°¤¯—̧ 

ãÃ¯¨°‰¨²µ“ ‰»¯Ô°ÝÞ ¿¾·Ê²‰à ¶‰ÿ̄ Ÿ ̧µüÛ²Ò˜̧. 

 (a) ¶§¯É ¿¾·Ê¸ (b) ¦°¤µµ§¶Ÿ¬Ï ¿¾·Ê¸ 

 (c) ¦±ª¯§²¶ª¬Ï ¿¾·Ê¸ (d) ¡¯Ã̧ ¿¾·Ê¸ (Ÿ¶̧‰¯Ü : 1) 

 

5. 31-03-2016 Þ ¿ªŸ¯œ°¾²Ò ªÜ¬Ì°Þ ƒÏ‰¹ ‚Ï•¸ †‰¸Ÿµ̧ãÏ•°ÅÜ 

¿¾·Ê°Þ „àµÔ“²¶ÌÊ ª¥°Ÿ¹Š»¤²µ“ ˜²‰ ˜¯µ© µ‰¯“²Ì°È²á 

ª°ª¥Ä¨²µ“ ¿“°ð¯œÌ°Þ ‰Ê²ã°“°¾²‰. 

 (i) Subscriptions received during the year  `  50,000 

 (ii) Subscriptions outstanding on 01-04-2015  `  10,000 

 (iii) Subscriptions outstanding on 31-03-2016  `  7,000 

 (iv) Subscriptions received in advance as on 01-04-2015 `  5,000 

 (v) Subscriptions received in advance as on 31-03-2016 `  6,000 (Ÿ¶̧‰¯ÜŸ̧ : 3) 
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6. Basim and Bessy are partners of a firm sharing the profits and losses in the ratio of 3:2, 
with capitals of ` 1,00,000 and ` 60,000 respectively. Interest on capital is agreed at 6% 
per annum. Bessy is to be allowed an annual salary of ` 5,000. During the year 2015-16 
the profits of the firm amounted to ` 30,000. 

 Prepare Profit and Loss Appropriation Account showing distribution of profit for the 
year ending 31st March 2016. (Scores : 3) 

 

7. What are the factors affecting the value of goodwill ? (Scores : 4) 

 

8. The following is the Balance Sheet of Sanitha and Saritha, who are partners sharing 
profits in the ratio of 2 : 1. 

                Balance Sheet as on 31st March 2016 

Liabilities ` Assets ` 

Bills payable 20,000 Cash in hand 20,000 

Creditors 1,16,000 Cash at Bank 80,000 

Outstanding Expenses 4,000 Debtors 1,20,000 

Capitals :        `  Inventory 80,000 

 Sanitha 3,60,000  Machinery 2,00,000 

 Saritha 3,00,000 6,60,000 Building 3,00,000 

 8,00,000  8,00,000 

 Savitha is admitted as a partner for 1/4 share, on 31st March 2016 on the following 
terms : 

 (a) Savitha will bring ` 2,00,000 as capital and ` 1,20,000 as goodwill. 

 (b) Building and Machinery are to be appreciated by 10%. 

 (c) Stock is found over valued by ` 8,000. 

 (d) A provision for doubtful debts to be created at 5% of debtors. 

 (e) Creditors were unrecorded to the extent of ` 2,000. 

 Prepare Revaluation Account. (Scores : 6) 
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6. 1,00,000 ¥³ã 60,000 ¥³ã, †Ò ½‰£Ì°Þ £³§›œª²£¯¤° 3:2 †Ò 

¿œ²ã¯˜Ì°Þ §¯¢ª²¹ œûª²¹ ãÃ°“²Ò ãÃ¯¨°‰¨¯—̧ ¡¯æ°£²¹ ¡æ°¤²¹. 

ˆ¥² ªÜ¬¶Ì¤¾̧ ̧£³§›œÌ°¶Ó§²á ã§°« 6% ‚¤°È¯—̧ ŸÙ˜°Å°È²á˜.̧ 

¡æ°¤¾̧ ̧ ½ã˜°£¯Ÿ¹  5,000 ¥³ã œ°¥¾°Þ «Ø¨¹ œ§‰̧—¹. 2015-16 ªÜ¬¹ 

ð¯ãœÌ°µú §¯¢¹ 30,000 ¥³ã¤¯—.̧  
 2016 £¯ÜÅ ̧ 31œ ̧ ¿ªŸ¯œ°¾²Ò ªÜ¬µÌ §¯¢¹ ª°¢×°¾²Ò˜̧ ‰¯—°¾²Ò 

¶½ã¯ý°Ý¸ ‚Ï•¸ ¶§¯Ÿ ̧¿¶½ã¯½ã°¶¤¬Ï ¿¾·Ê¸ ˜Û¯¦¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 
7. ‹²•¸ª°ß°µú £³§»µÌ ¡¯›°¾²Ò Œ“‰Äà ‡µ˜¯µ¾¤¯—̧ ? (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 
8. 2 : 1 †Ò ¿œ²ã¯˜Ì°Þ §¯¢¹ ãÃ°“²Ò, ãÃ¯¨°‰¨¯¤ Ÿœ°˜, Ÿ¥°˜ 

†Ò°ª¥²µ“ ¡¯§ÏŸ ̧¬±Ý¯— ¸ ˜¯µ© µ‰¯“²Ì°¥°¾²Ò˜̧ : 

                Balance Sheet as on 31st March 2016 

Liabilities ` Assets ` 

Bills payable 20,000 Cash in hand 20,000 

Creditors 1,16,000 Cash at Bank 80,000 

Outstanding Expenses 4,000 Debtors 1,20,000 

Capitals :           `  Inventory 80,000 

 Sanitha 3,60,000  Machinery 2,00,000 

 Saritha 3,00,000 6,60,000 Building 3,00,000 

 8,00,000  8,00,000 

 Ÿª°˜µ¤ ˜¯µ© ã¦¤²Ò ª»ªð‰à¾ ̧ª°¶›¤£¯¤° 31 £¯ÜÅ ̧2016 Þ  1/4 §¯¢ 

ª°®°˜Ì°œ ̧ã²˜°¤ ãÃ¯¨°¤¯¤° „àµÔ“²Ì²Ò² : 
 (a) Ÿª°˜ 2,00,000 ¥³ã £³§›œ£¯¤²¹ 1,20,000 ¥³ã ‹²•ª̧°Þ ‚¤²¹ µ‰¯Ê² 

ª¥²¹. 
 (b) µ‰È°“Ì°µú¤²¹ µ£¬°œ¦°¤²¶“¤²¹ ª°§¤°Þ 10% ªÜÎœª²Ê¯¤°. 

 (c) ¶è¯¾°µú ª°§¤°Þ 8,000 ¥³ã ªÜÎœª²Ê¯¤°. 
 (d) µ½ã¯ª°¬Ï ¶ý¯Ü •·Èý̧²à µ•¡Ý̧¸Ÿ¸ 5% ½‰°¶¤Ý¸ µüÛ—¹. 
 (e) ‰—¾°Þ ¶¥ŠµÔ“²Ì¯Ì˜¯¤° 2,000 ¥³ã¤²µ“ ½‰•°¶Ý©Ÿ̧¸ „Ê¯¤°¥²Ò². 
 ¦±ª¯§²¶ª¬Ï ¿¾·Ê¸ ˜Û¯¦¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 6) 
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9. The Balance Sheet of Aarsha, Divya and Thanuja, who were sharing profits in the ratio 
of 5 : 3 : 2 is given below : 

                       Balance Sheet as on 31st March 2016 

Liabilities ` Assets ` 

Creditors 1,40,000 Cash 1,20,000 

Reserve 80,000 Debtors  1,70,000 

Capital :  Stock 1,88,000 

 Aarsha 7,00,000  Furniture 72,000 

 Divya 4,00,000  Plant 4,70,000 

 Thanuja         3,80,000 14,80,000 Building 6,80,000 

 17,00,000  17,00,000 

 Divya retires on 31st March 2016. The following adjustments were agreed upon her 
retirement.  

 (i) Stock was revalued at ` 1,80,000. 

 (ii) Furniture was revalued at ` 75,000. 

 (iii) Building was revalued at ` 7,50,000. 

 (iv) Provision for doubtful debts required ` 10,000. 

 Prepare Revaluation Account. (Scores : 6) 

 
10. Priya, Susan and Reena are partners sharing profits and losses in the ratio of 2:2:1. 

Their Balance Sheet as on 31st March 2016 is given below : 

Balance Sheet 

Liabilities ` Assets ` 

Creditors 20,000 Cash 25,000 

Reserve Fund 25,000 Debtors 20,000 

Capital :  Stock 25,000 

 Priya 50,000   Furniture 10,000 

 Susan 20,000  Machinery 45,000 

 Reena        10,000 80,000   

 1,25,000  1,25,000 
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9. 5 : 3 : 2 †Ò ¿œ²ã¯˜Ì°Þ §¯¢¹ ãÃ°“²Ò ‚Ü¬, š°ª», ˜œ²× †Ò°ª¥²µ“ 

¡¯§ÏŸ¸ ¬±Ý¯— ̧˜¯µ© µ‰¯“²Ì°¥°¾²Ò˜¸ : 

                       Balance Sheet as on 31st March 2016 
Liabilities ` Assets ` 

Creditors 1,40,000 Cash 1,20,000 

Reserve 80,000 Debtors  1,70,000 

Capital :  Stock 1,88,000 

 Aarsha 7,00,000  Furniture 72,000 

 Divya 4,00,000  Plant 4,70,000 

 Thanuja         3,80,000 14,80,000 Building 6,80,000 

 17,00,000  17,00,000 

 2016 £¯ÜÅ ̧31œ ̧š°ª» ª°¥£°¾²Ò². š°ª»¤²µ“ ¦°È¤Üµ£ú°¶œ¯“œ²¡œ›̧°Å¸ ˜¯µ© 
ã¦¤²Ò œ±¾²¶ã¯¾²‰à¾ ̧›¯¥—¤¯¤°.  

 (i) ¶è¯¾°µú ª°§ 1,80,000 ¥³ã ‚¤° ã²œÜœ°ÜË¤¹ µü¤¸˜². 

 (ii) ýÜ—°Å¦°µú ª°§ 75,000 ¥³ã ‚¤° ã²œÜœ°ÜË¤¹ µü¤¸˜². 

 (iii) µ‰È°“Ì°µú ª°§ 7,50,000 ¥³ã ‚¤°  ã²œÜœ°ÜË¤¹ µü¤¸˜². 

 (iv) µ½ã¯ª°¬Ï ¶ý¯Ü •·Èý̧²à µ•¡Ý̧¸Ÿ¸ 10,000 ¥³ã £¯Ý° ª¤¾̧—¹. 

 ¦±ª¯§²¶ª¬Ï ¿¾·Ê¸ ˜Û¯¦¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 6) 

 
10. 2:2:1 †Ò ¿œ²ã¯˜Ì°Þ §¯¢ª²¹ œûª²¹ ãÃ°“²Ò ãÃ¯¨°‰¨¯—̧ ½ã±¤¤²¹, 

Ÿ³Ÿœ²¹, ¦±œ¤²¹. 2016 £¯ÜÅ ̧ 31-µ§ ¿ª¥²µ“ ¡¯§ÏŸ ̧ ¬±Ý ̧ ˜¯µ© 

µ‰¯“²Ì°¥°¾²Ò² : 

Balance Sheet 
Liabilities ` Assets ` 

Creditors 20,000 Cash 25,000 

Reserve Fund 25,000 Debtors 20,000 

Capital :  Stock 25,000 

 Priya 50,000   Furniture 10,000 

 Susan 20,000  Machinery 45,000 

 Reena        10,000 80,000   

 1,25,000  1,25,000 
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 They decided to dissolve the business. The following amounts were realized. 

        ` 
 Machinery  42,500 
 Stock  35,000 
 Debtors  18,500 
 Furniture    7,500 
 Creditors were paid in full. 

 Realisation expenses amounted to ` 2,500. 
 Prepare Realisation Account. (Scores : 6) 
 
11. (a) From the following Receipts and Payments Account of Blue Moon Club for the 

year ending 31st March 2016 and the additional information, prepare Income and 
Expenditure Account.  

   Receipts & Payments Account for the year ending 31-03-2016 

Receipts ` Payments ` 
Balance c/d -   Salaries 2,000 
 Cash 500 Purchase of Library Books 8,000 
 Bank 24,500 Telephone charges 400 
Subscriptions :  Electricity charges 500 
 2015    1,200  Printing 450 
 2016 10,000  Entertainment expenses 1,000 
 2017      800 12,000 Purchase of furniture (1-4-15) 5,000 
Hall Rent 2,300 Balance c/d  
Interest on Bank Deposit 750  Cash 1,000 
Entrance Fees 1,000  Bank 22,700 

 41,050  41,050 

  Additional Information : 
  (i) 50% of Entrance fee is to be capitalized. 
  (ii) Furniture is to be depreciated at 10% per annum. 

  (iii) Salaries outstanding ` 1,500.  (Scores : 8) 
OR 

 (b) Explain the difference between Receipts and Payments Account and Income and 
Expenditure Account. (Scores : 8) 
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 ‰Åª“¹ ¿ªŸ¯œ°Ô°¾¯Ï ¿ªÜ ˜±¥²£¯œ°Å². ˜¯µ© ã¦¤²Ò ˜²‰‰à 
ã°¥°Ç² ‰°È°. 

          ` 
 µ£¬°œ¦°   42,500 
 ¶è¯¾¸  35,000 
 µ•¡¸¶Ý©¸Ÿ¸ 18,500 
 ýÜ—°ÅÜ    7,500 
 ½‰•°¶Ý©¸Ÿ°µú ˜²‰ ã³ÜË£¯¤²¹ µ‰¯“²Ì² ˜±ÜÌ². 

 ¦°¤µµ§¶Ÿ¬Ï Ÿ¹¡œ›̧°Å ü°§ª²‰à 2,500 ¥³ã ‚¤°. 

 ¦°¤µµ§¶Ÿ¬Ï ¿¾·Ê ̧˜Û¯¦¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 6) 

 

11. (a) 2016 £¯ÜÅ ̧31œ ̧¿ªŸ¯œ°¾²Ò ªÜ¬µÌ ¡ÿ³ £³É ‰ÿÖ°µú ¦Ÿ±ã̧ÝŸ̧¸ 
‚Ï• ̧¶ã¤µ̧£ú ¸Ÿ ̧¿¾·Ê°Þ œ°Ò²¹ ¿œ²¡œ›̧ ª°ª¥Ä¨°Þ œ°Ò²¹ 
ƒÏ‰¹ ‚Ï• ̧†‰¸Ÿ¸µãÏ•°ÅÜ ¿¾·Ê¸ ˜Û¯¦¯¾²‰.  

     Receipts & Payments Account for the year ending 31-03-2016 
Receipts ` Payments ` 

Balance c/d    Salaries 2,000 
 Cash 500 Purchase of Library Books 8,000 
 Bank 24,500 Telephone charges 400 
Subscriptions :  Electricity charges 500 
 2015    1,200  Printing 450 
 2016 10,000  Entertainment expenses 1,000 
 2017      800 12,000 Purchase of furniture (1-4-15) 5,000 
Hall Rent 2,300 Balance c/d  
Interest on Bank Deposit 750  Cash 1,000 
Entrance Fees 1,000  Bank 22,700 
 41,050  41,050 

  ¿›°‰ ª°ª¥Äà : 

  (i) ½ã¶ª«œ ý±Ÿ°µú 50% ‰»¯Ô°Ýµµ§Ÿ ̧µüÛ—¹. 

  (ii) ýÜ—°Å¦°œ¸ ½ã˜°ªÜ¬¹ 10% ¶˜¤£̧¯œ¹ ‰—¾¯¾—¹. 

  (iii) «Ø¨¹ 1,500 ¥³ã ‰²“°ä°Š¤²Ê.̧  (Ÿ¶̧‰¯ÜŸ̧ : 8) 
¿µßÃ°Þ 

 (b) ¦Ÿ±ã̧Ý̧Ÿ̧ ‚Ï•̧ ¶ã¤̧µ£ú Ÿ̧̧ ¿¾·Ê²¹ ƒÏ‰¹ ‚Ï•̧ †‰̧Ÿ̧µãÏ•°ÅÜ 

¿¾·Ê²¹ ˜Ù°§²á ª»˜»¯Ÿ¹ ª°«š±‰¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 8) 
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PART – B 
      ANALYSIS OF FINANCIAL STATEMENTS  
       (Maximum Scores : 40) 
 
1. _______ capital is also called Registered Capital. 

 (a) Authorized (b) Subscribed 

 (c) Issued (d) Paid up (Score : 1) 

 

2. The return on shares is known as _______. 

 (a) Interest (b) Dividend 

 (c) Profit (d) None of the above  (Score : 1) 

 

3. Balance Sheet of a company is prepared in the form given in the schedule _______ of 
the Companies Act. 

 (a) X (b) IX 

 (c) VII (d) VI (Score : 1) 

 

4. Quick Ratio is also known as _______ Ratio. 

 (a) Acid Test (b) Efficiency 

 (c) Solvency (d) Turnover (Score : 1) 

 

5. _______ is called Horizontal Analysis. 

 (a) Comparative Statement Analysis  

 (b) Common size Statement Analysis 

 (c) Ratio Analysis  

 (d) Cash Flow Analysis   (Score : 1) 

 

6. ALEX and company purchased a building from FELIX and company for ` 6,00,000 and 
the payment was made by the issue of 6000 shares of ` 100 each. 

 Pass the necessary Journal entry. (Scores : 2) 
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PART – B 
      ANALYSIS OF FINANCIAL STATEMENTS  
       (Maximum Scores : 40) 
 
1. _______ £³§›œµÌ ¥×°èÜ µü¤¸˜ £³§›œ¹ †Ò²¹ ª°¨°¾²Ò². 

 (a) ¿¹‹±‰´˜ (b) ª¯‹ş̌Ì 

 (c) ª°˜¥—¹ µü¤¸˜ (d) ¿“Å² ˜±ÜÌ (Ÿ¶̧‰¯Ü : 1) 

 
2. ˆ¯®¥°‰¨°Þ œ°Ò²¹ ‰°È²Ò ¶œÈµÌ _______ †Ò² ª°¨°¾²Ò². 

 (a) ã§°« (b) §¯¢ª°®°˜¹ 

 (c) §¯¢¹ (d) £²‰¨°Þ µ‰¯“²Ì°È²áµ˜¯Ò²£ß 

     (Ÿ¶̧‰¯Ü : 1) 

 
3. ‰Øœ° œ°¤£Ì°Þ œ§‰̧°¤°È²á _______ ãÈ°‰ ¿œ²Ÿ¥°Å¯—̧ ˆ¥² ‰Øœ°¤²µ“ 

¡¯§ÏŸ¸ ¬±Ý¸ ˜Û¯¦¯¾²Ò˜¸. 

 (a) X (b) IX 
 (c) VII (d) VI (Ÿ¶̧‰¯Ü : 1) 

 
4. ‰¼°¾ ̧¶¦¶¬»¯ _______ ¶¦¶¬»¯ †Ò²¹ ¿¦°¤µÔ“²Ò². 

 (a) ‚Ÿ°•¸ µ“è¸ (b) †ý°¬»ÏŸ° 

 (c) ¶Ÿ¯àªÏŸ° (d) ¶“Éˆ¯ªÜ (Ÿ¶̧‰¯Ü : 1) 

 
5. _______ µœ µ®¯¦°¶Ÿ¯ÊÞ ¿œ¯§°Ÿ°Ÿ ̧†Ò ̧ª°¨°¾²Ò². 

 (a) ‰¹ã¯¥Ý±ª ̧¶èÝµ̧£ú  ¸ ¿œ¯§°Ÿ°Ÿ¸  

 (b) ¶‰¯£ÉµµŸŸ ̧¶èÝµ̧£ú  ̧¿œ¯§°Ÿ°Ÿ¸  

 (c) ¶¦¯¶¬»¯ ¿œ¯§°Ÿ°Ÿ¸  

 (d) ‰»¯¬¸ ¶ýÿ̄  ¿œ¯§°Ÿ°Ÿ¸   (Ÿ¶̧‰¯Ü : 1) 

 
6. ¿§‰¸Ÿ ̧ ‚Ï• ̧ ‰Øœ° µý§°‰Ÿ̧ ̧ ‚Ï•¸ ‰Øœ°¤°Þ œ°Ò²¹ 6,00,000 ¥³ã 

ª°§¤²á ˆ¥² µ‰È°“¹ ª¯Ä²‰¤²¹ ã‰¥¹ 100 ¥³ã ª±˜¹ ª°§¤²á 6000 
ˆ¯®¥°‰à ƒ¬»² µüÛ²‰¤²¹ µü¤¸˜². 

 ‚ª«»£¯¤ ¶×Ü—Þ †Ï½“° †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 
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7. How Debentures are different from Shares ? (Give any 3 differences)  (Scores : 3) 

 

8. A company has forfeited the shares of ATHUL, a shareholder who failed to pay the 

second and final call of ` 10 on 2000 shares issued to him. 

 Give the necessary journal entry to record the transaction. (Scores : 3) 

 

9. State the possible items that would appear under the head “Current Assets” as per the 

Companies Act, in the Balance Sheet of a company. (Scores : 4) 

 

10. From the following information, prepare a common size Income Statement. 

 2015-16 

` 

2016-17 

` 

Net Sales 30,00,000 50,00,000 

Cost of Goods Sold 20,00,000 25,00,000 

Operating Expenses 1,50,000 2,50,000 

Non-operating Expenses 25,000 30,000 

Depreciation 45,000 75,000 (Scores : 4) 

 

11. WE TWO Limited, issued 4000 shares of ` 100 each payable as follows : 

 ` 40 on application ` 30 on allotment, and the balance on first and final call. 

 Give the journal entries to record these share capital transactions.  (Scores : 5) 

 

12. Explain the meaning and objectives of Ratio Analysis. (Scores : 6) 
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7. ‰“Ô½˜Äà ˆ¯®¥°‰¨°Þ œ°Ò²¹ ª»˜»¯ŸµÔÈ°¥°¾²Òµ˜Äµœ¤¯—̧ ? 

(‡µ˜Ã°§²¹ 3 ª»˜»¯ŸÄà †©²˜²‰)  (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 
8. ˆ¯®¥° ˆÒ°œ ̧ 10 ¥³ã œ°¥¾°Þ 2000 ˆ¯®¥°‰¨°¶Ó§²á ¥Ê¯£µÌ¤²¹ 

¿ªŸ¯œµÌ¤²¹ ‰¯à £—° œ§‰̧¯Ì˜°œ¯Þ ¿˜²Þ †Ò ˆ¯®¥°¤²“£¤²µ“ 

ˆ¯®¥°‰à ‰Øœ° ‰»¯ÏŸÞ µü¤¸˜².  
 ƒ· ƒ“ã¯“ ̧¶¥ŠµÔ“²Ì²Ò˜°œ¯ª«»£¯¤ ¶×Ü—Þ †Ï½“° †©²˜²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 

9. ‰Øœ° œ°¤££œ²Ÿ¥°Å ̧ ˆ¥² ‰Øœ°¤²µ“ ¡¯§ÏŸ ̧ ¬±Ý°Þ “‰¦Ê ̧ ¿ŸÝŸ̧”̧ 
†Ò ˜§µ¾È°Þ ‰¯—µÔ“²Ò ƒœÄà ‡µ˜¯µ¾µ¤Ò ̧½ãŸ¸˜¯ª°¾²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 
10. ˜Ò°È²á ª°ª¥Ä¨°Þ œ°Ò²¹ ˆ¥² ¶‰¯£É µµŸŸ¸ ƒÏ‰¹ ¶èÝµ̧£ú  ¸ 

˜Û¯¦¯¾²‰. 

 2015-16 

` 

2016-17 

` 

Net Sales 30,00,000 50,00,000 

Cost of Goods Sold 20,00,000 25,00,000 

Operating Expenses 1,50,000 2,50,000 

Non-operating Expenses 25,000 30,000 

Depreciation 45,000 75,000 (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 

11. ª± Ý³ §°£°Ý• ̧†Ò ‰Øœ° 4000 ˆ¯®¥°‰à 100 ¥³ã œ°¥¾°Þ ˜¯µ© ã¦¤²¹ 

½ã‰¯¥¹ ƒ¬»³ µü¤¸˜² : 

 40 ¥³ã ¿¶ãÀ¶¤¯µ“¯Ô¹, 30 ¥³ã ¿¶§¯Èµ̧£ú°œ,̧ ¡¯¾° ‚š»µÌ¤²¹ 

¿ªŸ¯œµÌ¤²¹ ‰¯¨²‰¨¯¤°È.̧ 

 ƒ· ˆ¯®¥° ƒ“ã¯“²‰à ¶¥ŠµÔ“²Ì²Ò˜°œ¯ª«»£¯¤ ¶×Ü—Þ †Ï½“°‰à 

†©²˜²‰.     (Ÿ¶̧‰¯ÜŸ̧ : 5) 

 
12. ¶¦¶¬»¯ ¿œ¯§°Ÿ°Ÿ̧ †Ð¯µ—Ò²¹ ¿˜°µú „¶Í«Äà †µÐ¯µ¾¤¯µ—Ò²¹ 

ª°«š±‰¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 6) 
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13. (a) Prepare a Cash Flow Statement from the following details : (Use Indirect Method) 

                          Balance Sheet 

Liabilities 
31-03-16 

` 

31-03-17 

` 
Assets 

31-03-16 

` 

31-03-17 

` 

Share Capital 7,00,000 5,00,000 Fixed Assets –   

Reserves & 
Surplus (Balance 
in P/L account) 5,00,000 2,50,000 

 Tangible 

 Intangible 

7,00,000 

2,00,000 

5,00,000 

2,50,000 

8% Debentures 4,00,000 6,00,000 Current Assets –    

Trade payable 9,00,000 6,00,000  Inventories 6,00,000 5,00,000 

    Trade 
 Receivables 6,00,000 4,00,000 

    Cash 4,00,000 3,00,000 

 25,00,000 19,50,000  25,00,000 19,50,000 

  Additional Information : 

  Depreciation on fixed assets amounted to ` 80,000. (Scores : 8) 

                                                           OR 

 (b) Describe the procedure for preparation of Cash Flow Statement. (Scores : 8) 

_______________ 
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13. (a) ˜Ò°È²á ª°ª¥Ä¨°Þ œ°Ò²¹ ˆ¥² ‰»¯¬¸ ¶ýÿ̄  ¶èÝµ̧£ú  ̧ ˜Û¯¦¯¾²‰. 

(ƒÏ•¤¦ê¸ ¥±˜° „ã¶¤¯‹°¾²‰)  

                          Balance Sheet 

Liabilities 
31-03-16 

` 

31-03-17 

` 
Assets 

31-03-16 

` 

31-03-17 

` 

Share Capital 7,00,000 5,00,000 Fixed Assets –   

Reserves & 
Surplus (Balance 
in P/L account) 5,00,000 2,50,000 

 Tangible 

 Intangible 

7,00,000 

2,00,000 

5,00,000 

2,50,000 

8% Debentures 4,00,000 6,00,000 Current Assets –    

Trade payable 9,00,000 6,00,000  Inventories 6,00,000 5,00,000 

    Trade 
 Receivables 6,00,000 4,00,000 

    Cash 4,00,000 3,00,000 

 25,00,000 19,50,000  25,00,000 19,50,000 

  ¿›°‰ ª°ª¥Äà : 

  ý°‰Ÿ̧• ̧¿ŸÝŸ̧µ̧ú •°½ã±Ÿ°¶¤¬Ï 80,000 ¥³ã¤¯—.̧ (Ÿ¶̧‰¯ÜŸ̧ : 8) 
                                                           ¿µßÃ°Þ 

 (b) ˆ¥² ‰»¯¬̧  ¶ýÿ̄   ¶èÝ̧µ£ú ¸Ÿ̧  ˜Û¯¦¯¾²Ò˜°œ²á  œ“ã“°½‰£¹ ª°«š±-

‰¥°¾²‰.   

      (Ÿ¶̧‰¯ÜŸ̧ : 8) 

_______________ 
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PART – A 

           ACCOUNTING  (Maximum : 40 Scores) 
 

1. In order to form a partnership, there should be at least _______ persons. 
 (a) 1 (b) 2 (c) 7 (Score : 1) 
 
2. Under fixed capital method, items like share of profit or loss, drawings etc. are recorded 

in a separate account called partners _______ account. 
 (a) Current (b) Capital (c) Drawings (Score : 1) 
 
3. _______ account is prepared at the time of dissolution of a partnership. 
 (a) Profit and Loss appropriation  
 (b) Revaluation 
 (c) Realisation   (Score : 1) 
 
4. The document which contains the terms and conditions of the agreement among the 

partners is called _______. 
 (a) Partnership Act (b) Partnership Deed (c) Partnership (Score : 1) 
 
5. Under _______ method the goodwill of the firm is valued at agreed number of years 

purchase of the average profits of the past few years. 
 (a) Average profits  
 (b) Super profits 
 (c) Capitalisation   (Score : 1) 
 
6. _______ account shows the profits to be distributed among the partners. 
 (a) Profit and Loss  
 (b) Profit and Loss Appropriation 
 (c) Current Account   (Score : 1) 
 
7. On retirement of partners the accumulated profits and losses are transferred to the 

capital accounts of partners _______. 
 (a) in their old profit sharing ratio  
 (b) in their new ratio 
 (c) equally   (Score : 1) 
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PART – A 

           ACCOUNTING    (Maximum : 40 Scores) 
 

1. ˆ¥² ãÃ¯¨°Ì ð¯ãœ¹ ¥³ã°‰¥°¾²Ò˜°œ ̧ ‰²¦Ç˜ ̧  _______ ‚¨²‰à 
„Ê¯¤°¥°¾—¹. 

 (a) 1 (b) 2 (c) 7 (Ÿ¶̧‰¯Ü : 1) 
 
2. ý°‰Ÿ̧• ̧ ‰»¯Ô°ÝÞ ¥±˜°¤°Þ §¯¢œûÄ¨²µ“ ãÃ̧, ½•¯¤°¹‹Ÿ̧ ̧ †Ò°ª 

ãÃ¯¨°‰¨²µ“  _______ ¿¾·Ê ̧†Ò ˆ¥² ½ã¶˜»‰ ¿¾·Ê°§¯—̧ ¶¥ŠµÔ“²-
Ì²Ò˜.̧ 

 (a) ‰¦Ê¸ (b) ‰»¯Ô°ÝÞ (c) ½•¯¤°¹‹¸Ÿ¸ (Ÿ¶̧‰¯Ü : 1) 
 
3. _______ ¿¾·Ê¸ ˆ¥² ãÃ¯¨°Ì ð¯ãœ¹ ã°¥°Å² ª°“²¶Ø¯©¯—̧ ˜Û¯¦¯¾²Ò˜̧. 
 (a) ¶½ã¯ý°Ý¸ ‚ú ¸ ¶§¯Ÿ¸ ¿¶½ã¯½ã°¶¤¬Ï  
 (b) ¦±ª¯§²¶ª¬Ï 
 (c) ¦°¤µµ§¶Ÿ¬Ï   (Ÿ¶̧‰¯Ü : 1) 
 
4. ãÃ¯¨°‰à ˜Ù°§²á ‰¥¯Ü Ÿ¹¡œ¸›£¯¤ ª»ªð‰à ¿“Ä²Ò ¶¥Š¤¯— ̧

______. 
 (a) ãÃ¯¨°Ì œ°¤£¹ (b) ãÃ¯¨°Ì ‰¥¯Ü (c) ãÃ¯¨°Ì¹ (Ÿ¶̧‰¯Ü : 1) 
 

5. _______ ¥±˜°¤œ²Ÿ¥°Å ̧ ˆ¥² ãÃ¯¨°Ì ð¯ãœÌ°µú ‹²•¸ª°Þ ‰—¾¯-
¾²Ò˜ ̧ ‰©°Ç ‰²µ¦ ªÜ¬Ä¨°µ§ «¥¯«¥° §¯¢µÌ ‰¥¯Ü ½ã‰¯¥£²á 
ªÜ¬Ä¨²µ“ †Ë¹ µ‰¯Ê¸ ‹²—°Å°È¯—.̧ 

 (a) «¥¯«¥° §¯¢¹  
 (b) „¤ÜÒ §¯¢¹ 
 (c) £³§›œ¯›°¬”̧°˜¹   (Ÿ¶̧‰¯Ü : 1) 
 

6. ãÃ¯¨°‰à¾ ̧ ª±˜°Å² œ§¶̧‰Ê˜¯¤ §¯¢¹ †½˜µ¤Ò¸ ‰¯—°¾²Ò 
¿¾·Ê¯—̧ _______. 

 (a) ¶½ã¯ý°Ý¸ ‚ú ¸ ¶§¯Ÿ¸ ¿¾·Ê¸  
 (b) ¶½ã¯ý°Ý¸ ‚ú ¸ ¶§¯Ÿ¸ ¿¶½ã¯½ã°¶¤¬Ï ¿¾·Ê¸  
 (c) ‰¦Ê¸ ¿¾·Ê¸   (Ÿ¶̧‰¯Ü : 1) 
 

7. ãÃ¯¨°‰à ª°¥£°¾²¶Ø¯à ª°¢×°¾¯Ì §¯¢ª²¹ œûª²¹ „µÊÃ°Þ ¿ª 
ãÃ¯¨°‰¨²µ“ £³§›œ ¿¾·Ê°¶§¾ ̧£¯Ý²Ò˜̧ _______. 

 (a) ã©¤ §¯¢ ª°¢×œ ¿œ²ã¯˜Ì°§¯— ̧  
 (b) ¿ª¥²µ“ ã²˜°¤ §¯¢ ª°¢×œ ¿œ²ã¯˜Ì°§¯—̧ 
 (c) ˜²ß»£¯¤°È¯— ̧   (Ÿ¶̧‰¯Ü : 1) 



5073 4 

8. Levin and Kevin are partners sharing profits in the ratio of 4:3:2. Kevin retired from the 
firm. Find out the new ratio. (Scores : 2) 

 
9. The profits for the 3 years of a firm are as follows : 
 2014  ` 1,00,000 
 2015  ` 1,20,000 
 2016  ` 1,40,000 
 Calculate the goodwill of the firm on the basis of 2 years purchase of the average 

profits for the 3 years. (Scores : 4) 
 
10. Mention any 4 contents of a Partnership Deed. (Scores : 4) 

 
11. P, Q and R are partners sharing profits in the ratio of 4 : 3 : 2. ‘Q’ retires from the firm 

and the goodwill of the firm is valued at ` 90,000. Pass Journal Entry for the adjustment 
of goodwill. (Scores : 4) 

 
12. A, B and C are partners sharing profits in the ratio of 5 : 4. They admit ‘C’ for 1/3rd 

share in future profit. Find out new profit sharing ratio. (Scores : 3) 
 
13. Asha and Nisha are partners who share profit in the ratio of 2 : 1. The firm was 

dissolved on 31-03-2016. Their Balance Sheet as on the date of dissolution is given 
below : 

   Balance Sheet as on 31-03-2016  
Liabilities ` Assets ` 

Capital :  Cash 30,000 
 Asha  80,000 Stock 14,000 
 Nisha 40,000 Debtors 10,000 
General Reserve 9,000 Furniture 40,000 
Creditors 9,000 Building 44,000 
 1,38,000  1,38,000 

 Assets realized as follows : 
 Stock ` 20,000, Debtors ` 9,000 
 Furniture ` 38,000, Building ` 50,000 
 Creditors were paid ` 8,000 
 Prepare Realisation Account. (Scores : 4) 
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8. 4:3:2 †Ò ¿œ²ã¯˜Ì°Þ §¯¢¹ ª±˜¹ ª¤¾̧²Ò ãÃ¯¨°‰¨¯—̧ µ§ª°œ²¹ 
µ‰ª°œ²¹. µ‰ª°Ï ð¯ãœÌ°Þ œ°Ò²¹ ª°¥£°Å². ã²˜°¤ ¿œ²ã¯˜¹                
‰—¾¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 
9. ˆ¥² ãÃ¯¨°Ì ð¯ãœÌ°µú 3 ªÜ¬µÌ §¯¢¹ ˜¯µ© µ‰¯“²Ì°¥°¾²Ò² : 
 2014  ` 1,00,000 
 2015  ` 1,20,000 
 2016  ` 1,40,000 
 2 ªÜ¬µÌ ãÜ¶ÅŸ°µú ¿“°ð¯œÌ°Þ 3 ªÜ¬µÌ «¥¯«¥° §¯¢Ì°¶ÓÞ 

‹²•¸ª°Þ ‰—¾¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 
10. ˆ¥² ãÃ¯¨°Ì ½ã£¯—Ì°µú „á“¾Ì°Þ ‡µ˜Ã°§²¹ 4 †Ë¹ †©²˜²‰. 

    (Ÿ¶̧‰¯ÜŸ̧ : 4) 
 
11. P, Q, R †Ò°ªÜ 4 : 3 : 2 †Ò ¿œ²ã¯˜Ì°Þ §¯¢¹ ãÃ°“²Ò ãÃ¯¨°‰¨¯—̧. ‘Q’ 

ª°¥£°¾²‰¤²¹ ª°¥£°¾Þ Ÿ£¤Ì ̧ð¯ãœÌ°µú ‹²•ª̧°Þ 90,000 ¥³ã¤¯¤° 
‰—¾¯¾²‰¤²¹ µü¤¸˜². ‹²•ª̧°Þ ¿•×̧ȩ̀ µüÛ²Ò˜°œ¯ª«»£¯¤ ¶×Ü—Þ 
†Ï½“° ¶¥ŠµÔ“²Ì²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 
12. 5 : 4 †Ò ¿œ²ã¯˜Ì°Þ §¯¢¹ ãÃ²ª¤¸¾²Ò ãÃ¯¨°‰¨¯—̧ A-¤²¹ B-¤²¹. 

¿ªÜ ‘C’ µ¤ 1/3 µ¬¤¦°œ ̧¿•£̧°Ý² µüÛ²Ò². ã²˜°¤ §¯¢ ª°®°˜ ¿œ²ã¯˜¹ 
‰Ê²ã°“°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 
13. ‚«¤²¹ œ°¬¤²¹ 2 : 1 ¿œ²ã¯˜Ì°Þ §¯¢¹ ãÃ² ª¤¾̧²Ò ãÃ¯¨°‰¨¯—.̧        

31-03-2016 Þ ¿ª¥²µ“ ð¯ãœ¹ ã°¥°Å² ª°È². ã°¥°Å²ª°È š°ªŸµÌ ¿ª¥²µ“ 
¡¯¾°ã½˜¹ ˜¯µ© µ‰¯“²Ì°¥°¾²Ò² : 

   Balance Sheet as on 31-03-2016  
Liabilities ` Assets ` 

Capital :  Cash 30,000 
 Asha  80,000 Stock 14,000 
 Nisha 40,000 Debtors 10,000 
General Reserve 9,000 Furniture 40,000 
Creditors 9,000 Building 44,000 
 1,38,000  1,38,000 

 Assets realized as follows : 
 Stock ` 20,000, Debtors ` 9,000 
 Furniture ` 38,000, Building ` 50,000 
 Creditors were paid ` 8,000 
 Realisation Account ˜Û¯¦¯¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
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14. From the following information calculate the amount of subscription to be credited to 
Income and Expenditure account for the year ended 31-03-2016 : 

 (1) Subscription received during the year   ` 60,000 
 (2) Subscription outstanding on 31-3-2016   `   6,000 
 (3) Subscription outstanding on 01-04-2015   `   5,000 

 (4) Subscription received in advance on 31-3-2016  `   4,000 (Scores : 4) 

 

15. (A) Explain the treatment of the following items in the preparation of Income and 
Expenditure Account from a given Receipts and Payments Account. 

  (a) Entrance fee 

  (b) Life membership fee 

  (c) Donation 

  (d) Legacy 

OR 

 (B) From the following Receipts and Payments Account of Kairali Club, prepare 
Income and Expenditure Account for the year ended 31-03-2016. 

    Receipts and Payments Account   

Receipts ` Payments ` 

Cash Balance 15,000 Building 40,000 

Subscription 40,000 Investments 30,000 

Entrance fees 4,000 Salaries 10,000 

Donation 60,000 Rent 2,000 

Interest on Investments 11,000 Printing 1,200 

Legacy 10,000 General Expenses 800 

  Insurance 2,000 

  Books 14,000 

  Cash in hand 40,000 

 1,40,000  1,40,000 

  Note :  ½ of the Donation and Entrance fee to be capitalized. (Scores : 8) 
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14. ˜¯µ© µ‰¯“²Ì°È²á ª°ª¥Ä¨°Þ œ°Ò²¹ 31-03-2016 µ§ ƒÏ‰¹ ‚Ï• ̧

†‰Ÿ̧µ̧ãÏ•°ÅÜ ¿¾·Ê°Þ ¶¥ŠµÔ“²¶ÌÊ Ÿ¡Ÿ̧½̧‰°ã̧¬Ï †½˜µ¤Ò ̧

‰—¾¯¾²‰ : 

 (1) Subscription received during the year   ` 60,000 
 (2) Subscription outstanding on 31-3-2016   `   6,000 
 (3) Subscription outstanding on 01-04-2015   `   5,000 
 (4) Subscription received in advance on 31-3-2016  `   4,000 (Ÿ¶̧‰¯ÜŸ̧ : 4) 

 
15. (A) ˜Ò°È²á ˆ¥² ¦Ÿ±ã¸ÝŸ̧¸ ‚Ï• ̧ ¶ã¤µ̧£ú Ÿ̧¸ ¿¾·Ê°Þ œ°Ò²¹ ˆ¥² 

ƒÏ‰¹ ‚Ï•¸ †‰¸Ÿµ̧ãÏ•°ÅÜ ¿¾·Ê ̧ ˜Û¯¦¯¾²¶Ø¯à, ˜¯µ© 

µ‰¯“²Ì°È²á µ†Ý¹Ÿ ̧†Äµœ ‰—¾¯¾²µ£Ò¸ ª°«š±‰¥°¾²‰. 

  (a) Entrance fee 
  (b) Life membership fee 
  (c) Donation 
  (d) Legacy 

¿µßÃ°Þ 

 (B) ˜¯µ© µ‰¯“²Ì°È²á µµ‰¥¨° ‰ÿÖ°µú ¦Ÿ±ãÝ̧¸Ÿ ̧ ‚Ï• ̧ ¶ã¤µ̧£ú Ÿ̧¸ 

¿¾·Ê°Þ œ°Ò²¹ 31-03-2016 Þ ¿ªŸ¯œ°¾²Ò ªÜ¬µÌ ƒÏ‰¹ 

‚Ï•¸ †‰Ÿ̧µ̧ãÏ•°ÅÜ ¿¾·Ê¸ ˜Û¯¦¯¾²‰. 

    Receipts and Payments Account   

Receipts ` Payments ` 

Cash Balance 15,000 Building 40,000 

Subscription 40,000 Investments 30,000 

Entrance fees 4,000 Salaries 10,000 

Donation 60,000 Rent 2,000 

Interest on Investments 11,000 Printing 1,200 

Legacy 10,000 General Expenses 800 

  Insurance 2,000 

  Books 14,000 

  Cash in hand 40,000 

 1,40,000  1,40,000 

  ‰²¦°Ô²‰à : µ•¯¶—¬Ï, †Ï½“ÏŸ ̧ý° †Ò°ª¤²µ“ ½ ‰»¯Ô°Ýµµ§Ÿ ̧

µüÛ—¹. (Ÿ¶̧‰¯ÜŸ̧ : 8) 
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PART-B 

   COMPUTERISED ACCOUNTING (Maximum : 20 Scores )   

        

1. In _______ code, numbers, letters etc., are assigned in consecutive order. 

 (a) Sequential 

 (b) Block 

 (c) Mnemonic   (Score : 1) 

 

2. The function used to indicate the total number of payments for a loan is _______. 

 (a) Rate 

 (b) Type 

 (c) Nper   (Score : 1) 

 

3. _______ provides additional security through data encryption. 

 (a) Data Audit 

 (b) Data Vault 

 (c) Password Security   (Score : 1) 

 

4. Among the following which is an absolute cell reference ? 

 (a) $ C $ 4  

 (b) C 4 

 (c) C $ 4   (Score : 1) 

 

5. Expand DBMS.   (Score : 1) 

 

6. What is the difference between written down value method and straight line method of 
depreciation ?       (Scores : 2) 



5073  9 P.T.O. 

PART-B 

   COMPUTERISED ACCOUNTING (Maximum : 20 Scores )   

        

1. _______ ¶‰¯•°Þ ˆÒ°œ ̧ã°¦µ‰ ˆÒ ̧ª¥²Ò ½‰£Ì°Þ ¿¾Äà, ¿À¥Äà 

£²˜§¯¤ª œ§‰̧²Ò². 

 (a) Ÿ°‰µ̧ªÏµ¬Þ 

 (b) ¶¡ÿ̄ ¾¸ 

 (c) œ°¶£¯—°‰¸   (Ÿ¶̧‰¯Ü : 1) 

 

2. ˆ¥² ª¯¤¸ã¤²µ“ ‚µ‰¤²á ˜ª—‰à †½˜µ¤Ë£¯µ—Ò ̧ Ÿ³ü°Ô°¾²Ò-

˜°œ²á function ‡˜¯—̧ ? 

 (a) Rate 

 (b) Type 

 (c) Nper   (Ÿ¶̧‰¯Ü : 1) 

 

3. ¶•Ý¯ †Ï½‰°ã¬̧Ï £²¶Šœ _______ ¿›°‰ Ÿ²¥À°˜˜¼¹ œ§‰̧²Ò². 

 (a) ¶•Ý¯ ‚•°Ý¸ 

 (b) ¶•Ý¯ ¶ª¯àÈ ̧ 

 (c) ã¯æ¸¶ªÜ•¸ µŸ‰»³¥°Ý°   (Ÿ¶̧‰¯Ü : 1) 

 

4. ˜¯µ© µ‰¯“²Ì°¥°¾²Òª¤°Þ ¿¡µ̧Ÿ§»³È¸ µŸÞ µ¦ý¦ÏŸ ̧‡˜¯—̧  ? 

 (a) $ C $ 4  

 (b) C 4 

 (c) C $ 4   (Ÿ¶̧‰¯Ü : 1) 

 

5. DBMS µú ã³ÜË¥³ã¹ †©²˜²‰.   (Ÿ¶̧‰¯Ü : 1) 

 

6. •°½ã°Ÿ°¶¤¬Ï ‰—¾¯¾²Ò˜°œ²á ¦°ÈÉ •·É ª¯§»³ ¥±˜°¤²¹ Ÿµ̧½“¤Ý̧¸ 

µµ§Ï ¥±˜°¤²¹ ˜Ù°§²á ª»˜»¯Ÿ¹ †Ð¯—̧  ?   (Ÿ¶̧‰¯ÜŸ̧ : 2) 
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7. What is Spreadsheet ?   (Scores : 2) 

 

8. Describe the steps to change the layout of the chart element. (Scores : 3) 

 

9. What are the “data types” of the fields in the following MS Access table : 

Sl. No. Field Name Data Type 

1 Month ID ? 

2 Sal Month ? 

3 Rate of DA ? (Scores : 3) 

 

10. (A) From the following transactions, prepare a table showing the Ledger Accounts 
involved Account Group and Voucher Type : 

(1) Commenced business with    ` 2,50,000 

(2) Paid into bank  `  50,000 

(3) Purchased goods from Nithin  `  1,00,000 

(4) Goods returned to Nithin  `  5,000 

(5) Paid to Nithin  `  70,000 

OR 

 (B) What are the steps to construct BRS in Tally ? (Scores : 5) 

_____________ 
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7. Ÿµ̧½ã•¬̧±Ý¸ †Ò¯Þ †Ð¯— ̧?   (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

8. ü¯ÜȨ̀ †§°µ£ú°µú ¶§ˆ·Ȩ̀ £¯Ý²Ò˜°œ²á œ“ã“° ½‰£Äà †µÐ¯µ¾¤¯µ—Ò̧ 

ª°«š£¯¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

9. ˜¯µ© µ‰¯“²Ì°È²á  MS Access ¶“¡°¨°Þ ý±Þ•²‰¨²µ“ “data types” 
‡µ˜¯µ¾¤¯— ̧? 

Sl. No. Field Name Data Type 

1 Month ID ? 

2 Sal Month ? 

3 Rate of DA ? (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

10. (A) ˜¯µ© µ‰¯“²Ì°È²á ƒ“ã¯“²‰¨°Þ œ°Ò²¹, ¿ª¤°Þ „àµÔÈ°¥°¾²Ò 

µ§•×̧Ü ¿¾·Ê,̧ ¿¾·Ê ̧½‹³Ô̧, ª·ÅÜ µµ“Ô ̧†Ò°ª ¿“Ä²Ò ˆ¥² 

ãÈ°‰ ˜Û¯¦¯¾²‰ : 

(1) Commenced business with    ` 2,50,000 

(2) Paid into bank  `  50,000 

(3) Purchased goods from Nithin  `  1,00,000 

(4) Goods returned to Nithin  `  5,000 

(5) Paid to Nithin  `  70,000 
¿µßÃ°Þ 

 (B) Tally-¤°Þ BRS ˜Û¯¦¯¾²Ò˜°œ²á œ“ã“° ½‰£Äà †µÐ¯µ¾¤¯—̧ ? 
     (Ÿ¶̧‰¯ÜŸ̧ : 5) 

_____________ 
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1. What will be the output of the following C++ statements ? 

 int a=5,b=5;cout<<(a>b?a:b); 
 (a) 5 
 (b) 0  
 (c) none of the above  (Score : 1) 
 
2. Explain switch statement in C++ with example.  (Scores : 3) 
 
3. Explain arithmetic assignment operations in C++.  (Scores : 2) 
 
4. int a[10]; How many bytes will be allocated in memory for the array a in C++ ?  (Score : 1) 
 (a) 10  
 (b) 20 
 (c) 40 
 (d) 80 
 
 Answer any one question from 5(a) or 5(b). 
5. (a) Write a program in C++ to count the no. even and odd numbers stored in an array. 
      (Scores : 5) 

OR 
 (b) Write a program in C++ to find the position of the smallest element in an array. 
     (Scores : 5) 
 
6. Explain any three string function in C++.   (Scores : 3) 
 
7. char ch=’A’;int n=isupper(ch); What will be the value of n after executing the above 

C++ statements ?  (Score : 1) 
 
8. Write a program in C++ to find the factorial of a given no. using a function.  (Scores : 3) 
 Answer any one question from 9(a) or 9(b) 
 
9. (a) Write short note on CSS. (Scores : 2) 
    OR 
 (b) Write short note on Webserver. (Scores : 2) 
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1. ˜¯µ© ã¦¤²Ò C++ statement-‰¨²µ“ output †Ð¯¤°¥°¾²¹ ? 

 int a=5,b=5;cout<<(a>b?a:b); 
 (a) 5 
 (b) 0  
 (c) ƒªµ¤¯Ò²£ß (Ÿ¶̧‰¯Ü : 1) 
 
2. C++ µ§  switch statement ª°«š±‰¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
3. C++ µ§ arithmetic assignment operations ª°«š±‰¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
4. int a[10]; ˜¯µ© ã¦¤²Ò C++ µ§ integer array memory-Þ †½˜ byte allocate 

µüÛ²¹ ?     
 (a) 10   (b) 20 
 (c) 40   (d) 80 (Ÿ¶̧‰¯Ü : 1) 
 
 5(a), 5(b) †Ò°ª¤°Þ ‡µ˜Ã°§²¹ ˆÒ°œ²£¯½˜¹ „Ì¥¹ †©²˜²‰. 
5. (a) ˆ¥² array-µ§ ˆÝ Ÿ¹Š»‰¨²µ“¤²¹, ƒ¥È Ÿ¹Š»‰¨²µ“¤²¹ †Ë¹ 

‰Ê²ã°“°¾²Ò˜°œ²á C++ program †©²˜²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 5) 
¿µßÃ°Þ 

 (b) ˆ¥² array-µ§ smallest element ‰Ê²ã°“°¾²Ò˜°œ²á C++ program 
†©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 5) 

 
6. C++ µ§ ‡µ˜Ã°§²¹ £³Ò ̧string functions ª°«š±‰¥°¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
7. char ch=’A’;int n=isupper(ch); ã¦Ç°¥°¾²Ò C++ statements execute µü¤¸˜² 

‰©°Ç¯Þ n-µú value †Ð¯¤°¥°¾²¹ ?  (Ÿ¶̧‰¯Ü : 1) 
 
8. ˆ¥² function „ã¶¤¯‹°Å ̧ ˆ¥² œØ¦°µú factorial ‰Ê²ã°“°¾²Ò˜°œ²á C++ 

program †©²˜²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 
  
 9(a), 9(b) †Ò°ª¤°Þ ‡µ˜Ã°§²¹ ˆÒ°œ²£¯½˜¹ „Ì¥¹ †©²˜²‰. 
 
9. (a) CSS-µœ ‰²¦°Å¸ µü¦² ª°ª¥—¹ †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 
    ¿µßÃ°Þ 
 (b) Webserver-µœ ‰²¦°Å¸ µü¦² ª°ª¥—¹ †©²˜²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 



5074 4  

10. The port number of HTTP protocol is________ 

 (a) 80 
 (b) 20 
 (c) 110 
 (d)  43   (Score : 1) 
 
11. Differentiate server side and client side scripting.  (Scores : 2) 
 
12. Write an HTML to create two dropdown list “State” containing 5 different States in 

South India and other containing their capitals.  (Scores : 3) 
 
13. Differentiate ordered and unordered list.  (Scores : 2) 
 
14. Write a JavaScript function to validate a name entered in a text box. Conditions are  
 (a) Length of name should be less than or equal to 10 
 (b) 1st character should be upper case letter  (Scores : 3) 
 
15. The output of the function isNaN(“welcome”) in JavaScript is ________  (Score : 1) 
 
16. VPS stands for___________________________________.  (Score : 1) 
 
17. Explain content management system.  (Scores : 3) 
 
18. The no. of attributes in a relation is called the ________of relation. 
 (a) schema 
 (b) cardinality 
 (c) degree 
 (d)  tuple   (Score : 1) 
 
19. An employee table contains name, employee no. and salary of employees in a 

company. The expression in relational algebra to list employee name and salary of 
employees having salary below 50000 is  

 (a) σ(salary<50000)(employee) 

 (b) πname,salary (σ(salary<50000)(employee)) 

 (c) π(salary<50000) (σ(name,salary)(employee)) 

 (d)  σ(name,salary)(salary<50000)(employee)  (Score : 1) 
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10. HTTP protocol-µú port number  ________ ‚—̧. 
 (a) 80   (b) 20 
 (c) 110   (d) 43 (Ÿ¶̧‰¯Ü : 1) 
 
11. Server side, client side scripting †Ò°ª¤²µ“ ª»˜»¯Ÿ¹ ª°«š±‰¥°¾²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
12. South India-µ§ 5 State-„¹ ¿ª¤²µ“ Capital-„¹ select µüÛ¯œ²á ¥Ê ̧dropdown 

list ˆ¥² web page-Þ display µüÛ²Ò˜°œ²á HTML code †©²˜²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
13. Ordered, unordered list †Ò°ª¤²µ“ ª»˜»¯ŸÄà ª°«š±‰¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
14. ˆ¥² text box-Þ enter µüÛ²Ò ˆ¥² name validate µüÛ¯œ²á JavaScript †©²˜²‰. 

œ°¡œ›̧œ‰à ˜¯µ©Ô¦¤²Òª¤¯—̧ :  
 (a) Name-µú length 10-characters-ˆ¯ ¿˜°Þ ‰²¦¶ª¯ ‚¤°¥°¾—¹.  
 (b) ‚š»µÌ letter upper case ‚¤°¥°¾—¹. (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
15. JavaScript-µ§ isNaN(“welcome”) †Ò statement-µú output ________ ‚—̧. 

      (Ÿ¶̧‰¯Ü : 1) 
 
16. VPS-µú ã³ÜË¥³ã¹ †©²˜²‰.  (Ÿ¶̧‰¯Ü : 1) 
 
17. Content management system †µÐÒ¸ ª°«š±‰¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
18. ˆ¥² relation-µ§ attribute-‰¨²µ“ †ËµÌ ________ †Ò² ã¦¤²¹. 
 (a) schema  (b) cardinality 
 (c) degree  (d)  tuple (Ÿ¶̧‰¯Ü : 1) 
 
19. ˆ¥² employee table-Þ ˆ¥² company-µ§ ×±ªœ¾¯¥²µ“ name, employee no, salary 

†Ò°ª store µü¤¸˜°¥°¾²Ò². 50000-Þ ‰²¦ª ̧ salary ª¯Ä²Ò ×±ªœ¾¯¥²µ“ 
name, salary †Ò°ª list µüÛ¯œ²á relational algebra expression †©²˜²‰.  

 (a) σ(salary<50000)(employee) 

 (b) πname,salary (σ(salary<50000)(employee)) 

 (c) π(salary<50000) (σ(name,salary)(employee)) 

 (d)  σ(name,salary)(salary<50000)(employee)  (Ÿ¶̧‰¯Ü : 1) 
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20. Explain the advantages of DBMS over conventional file system.   (Scores : 5) 
 
21. Suggest suitable data types for the attributes item code, item name, date of expiry and 

price for creating a table inventory in MYSQL.  (Scores : 2) 
 
22. Pick the odd one out : 
 (a) MYSQL 
 (b) ORACLE 
 (c) SQL SERVER 
 (d)  JAVA  (Score : 1) 
 
 Answer  any one question from 23(A) or 23(B). 
23. (A) Write SQL for the following : 
  (a) Create a student table contains rollno, name, age and date of birth.  
  (b) List name, rollno and age of students having age <20. 
  (c) List students born after “01-01-2000”.  (Scores : 3) 
            OR 
  (B) Differentiate DML, DDL and DCL in SQL.  (Scores : 3) 
 
24. Explain the benefits of implementing ERP packages.  (Scores : 3) 
 
25. GPS stands for________________________. (Score : 1) 
 
26. Pick the odd one out : 
 (a) KITKAT 
 (b) LOLLIPOP 
 (c) MASHMELLOW 
 (d) WINDOWS (Score : 1) 
 
27. Explain any two Cyber Crimes against property.  (Scores : 3) 
 
28. Differentiate GPRS and EDGE.  (Scores : 2) 

_____________  
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20. ˆ¥² conventional file system-Þ œ°Ò ̧  DBMS-œ²á Ÿª°¶«¬˜‰à ª°«š±-
‰¥°¾²‰.    (Ÿ¶̧‰¯ÜŸ̧ : 5) 

 
21. Inventory table create µüÛ¯Ï ˜¯µ©Ô¦¤²Ò data item-œ¸ ¿œ²¶¤¯×»£¯¤ 

MYSQL data types œ°Ü¶Í«°¾²‰. 

 Item code, item name, date of expiry, price  (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
22. ˆÝ ˜°¥°Ç˜̧ †©²˜²‰ : 
 (a) MYSQL 
 (b) ORACLE 
 (c) SQL SERVER 
 (d)  JAVA  (Ÿ¶̧‰¯Ü : 1) 
 
 23(A), 23(B) †Ò°ª¤°Þ ‡µ˜Ã°§²¹ ˆ¥² ¶ü¯š»Ì°œ²£¯½˜¹ „Ì¥¹ †©²˜²‰. 
 
23. (A) ˜¯µ©Ô¦¤²Òª¤¾̧²á SQL †©²˜²‰.  
  (a) rollno, name, age, date of birth †Ò± data „á student table create µüÛ²‰.  
  (b) 20 ª¤æ°Þ ˜¯µ©¤²á ª°š»¯Ü˜™̧°‰¨²µ“ name, rollno, age †Ò°ª list 

µüÛ²‰. 
  (c) “01-01-2000” œ²¶«¬¹ ×œ°Å ª°š»¯Ü˜̧™°‰µ¨ list µüÛ²‰.   
     (Ÿ¶̧‰¯ÜŸ̧ : 3) 

¿µßÃ°Þ 
  (B) SQL-µ§ DML, DDL, DCL †Ò°ª¤²µ“ ª»˜»¯ŸÄà ª°«š±‰¥°¾²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
24. ERP package implement µü¤¸˜¯§²á benefits ª°«š£¯¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
25. GPS-µú ã³ÜË¥³ã¹ †©²˜²‰. (Ÿ¶̧‰¯Ü : 1) 
 
26. ˆÝ ˜°¥°Ç˜̧ †©²˜²‰ : 
 (a) KITKAT 
 (b) LOLLIPOP 
 (c) MASHMELLOW 
 (d) WINDOWS (Ÿ¶̧‰¯Ü : 1) 
 
27. Property-¾¸ †˜°¥¯¤²á ¥Ê¸ Cyber Crimes ª°«š±‰¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
28. GPRS, EDGE †Ò°ª¤²µ“ ª»˜»¯ŸÄà ª°«š±‰¥°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧ : 2) 

_____________ 
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